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[4001]-301

T.Y. B.A. EXAMINATION, 2011

ENGLISH (Compulsory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

       Text Book : Reflections III

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each

(any two) : [16]

(i) Write a character sketch of Schatz with reference to ‘A Day’s

Wait’.

(ii) Discuss the central theme of the poem ‘The Justice of Peace’.

(iii) Discuss how the story ‘The Happy Prince’ is not just a fairy

tale but an explicit social commentary.

2. Answer the following questions in about 80 words each

(any two) : [16]

(i) Comment on the relationship between the wife and the husband

in the story ‘The Unicorn in the Garden’.
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(ii) What are the steps to resolve conflicts ?

(iii) How does the poem ‘Meeting At Night’ describe the speaker’s

journey to meet his beloved ?

3. Attempt the following in about 100 words each (any two) : [16]

(i) Write a letter to your friend inviting him/her to spend the

summer vacations at your place.

(ii) Write a paragraph on ‘Do Reality Shows really help to the

uprising talents’ ?

(iii) Write an essay on any one of the following :

(a) The role of Mass Media;

(b) The Menace of Corruption.

4. Attempt the following (any eight) : [16]

(i) Fill in the blanks in the following sentences using ‘ache’, ‘pain’

or ‘hurt’ in their appropriate forms :

(a) Seema banged against the door and.........................her

arm.

(b) Sohan gets a.............................in his leg when he

runs.
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(ii) Form two words each using the following prefixes (any two) :

(a) un..........

(b) ill...........

(c) dis.........

(d) bio...........

(iii) Make adjectives (any two) :

(a) Sympathy

(b) Theory

(c) Practice.

(iv) Find out the odd words in the following (any two) :

(a) diary, notebook, pen, knife

(b) sickle, rope, plough, sword

(c) lotus, rose, jasmine, apple.

(v) Rewrite the following sentences using appropriate words given

in the brackets :

(a) I must................my English. (improve, improvise)

(b) This book deals with social, political and..................issues

of the period. (economic, economical)
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(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(put off, put on, put out)

(a) We had to.....................our wedding until September.

(b) Tom had just...................an ointment on his wound.

(vii) Complete the following sentences choosing appropriate

alternatives :

(a) Ornithology is a study of..................... . (birds, plants)

(b) I noted down the phone number on...................of paper.

(slip, sleep)

(viii) State whether the following are the instances of British English

or American English :

(a) elevator

(b) lift.

(ix) Match the idioms in the Column A with their meanings in

the Column B :

A B

(a) at first hand (i) close

(b) at hand (ii) do not worry

(c) rest assured (iii) to conclude

(d) at the end of the day (iv) by experiencing
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(x) Replace the phrase/word underlined with an appropriate one

given in the brackets :

(a) This T. shirt is nice but it is very loose.

(baggy, skimpy)

(b) Many years ago bell-bottoms were very fashionable.

(in the height of fashion, in demand)

5. Attempt the following (any eight) : [16]

(i) Use the verbs in the brackets in correct tense form :

(a) I (live) in that house since 2008.

(b) My father (visit) the South Africa last year.

(ii) Complete the following sentences with ‘will’ or ‘going to’ as

appropriate :

(a) Why are you turning off the television ?

I....................watch the news.

(b) Jack........................probably arrive at about 8 O'clock.

(iii) Use the following adverbs of ‘frequency’ in your own sentences :

(a) always

(b) once a day.



[4001]-301 6

(iv) Change the following into the passive voice :

(a) The police arrested many criminals yesterday.

(b) They have decided to start a new sugar factory in their

town.

(v) Write down the following sentences of inversion in the sentences

of the normal order :

(a) A chimney sweeper’s boy I am.

(b) Gone are all those good days.

(vi) Fill in the blanks ‘a/an’ or ‘the’.

I took some gifts for..............children who live in..............refugee

camp.

(vii) Change the following sentences into impersonal formal public

notices :

(a) You are not allowed to spit here.

(b) You are not allowed to park your car near the signal

post.

(viii) Identify the functions in the following sentences :

(a) Do you mind if I open the window ?

(b) Isn’t that a beautiful flower ?
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(ix) Use the verbs in the brackets in the correct tense form :

(a) Tom (not know) that we (get) all the books on this subject

issued from the library.

(b) Mr. John (tell) his wife to go into the house and he

(drive) away.

(x) Transform the following information into noun phrases using

appropriate premodification :

(a) This is about the parade on the Republic Day. It was

spectacular, in fact, extremely spectacular.

(b) This is a family magazine. It is famous in our country.

There is no other magazine as famous as this one.
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T.Y. B.A. EXAMINATION, 2011

MARATHI (ejkBh) (Gen. III)

(vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

vH;klÿe :— (1) xzaFk ijh{k.k

(2) izkFkZusph ?kaVk («f«r «s[klaxzg)µvðkksd dksrok«

(3) fpuh ekrhrh« fnol (izokl o.kZu)µ«{e.k xk;dokM

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj f«gk % [16]

(v) xzaFk ijh{kdkP;k vaxh vl.kkjs vkoð;d xq.k f«gk-

fdaok

xzaFk ijh{k.kkps iz;kstu f«gk-

(c) rqEgh okp«sY;k dks.kR;kgh ,dk xzaFkkps ijh{k.k djk-

2. iq<h«iSdh izR;sd foHkkxkrh« rhu izðukaph mŸkjs ohl ðkCnkar f«gk % [12]

(v) (1) «f«rx|k«k xqtxks"Vh vls dks.kh lacks/k«s \

(2) «f«rx|kP;k izsj.kk f«gk-
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(3) «f«rx| Eg.kts dk; \

(4) «f«rx|ke/;s dks.kdks.kR;k ok≥~e;izdkjkapk lekosðk gksrks \

(5) «f«r «s[kukP;k e;kZnk f«gk-

(vk) (1) izoklo.kZu Eg.kts dk; \

(2) izoklo.kZukps gsrw f«gk-

(3) izoklo.kZu «s[kukrh« vMp.kh f«gk-

(4) izoklo.kZukph dks.krhgh nksu oSfðk"VÓs f«gk-

(5) ejkBhrh« dks.kR;kgh nksu izoklo.kZukaph ukos f«gk-

3. iq<h«iSdh izR;sd foHkkxkrh« dks.kR;kgh ,dk izðukps mŸkj iUukl ðkCnkar f«gk % [12]

(v) «f«rx| «s[kukrh« ^eh*ph Hkwfedk f«gk-

fdaok

ejkBh «f«rx|kapk FkksMD;kr ijkeðkZ ?;k-

(c) izoklo.kZu ;k ok≥~e; izdkjkph O;kIrh f«gk-

fdaok

izoklo.kZu «s[kukrh« vkoð;d uksanh f«gk-

4. iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkar f«gk % [20]

(v) ^frUghlkatk* ;k «s[kkrh« ^rqdMkcks;*ps O;fDrfp= js[kkVk-

fdaok

^izkFkZusph ?kaVk* ;k ðkh"kZdkph lkFkZdrk Li"V djk-
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(c) fpuP;k izxrhe/;s L=h;kaps ;ksxnku f«gk-

fdaok

fpue/kh« ðksrdjh thou foðkn djk-

5. iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkar f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k «f«r«s[k laxzgkrh« «s[kkae/kwu Mksdko.kkjk «s[kd-

fdaok

^izkFkZusph ?kaVk* e/kh« «s[kkaph oSfðk"VÓs f«gk-

(c) ^fpuhekrhrh« fnol* ;k izoklo.kZukps osxˇsi.k Li"V djk-

fdaok

^fpuhekrhrh« fnol* ;k izoklo.kZukrh« fofo/k O;fDrjs[kkapk ijkeðkZ ?;k-
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[4001]-302

(O;kogkfjd o mi;ksftr ejkBh)

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh chl ðkCnkar f«gk % [20]

(1) fofo/k izlkjek/;es dks.krh rs lkaxk-

(2) izlkjek/;ekaps eq[; gsrw dks.krs \

(3) o`Ÿki=h; «s[kukps izdkj lkaxk-

(4) vxz«s[k Eg.kts dk; \

(5) ejkBhr ifg«s o`Ÿki= dks.kh lq: ds«s \ dks.krs \

(6) izlkjek/;ekalkBh dks.kdks.kR;k {ks=krh« O;Drhph eq«k[kr ?ksrk ;srs rs lkaxk-

(7) ^vkdkðkok.kh* ps lkeF;Z dks.krs \

(8) ^uHkksukVÓ* Eg.kts dk; \

(9) vkdkðkok.kh dsaÊkr dks.kdks.krs foHkkx vlrkr rs f«gk-

(10) nwjnðkZu gs dks.kR;k Lo:ikps ek/;e vkgs-
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(11) nwjnðkZuojh« ejkBh okfgU;kaph ukaos lkaxk-

(12) nwjnðkZuP;k «ksdfiz;rsph dkj.ks lkaxk-

(13) nwjnðkZuoj dks.kdks.krs dk;Zÿe iz{ksfir ds«s tkrkr rs lkaxk-

2. iq<h« izðukaph mŸkjs izR;sdh iUukl ðkCnkr f«gk %

(v) o`Ÿki=kP;k milaikndkps dk;Z lkaxk- [5]

fdaok

o`Ÿki=h; ckrehph jpuk dðkh vlrs rs lkaxk- [5]

(c) izlkjek/;ekaP;k Hkk"ksps Lo:i lkaxk- [5]

fdaok

o`Ÿki=h; «s[kkaps izdkj lkaxk-

3. iq<h« izðukaph mŸkjs nksuðððððks ðkCnkar f«gk %

(v) o`Ÿki=klkBh rqEgh okp«sY;k xzaFkkps ^xzaFkijh{k.k* r;kj djk- [10]

fdaok

vkdkðkok.khlkBh nareatuP;k tkfgjkrhpk uequk r;kj djk-

(c) vkdkðkok.kh o nwjnðkZuojh« ckrehi= «s[kukrh« Qjd lkaxk- [10]

fdaok

vkdkðkok.khlkBh ^i;kZoj.k j{k.k* ;k fo"k;koj Hkk"k.kkpk uequk r;kj

djk-
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4. iq<h« izðukaph mŸkjs rhuðððððks ðkCnkar f«gk %

(v) ^ðksrhleksjh« vkOgkus* ;k fo"k;koj nwjnðkZulkBh ekfgrhiV r;kj djk- [15]

fdaok

nwjnðkZulkBh ?kMÓkˇ daiuhP;k tkfgjkrhpk uequk r;kj djk-

(c) egkRek Qq«s ;kaP;k thoudk;kZoj vk/kkfjr :id vkdkðkok.kh f«gk- [15]

fdaok

nwjnðkZuP;k «ksdfiz;rsph dkj.ks dks.krh rs lfoLrj f«gk-
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MARATHI (ejkBh)

foðððððks"k Lrj µ izðððððuif=dk ÿ- 3

(S-3 : lkfgR;fopkj)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

1. iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh chl ðkCnkar f«gk % [20]

(1) Hkkeg us ds«s«h lkfgR;kph O;k[;k f«gk-

(2) fojspu gs iz;kstu dks.kh lkafxr«s vkgs \

(3) gsepaÊkus lkafxr«s«h izfrHksph O;k[;k f«gk-

(4) LQwrhZ Eg.kts dk; \

(5) ðkS«hph O;k[;k f«gk-

(6) lkfgR;kP;k LoknklkBh vkoð;d vl.kkjs dks.krsgh nksu xq.k f«gk-

(7) «f«r lkfgR;kps fofo/k izdkj f«gk-

(8) ^ok≥~e;kfHk#phps fogaxeko«ksdu* gk xzaFk dks.kh f«gh«k \

(9) vfHk#ph fu;r dj.kkÚ;k dks.kR;kgh nksu ?kVdkaph ukos f«gk-
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(10) lkfgR;kP;k oxhZdj.kkrh« dks.kR;kgh nksu flºkUrkaph ukos f«gk-

(11) dfork gÓk lkfgR;izdkjkps laf{kIr Lo:i f«gk-

(12) LoIujatu ;k iz;kstukpk iqjLdkj dj.kkjs lkfgfR;d dks.k \

(13) laosnu {kerk Eg.kts dk; \

2. iq<h«iSdh nksu izðukaph mŸkjs izR;sdh iUukl (50) ðkCnkar f«gk % [10]

(1) lkfgR;krh« HkkoukRedrk-

fdaok

vFkZizkIrh gs iz;kstu-

(2) ^laðk;;ksx lkfgR;kP;k vkLoknkrh« ,d vMFkˇk-

fdaok

okpdkph lkekftdrk-

3. iq<h« izðukaph mŸkjs izR;sdh nksuðððððks ðkCnkar f«gk % [20]

(1) lkfgR; fufeZrhl vkoð;d vl.kkjs lkfgfR;dkP;k O;fDreRokps foðks"k f«gk-

fdaok

ðkkL=h; lkfgR;kph Hkk"kk-

(2) vfHk#ph fu;r dj.kkjk ?kVdµvkfFkZd i;kZoj.k-

fdaok

lkfgfR;dkP;k ckaf/k«dhph ladYiuk FkksMD;kr Li"V djk-
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4. iq<h« izðukaph mŸkjs izR;sdh rhuðððððks ðkCnkar f«gk % [30]

(1) iz;kstu Eg.kts dk; \ rs lkaxwu lkfgR;kph iz;kstus lfoLrj f«gk-

fdaok

lkfgR; fufeZrhP;k ðkDrhapk vk<kok ?;k-

(2) lkfgR;kps Bˇd izdkj lkaxwu dknacjh ;k lkfgR; izdkjkps Lo:i f«gk-

fdaok

vkLokn Eg.kts dk; \ rs lkaxwu vkLoknklkBh vkoð;d xq.k dks.krs \
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MARATHI (ejkBh)

foðððððks"kLrj vH;kl&if=dk ÿ- 4 (S-4)

(Hkk"kkfoKku)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- iq<h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkar f«gk % [20]

(1) Hkk"kk vH;klkP;k rhu iºrh dks.kR;k rs lkaxk-

(2) ,sfrgkfld Hkk"kkfoKku Eg.kts dk; \

(3) ,sfrgkfld Hkk"kkfoKkukpk tud dks.k \

(4) ^fÿvkW« Hkk"kk* Eg.kts dk; \

(5) Hkkjrh; Hkk"kkaps losZ{k.k loZizFke dks.kh ds«s \

(6) ^Lou* Eg.kts dk; \

(7) ^#fidkarj* Eg.kts dk; \

(8) okD;krh« nksu izeq[k ?kVd dks.krs \

(9) ^fo/ks; #ica/k* Eg.kts dk; \

(10) okD;kps mfÌ"V dks.krs vlrs rs lkaxk-

(11) ^O;atuk* Eg.kts dk; \

(12) vFkZ Eg.kts dk; \

(13) vFkkZps fofo/k izdkj lkaxk-
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2- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj iUukl ðkCnkar f«gk % [10]

(v) eq[kekxZ o ukfldkekxZ ;kaps LoufufeZrhrh« dk;Z FkksMD;kr f«gk-

fdaok

rsjkO;k ðkrdkrh« ejkBh Hkk"ksps Lo:i Li"V djk-

(c) ^Lofue&Loukarjs* laca/k Li"V djk-

fdaok

okD;krh« izFkeksifLFkr la?kVd Eg.kts dk; \

3- iq<h«iSdh izR;sd foHkkxkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkar f«gk % [20]

(v) txkrh« izeq[k Hkk"kkdq«kapk FkksMD;kr ifjp; |k-

fdaok

okD;krh« fdeku ?kVd lksnkgj.k f«gk-

(c) Hkk"kk Eg.kwu ejkBhP;k okVpk«hpk ,sfrgkfld vk<kok ?;k-

fdaok

^#fidk&#fie&#fidkUrj* gh ladYiuk Li"V djk-

4- iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkar f«gk % [30]

(v) Lofue fufðprhps rRo lkaxwu LojLofue o O;atuLofue ;kaps oxhZdj.k djk-

fdaok

,sfrgkfld o o.kZukRed Hkk"kk vH;klkps egRo Li"V djk-

(c) vFkZfoU;klkps Lo:i Li"V djk-

fdaok

okfxafÊ;kph jpuk o dk;Z vkœrhlg Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

HINDI (G-3)

fganh (lkekU;&3)

(G-3 : fuca/k] dkO; ukVd rFkk ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

   ikB~;&iqLrdsa :— (i) fuca/k lkSjHkµlaik- izk- lkS- mek tk/ko

    (ii) xkFkk dq#{ks= dhµeuksgj ';ke tks'kh

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph 'kCn

fyf[k, % [6]

(1) Assistant

(2) Canal Officer

(3) District Judge

(4) Headmaster

(5) Foreign Secretary

(6) Income Tax Officer

(7) News Reporter

(8) Protocol Officer.
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(vk) fuEufyf[kr vaxz sth laf{kfIr;ks a es a ls fdUgha pkj ds iw.k Z fganh i;kZ;

fyf[k, % [8]

(1) C.I.D.

(2) C-DEC

(3) D.Litt.

(4) I.A.S.

(5) I.F.S.

(6) N.A.S.A.

(7) U.K.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj ys[ku dhft, % [6]

(1) egkfo|ky; esa laiUu iztklŸkkd fnu lekjksgA

(2) ^fuHkZ; dU;k* vfHk;ku dk;ZÿeA

2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) ^^gs ds'ko ! rqEgsa eq> nqf[k;kjh ds bu [kqys

vulaojs ds'kksa dh dle

laf/k dh rks ckr er djuk dHkh

mu dkSjoksa lsA**

(2) ^^iq#"kkFkZ ls euq"; Vky ldrk gS vuFkZ Hkh

Hkfo"; Hkh lq/kkj ldrk gS vius foosd ls

mRlkg vkSj ladYi dk uke gS thou

;g HkkX;okn rks thrs&th e`R;q gSA**
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(3) ^^Hkyk gqvk gS fdlh dk Hkyk

flyflyk v/keZ dk NsM+dj \

gkj rks gksrh gS gkj

thr Hkh gkjµtSlh cu x;h dq#{ks= esaA**

(4) ^^ve`r thou dk }kj gS ;ghA

lcls jgL;e; Kku ;gh gS fd

euq"; vkSj euq";rk ls

Js"Brj dqN Hkh ugha gSA**

3. (v) fuEufyf[kr esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) fnudjth ds vuqlkj ftanxh ds vlyh ets fduds fy, gSa \

(2) 'kfuxzg ds ckjs esa izpfyr va/kfo'oklksa dk [kaMu dhft,A

(3) ^uhydaB* fuca/k ds O;aX; dks Li"V dhft,A

(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) vtqZu us Hkh"e ij dSls fot; ikbZ \

(2) ^xkFkk&dq#{ks= dh* dkO;&ukVd ds var esa osnO;kl us D;k mins'k

fn;k gS \

(3) ^xkFkk&dq#{ks= dh* dkO;&ukVd ds 'kh"kZd dh lkFkZdrk Li"V

dhft,A
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4. (v) fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [10]

(1) mxzth us cq<+kis dh O;Fkk dk o.kZu dSls fd;k gS \

(2) ^etnwjh vkSj izse* fuca/k dk vk'k; fy[kdj mldh fo'ks"krkvksa ij

izdk'k Mkfy,A

(vk) fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [10]

(1) ^xkFkk&dq#{ks= dh* bl dkO;&ukVd esa ikSjkf.kdrk vkSj vk/kqfudrk dk

lqUnj leUo; gqvk gS*µbl dFku dh leh{kk dhft,A

(2) ^xkFkk&dq#{ks= dh* dkO;&ukVd ds izeq[k ik=ksa dk ifjp; nhft,A

(b) fuEufyf[kr esa ls fdlh ,d i= dk uewuk rS;kj dhft, % [5]

(1) Hkkjr ljdkj ds LokLF; ea=ky; }kjk lHkh jkT; ljdkjksa dks jDrnku

f'kfoj vk;ksftr djus ds lUnHkZ esa ,d ifji= Hkstk tkrk gSµuewuk

rS;kj dhft,A

(2) dk;kZy; esa fu;fer rFkk le; ij mifLFkr jgus ds fo"k; esa egkjk"V™

ljdkj }kjk dk;kZy;hu vkns'k fn;k tkrk gSµuewuk rS;kj dhft,A

(bZ) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [5]

Courage is the greatest asset of a man. The man who lives

a courageous life without fear does not bother about what

people think of him or say about him. A man who has the

courage to go off the beaten track and break new ground

alone can be a source of strength to people. On the contrary

one who keeps to well worn grooves can only fit the slot

for an ordinary man. A courageous person never takes his

cue from ordinary mortals but carves out a niche for himself

by doing something unorthodox and novel.
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vFkok

/kkMlh thou lokZr pkaxys thou vkgs- vls thou tx.kkjk euq"; fuMj

vlrks vkf.k rks yksd R;kP;k fo"k;h dk; fopkj djrkr fdaok dk; cksyrkr

;kph fpark djr ukgh- tks euq"; rhp&rhp ik;okV lksMwu pkyrks vkf.k

vkiyh uoh okV Lor% fuekZ.k dj.;kph fgEer nk[korks rksp nqlÚ;k lkBh

'kDrh&izsjd gks≈ 'kdrks- f'kok; R;kp&R;kp okVsus tk.kkjk euq"; loZlkekU;kaP;k

Js.khr ;s≈u clrks- ijkÿeh euq"; d/khgh lkekU; O;DrhadMwu izsj.kk ?ksr

ukgh- myV vkiY;k O;kid o uohu dk;kZn~okjs Lor%p ,d fof'k"V LFkku

rks fuekZ.k djrks-
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(oSdfYid ikB~Óÿe)

(iz;kstuewyd fganh % lkekU; Lrj&3)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) We are not concerned with this.

(2) I full agree with the office note order may be issued.

(3) Fresh proposals in this regard are invited.

(4) Our call bell is not in working order. Please get it repaired

soon.

(5) The file may kindly be returned early after keeping extracts.

(6) Copy forwarded for information and necessary action.

(7) We may remind of the Director General after a month.

(8) No action on our part seems to be called for.

(9) The matter has been under consideration for a long

time.
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(10) Chief Controller has returned the papers.

(11) The banks have granted loans on cash terms to be flood

stricken persons.

(12) There is no justification for interfering with the decision

of the Director.

(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Indian Banks Association

(2) Agriculture Finance Corporation

(3) Indian Telecom Service

(4) Member of Parliament

(5) Maharashtra Public Service Commission

(6) Indian Tourism Development

(7) Indian Forest Service

(8) Reserve Bank of India

(9) University Grant Commission

(10) State Eligibility Test

(11) Indian Police Service

(12) District Co-ordination Committee.
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2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ ys[ku dhft, % [8]

(1) lM+d nq?kZVuk

(2) egkfo|ky; esa euk;k x;k i;kZoj.k&fnu

(3) fe=&eaMy dh vksj ls euk;k x;k ^;qok&fnu*

(4) vius xk°o dk LoPNrk vfHk;ku % lQy@vlQyA

(vk) fuEufyf[kr ifjPNsn dk lkjys[ku dhft, vFkok ifjPNsn ds voyksdukRed

iz'uksa ds mŸkj fyf[k, % [8]

Kku&foKku laca/kh tkudkfj;ksa vFkok lwpukvksa ds vknku&iznku dh ftruh

vfËkd fnypLih o mRlqdrk yksxksa esa vkt fn[kkbZ nsrh gS] mruh 'kk;n

gh igys dHkh jgh gksA vkt ,d vkneh eqacbZ esa cSBdj xqokgkVh ls tEew

tkus okyh jsyxkM+h dk vkj{k.k djok ldrk gS rks ogha ls fnYyh ls vius

[kkrs ls iSls fudkydj f'keyk ds cSad [kkrs esa tek dj ldrk gS vkSj

bfPNr O;fDr ls ckr dj ldrk gSA i=dkfjrk ds fy, dEI;wVj dh MkWVdkWe

iz.kkyh dks [kwc viuk;k tk jgk gSA vxj dksbZ {ks= dEI;wVjhdj.k ls NwV

x;k gS rks ogk° Hkh dEI;wVj izf'k{k.k iznku fd;k tk jgk gSA dgus dk

rkRi;Z ;gh gS fd vkt dk ;qx dEI;wVjhdj.k ds lkFk&lkFk lwpuk&izlkj

;k lwpuk izkS|ksfxdh dk ;qx gSA dEI;wVjhdj.k ds bl iwjs nkSj esa vkSj izkS|ksfxdh

ds bl egkekxZ esa fganh ds dke dh fLFkfr bl izdkj c<+rh tk jgh

gSA

vFkok

(1) yksxksa esa Kku&foKku dh mRlqdrk dSlh c<+ jgh gS \

(2) dEI;wVj iz.kkyh ij izdk'k Mkfy,A
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(3) dEI;wVj dk Qk;nk vke vkneh dSls mBk jgk gS \

(4) i=dkfjrk esa Hkh dEI;wVj dk iz;ksx dSls fd;k tk jgk gS \

(5) mfpr 'kh"kZd nhft,A

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh vFkok nwjn'kZu ds fy, foKkiu

dk uewuk rS;kj dhft, % [6]

(1) vf[ky Hkkjrh; Lrj dh fuca/k izfr;ksfxrk

(2) cktkj esa vkbZ ubZ eksVj&lkbfdy

(3) xk°o esa yxh iqLrdksa dh izn'kZuh

(4) fdlh cSad dh fo|kfFkZ;ks a ds fy, f'k{kk Ω.k (yksu) dh ubZ

;kstukA

(vk) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [6]

The man who is always hesitating which of the two things

will do first, will do neither. The man who resolves, but

suffer his resolution to be changed by the first counter

suggestion of a friend, who fluctuates from opinion to

opinion, from plan to plan, and veers like a weather cock

to every point of the compass, with every breath of

caprice that blows, can never accomplish any thing great or

useful. It is only the man who first consults wisely, then



[4001]-316 10

resolves firmly and then executes his purpose with

inflexible perseverance, undermasted by those petty

difficulties which daunt a weaker spirit, that can advance

to eminence in any line.

vFkok

nksu xks"VhaiSdh izFke dks.krh djkoh ;k laca/kh tks ek.kwl fuf'pr fu.kZ; ?ks≈

'kdr ukgh] rks R;kiSdh dks.krhgh xks"V dj.kkj ukgh- ,[kknk ek.kwl fu.kZ;

?ksrks i.k ,[kk|k fe=kus R;kP;k fo:º lwpuk djrkp fu.kZ;kr Qsj cny

gks≈ nsrks] ,dk erkiklwu nqlÚ;k erki;±r ,dk ;kstus iklwu nqlÚ;k ;kstusi;±r

tks gsandˇr jkgrks] vkf.k okrdqDdqVk izek.ks orqZˇkP;k izR;sd fcanwdMs fQjr

jkgrks vkf.k izR;sd ykVsP;k v/khu gksrks] vlk ek.kwl ygku fdaok eksBh dks.krhgh

œfr d: 'kd.kkj ukgh- tks ek.kwl 'kgk.ki.kkus fopkj djrks vkf.k uarj iDdk

fu.kZ; gksrks vkf.k vkiyk fu'p; nqnZE; fpdkVh us] nqcZy ek.klkyk ?kkcjfo.kkÚ;k

NksVÓk vMp.khauh fujk'k u gksrk vaeykr vk.krks] rksp dqBY;kgh mPp inkyk

tk≈ 'kdrks-

4. (v) fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh iz'uksa ds mŸkj fyf[k, % [20]

(1) tulapkj ek/;eksa dk ifjp; ,oa mi;ksfxrk crkb,A

(2) vkdk'kok.kh ds fy, iz;qDr Hkk"kk dh fo'ks"krk,° crkb,A

(3) {ks= dk;Z dk vFkZ ,oa egRo crkb,A

(4) vuqokn ds izeq[k izdkjksa dk ifjp; nhft,A
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(5) vuqoknd ds xq.kksa ,oa drZO;ksa ij izdk'k Mkfy,A

(6) dk;kZy;hu Hkk"kk dh dkSu&dkSulh fo'ks"krk,° gSa \

(vk) fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) vuqokn dk egRo

(2) jktHkk"kk fganh

(3) HkweaMyhdj.k dk izHkko

(4) tulapkj ek/;eksa esa fganh

(5) ljdkjh i= dh fo'ks"krk,°

(6) vuqokn dk Lo:iA
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[4001]-317

T.Y. B.A. EXAMINATION, 2011

HINDI (S-3)

fganh (fo'ks"k&3)

fganh lkfgR; dk bfrgkl (vkfndky ls vk/kqfud dky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) vkfndkyhu ohjxkFkk lkfgR; dh fo'ks"krk,° Li"V dhft,A

([k) jhfrdkyhu jktuhfrd] lkekftd rFkk /kkfeZd ifjfLFkfr;ks a dk ifjp;

nhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) izseekxhZ dkO;/kkjk dk ifjp; nsrs gq, mlesa tk;lh ds ;ksxnku dks Li"V

dhft,A

(N) HkfDrdkyhu œ".kHkfDr dkO;/kkjk dh fo'ks"krk,° fyf[k,A
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(V) Nk;koknh dkO;/kkjk dk laf{kIr ifjp; nsr s g q, mldh fo'k s"krk,°

fyf[k,A

(B) fganh ubZ dfork dh fo'ks"krkvksa dk ifjp; nhft,A

4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(i) fganh miU;kl fo/kk dk fodkl Li"V djrs gq, mlesa izsepUn th ds ;ksxnku

dks js[kkafdr dhft,A

(Q) fganh fuca/k fo/kk ds fodkl dk ifjp; nhft,A

5. (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) izxfroknh dkO; /kkjk dh nks fo'ks"krk,° fyf[k,A

(2) ^fiz;izokl* ds izeq[k ik=ksa ds uke fyf[k,A

(3) eSfFkyh'kj.k xqIrth ds dkO; dh nks fo'ks"krk,° fyf[k,A

(4) t;'kadj izlknth ds ukVdksa dh nks fo'ks"krk,° fyf[k,A

(5) ^eSyk vk°py* miU;kl ds egRo dks la{ksi esa fyf[k,A

(6) izlknksŸkj ;qx ds izeq[k ukVddkjksa ds uke fyf[k,A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) jk"V™h; dkO;/kkjk ds nks dfo;ksa ds uke fyf[k,A

(2) ^vKs;* fdl dfo dk miuke gS \
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(3) egknsoh oekZ dh KkuihB iqjLdkj izkIr jpuk dkSulh gS \

(4) izxfroknh dkO; fdl fopkj/kkjk ij vk/kkfjr gS \

(5) ^ljkst&Le`fr* ds jpf;rk dk uke fyf[k,A

(6) gtkjhizlkn f}osnh th ds fuca/k&laxzg dk uke fyf[k,A

(7) ^xksnku* miU;kl ds uk;d dk uke fyf[k,A

(8) ^flanwj dh gksyh* ds jpf;rk dk uke crkb,A

(9) tSusaÊdqekj ds nks miU;klksa dk mYys[k dhft,A

(10) fganh ds fdlh ,d vk°pfyd miU;kl dk mYys[k dhft,A
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[4001]-318

T.Y. B.A. EXAMINATION, 2011

HINDI (S-4)

fganh (fo'ks"k&4)

Hkk"kkfoKku

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) Hkk"kk dh ifjHkk"kk,° fy[krs gq, Hkk"kk dh fo'ks"krkvksa ij izdk'k

Mkfy,A

([k) Hkk"kk&fodkl ds izeq[k oknksa dk laf{kIr ifjp; nhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) iz;Ru ds vk/kkj ij /ofu&oxhZdj.k dhft,A

(?k) vFkZifjorZu dh fn'kkvksa dk lksnkgj.k ifjp; nhft,A
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) okD; dh ifjHkk"kk nsrs gq, okD; dh vko';drkvksa ij izdk'k Mkfy,A

(N) nsoukxjh fyfi ds mn~Hko ,oa fodkl dks la{ksi esa crkb,A

4. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) cksyh vkSj ifjfuf"Br Hkk"kk esa vUrjA

(2) fganh lkfgR; lEesyu] iz;kx dk dk;ZA

(3) mPpkj.k izfÿ;k essa rkyq dk ;ksxnkuA

(4) Hkk"kkfoKku vkSj O;kdj.k dk laca/kA

5. (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) jk"V™Hkk"kk dk 'kkfCnd vkSj fof'k"V vFkZ crkb,A

(2) czt cksyh dh dksbZ nks fo'ks"krk,° fyf[k,A

(3) rRle 'kCn fdls dgrs gSa \

(4) 'kCn vkSj vFkZ dk laca/k Li"V dhft,A

(5) /ofu&xq.k dk Hkk"kk esa egRo crkb,A

(6) yk{kf.kd iz;ksx ds dkj.k vFkZifjorZu ds nks mnkgj.k nhft,A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) lekt fopkj&fofue; ds fy, fdl lk/ku dk i z;k sx djrk

gS \
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(2) vo/kh fdl {ks= dh cksyh gS \

(3) ekjokM+h cksyh dk izkphu lkfgfR;d uke fyf[k,A

(4) cztHkk"kk ds fdUgha nks lkfgR;dkjksa ds uke fyf[k,A

(5) dk'kh ukxjh izpkfj.kh lHkk dh vksj ls dkSulh if=dk izdkf'kr gksrh

gS \

(6) Hkk"kkfoKku dh ifjHkk"kk fyf[k,A

(7) Hkk"kk&/ofu dk ewyk/kkj D;k gS \

(8) mPpkj.k dh n`f"V ls Hkk"kk dh y?kqre bdkbZ D;k gS \

(9) Hkk"kk dh vkRek fdls dgk x;k gS \

(10) Hkkjrh; lafo/kku ds vuqlkj Hkkjr dh jk"V™h; fyfi dkSulh gS \
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SANSKRIT

General Paper III

Title :— (1) Pratima  Natakam

     (2) 

Bhaminivilasah

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from Section ‘A’ and

any two from Section ‘B’ from the following passages :

iq<hy ifjPNsnkaiSdh ^v* foHkkxkrhy dks.kR;kgh nksgksaps o ^c* foHkkxkrhy dks.kR;kgh

nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

Section ‘A’ [10]

(foHkkx ^v*)

(i) psVh µ HkfÍuh ,oa e;k Jqre~ A vk;Zckykfd% dÄqdh Hk.kfr vfHk"ksdks∑fHk"ksd

bfr A

lhrk µ dks∑fi HkrkZ jkT;s Hkfo";fr A (izfo';kijk)

psVh µ HkfÍfu fiz;k[;kfuda fiz;k[;kfude~ A

lhrk µ fda fda izrh"; eU=;ls A

psVh µ Hkr`Znkjd% fdykfHkf"kP;rs A

lhrk µ vfi rkr% dq'kyh A

psVh µ egkjktsuSokfHkf"kP;rs A

lhrk µ ;|soa f}rh;a es fiz;a Jqre~ A fo'kkyrjeqRl¬ka dq# A
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(ii) dkÄqdh;% µ t;rq egkjkt% A ,"k [kyq r=Hkoku~ lqeU=% izkIr% A

jktk µ (lglksRFkk; lg"kZe~) vfi jkes.k A

dkÄqdh;% µ u [kyq A jFksu A

jktk µ dFka dFka jFksu dsoysu (bfr ewfNZr% irfr) A

nsO;k µ egkjkt lek‹oflfg lek‹oflfg A (xk=kf.k ijke`'kr% A)

dkÄqdh;% µ Hkks% d"Ve~ A bZn`fXo/kk% iq#"kfo'ks"kk bZn`'khekikna izkIuqoUrhfr

fof/kjufrÿe.kh;% A egkjkt lek‹oflfg lek‹oflfg A

jktk µ (dfçr~ lek‹oL;) ckykds lqeU= ,d ,o uuq izkIr% A

dkÄqdh;% µ egkjkt vFk fde~ A

(iii) dSds;h µ tkr fda e;k œre~ A

Hkjr% µ fda œrfefr onfl A

o;e;'klk phjs.kkFkksZ u`iks x`ge`R;quk

izrr#fnrS% œRLuk;ks/;k e`xS% lg y{e.k% A

nf;rru;k% 'khdsukEck% Luq"kk/oifjJeS&

f/kZfxfr oplk pksxzs.kkRek Ro;k uuq ;ksftrk% AA

Section ‘B’ [10]

(foHkkx ^c*)

(i) vf; nynjfoUn L;Unekua ejUna

ro fdefi fygUrks e¥tq xq¥tUrq Hk`¬k% A

fnf'k fnf'k fujis{kLrkodhua foo`.ou~

ifjeye;eU;ks ckU/koks xU/kokg% AA

(ii) vkjkekf/kifrfoZosdfodyks uwua jlk uhjlk

okR;kfHk% i#"khœrk n'k fn'kç.Mkriks nq%lg% A

,oa /kUofu pEidL; ldys lagkjgsrkofi

Roa fl¥pUue`rsu rks;n dqrks∑I;kfo"œrks os/klk AA
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(iii) fo'kkyfo"k;kVohoy;yXunkokuy&

izl`Rojf'k[kkoyhfodfyra enh;a eu% A

veUnfeyfnfUnjs fuf[kyek/kqjhefUnjs

eqdqUneq[kpfUnjs fpjfena pdksjk;rke~ AA

2. Explain with reference to the context any two from Sections ‘A’

and ‘B’ each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh nksu okD;kaps lanHkkZlg Li"Vhdj.k djk %

Section ‘A’ [10]

(foHkkx ^v*)

(i) Lo% iq=% dq#rs firq;Zfn op% dLr= Hkks foLe;% A

(ii) oztrq pjrq /ke± Hkr`ZukFkk fg uk;Z% A

(iii) ts"BHkzkrq% izokla p =hu~ nks"kku~ dks∑fHk/kkL;fr A

(iv) x≥~xk;equ;kseZ/;s dqunho izosf'krk A

Section ‘B’ [10]

(foHkkx ^c*)

(i) vR;Urljl‚n;ks ;r% ijs"kka xq.kxzghrkfl A

(ii) yksdukeso eqns efgrks∑I;kRekequkfFkZrka uhr% A

(iii) vfi nkulqUnjk.kk f}i/kq;kZ.kke;a f'kjks/kk;Z% A

(iv) xq#xzkoxzke% Lofifr fxfjxHksZ gfjifr% A

3. Write descriptive notes on any two of the following : [16]

iq<hyiSdh dks.kR;kgh nksgksaoj lfoLrj Vhik fygk %

(i) Title of 

Pratima

.

izfrek ukVdkps 'kh"kZd A



[4001]-320 4

(ii) The character of ^lhrk* in izfrekukVde~.

izfrek ukVdkrhy ^lhrsph* O;Drhjs[kk A

(iii) dqVt vU;ksDrh A 

Kutajanyokt i

.

(iv) panuvU;ksDrh A Chandananyokt i .

4. Appreciate critically Act 4th of izfrekukVde~. [12]

^izfrek* ukVdkP;k pkSF;k vadkps jlxzg.k djk-

Or

(fdaok)

Explain in detail Bhasa’s  life, date and works.

Hkklkpk thou&dkˇ o dykœrh ;kfo"k;h lfoLrj ekfgrh fygk-

5. Explain with detail ^galU;ksfDr%* in 

Prastavikavilasa

. [12]

izkLrkfodfoyklkrhy galU;ksfDr% lfoLrj Li"V djk-

Or

(fdaok)

Write a summary of ^'kkfUrfoykl* in ^Hkkfeuhfoykl*.

Hkkfeuhfoyklkrhy 'kkarfoyklkps lkjka'k fygk-
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SANSKRIT (S-III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts :— (i) y?kqflºkUr dkSeqnh-

laKk] dkjd] lfU/k-

(ii) History of Vedic Literature.

oSfnd ok≥~e;kpk bfrgkl-

(iii) Sanskrit Composition.

laLœr fucU/kys[ku-

1. Explain any three of the following : [15]

iq<h«iSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) vkfnjUR;su lgsrkA

(ii) lqfIr≥~Ura ine~A

(iii) >yka t'kks∑UrsA

(iv) mj.k~ jij%A

(v) i"Bh 'ks"ksA
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2. (A) Write notes on any three of the following : [6]

iq<h«iSdh dks.kR;kgh frghaoj Vhik f«gk %

(i) vk/kkjfL=/kkA

(ii) milxZA

(iii) Lofjr%A

(iv) xq.k laKkA

(v) dj.kdkjde~A

(B) Split any two conjuncts of the following quoting relevant

rules : [4]

iq<h«iSdh nksgksapk lacaf/kr lw=s lkaxwu laf/k&foxzg djk %

(i) lPpfj=e~A

(ii) Jh'k%A

(iii) rYyhu%A

(iv) f'koks∑=A

(C) Give any five Vibhaktis of the underlined words from the following

sentences giving relevant rules : [5]

[kk«h« okD;krh« dks.kR;kgh ikp v/kksjsf[kr ðkCnkaP;k foHkfDr lacaf/kr lw=kP;k

vk/kkjs lkaxk %

(i) cfya ;kprs olq/kke~A

(ii) i;lk vksnua Hkq≥~DrsA

(iii) nsonŸk% ipfrA
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(iv) gj;s ue%A

(v) /kkor% v‹okr~ irfrA

(vi) foizk; xka nnkfrA

(vii) ekrq% LejfrA

(viii) vXu;s LokgkA

3. (v) Write an essay on branches and sub-branches of ;tqosZn- [12]

;tqosZnkP;k 'kk[kk vkf.k mi'kk[kk ;kaoj fuca/k fygk-

Or

(fdaok)

Write an essay on lkexku-

lkexkukoj fuca/k fygk-

(c) Write an essay on six Vedangas. [12]

lgk osnk¬kaoj fuca/k fygk-

Or

(fdaok)

Write briefly on the narratives, myths and legends in the

czk„.ks.

czk„.kxzaFkkrhy vk[;kus] iqjkdFkk o nardFkk ;kafo"k;h FkksMD;kr fygk-
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4. Write critical paragraph on any two of the following : [16]

iq<h«iSdh dks.kR;kgh nksgksaoj foospd ifjPNsn f«gk %

(i) mifu"kn~

(ii) Dialogue hymns in the ΩXosn-

ΩXosnkrhy laokn lwDrs-

(iii) vFkoZosn is the Veda of common man.

vFkoZosn ,d lkekU;kapk osn-

(iv) vkj.;ds-

5. Write a short essay in Sanskrit on any one of the following : [10]

[kk«h«iSdh dks.kR;kgh ,dkoj laLœrkr laf{kIr fucU/k f«gk %

(i) fo|k ee nsorkA

(ii) olUr&Ωrq%A

(iii) egkdfo% Hkkjfo%A
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Texts :— vkRekukRefoosd ( Atmanatmaviveka )

  rdZlaxzg ( Tarkasamgraha& )

Time : Three Hours Maximum Marks : 80

1. (A) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) usg oS l'kjhjL; lr% fiz;kfiz;;ksjigfrjLrhfr Jqrs% A

(ii) neks uke ck·sfUÊ;fuxzg% A

(iii) deZfuo`fr% dnk Hkofr \ lokZReuk jkxknkS fuo`Ÿks lfr A

(iv) vkRekukRefoosdks∑;a dfFkrks xzUFkdksfVfHk% \

(v) 'kjhja lq[knq%[kkuka Hkksxk;rueqP;rs A

(B) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) :ijfgrLi'kZoku~ ok;q% A

(ii) vUo;ek=O;kfIrda dsoykUof; A

(iii) mifefrdj.keuqekue~ A

(iv) vkIrokD;a 'kCn% A

(v) 'khrLi'kZoR; vki% A
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2. Explain fully the nature of ‘Atman’ . [15]

vkRE;kps Lo:i iw.kZi.ks Li"V djk-

Or

(fdaok)

Explain fully the nature of ^'kjhj=;*.

'kjhj=;kps lfoLrj Li"Vhdj.k djk-

3. Explain fully the ‘Anumana Pramana’
&

. [15]

^vuqekuizek.kkps* lfoLrj Li"Vhdj.k djk-

Or

(fdaok)

Explain fully the ^"kM~fo/klafud"kZ*.

^"kM~fo/klafud"kkZps* lfoLrj Li"Vhdj.k djk-

4. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) lk/kuprq"V;

(ii) vUr%dj.kprq"V;

(iii) thoUeqDr A

5. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) vuqca/kprq"V;

(ii) cqfº%

(iii) okD;kFkZKkugsrq A
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Section A — Nalakaha — uydgk

Section B — vatukio.kat;oqŸkarq (laf/k—18-19)

N.B. :— All questions are compulsory.

loZ izðu vkoð;d vkgsr-

Section A

uydgk

1. Translate any two of the following into English or Marathi : [10]

[kkyhyiSdh dks.kR;kgh nksgksaps baxzth fdaok ejkBhr Hkk"kkarj djk %

(i) xq.knkslfo;kj[kek fda rLl u lafr eafr.kks ds fo \

tsfga uyks u fuflºks vleatltafijks ,oa A

Hkks nw; ! xPN tb rqg lkeh fu;thfo;Ll fufOoUuks A

rk gksm lejlTtks] vga fi nwv ! vkxvks ,lks AA

nw,.k fo vkxarqa uyLl dfg;a d;acoTtfj;a A

rLlksofj lks dqfovks pfyvks pmjaxcydfyvks AA

iŸkks rD[kflyk, learvks osf<;k v.ks.kslk A

ik;kjks Oo nqbTtks fofgvks dqatjifjD[ksoks AA
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(ii) rfEe vjUus ?ksŸkqa ne;arh, dja fu;djs.k A

djxg.kwlole;a lqejkoarks uyks pfyvks AA

nCHkXxfHkUu&dkseydedey&>jar#fgjfcanwfga A

ne;arh, rejUufeanxksoafd;a o d;a AA

jTtfEe iÍca/kks ne;arh, fljfEe tks vkfl A

fu;iM[kaMsfga uys.k lks dvks laib i,lq AA

ne;afra nqeewys fulUueºk.kxe.kf[kUur.kqa A

fu;ifjgk.kapyoh;.ksfga oh,b uyjkvks AA

(iii) vUufn.ks nk.klkykfB;k fiPN, rykjsfga fuTtara cºa pksja A iqPN, lk

rykjs&fdfefe.kkfo.kkfl;a fr A rsfga dfg;a&panobZ, j;.kdjafM;k gfj;k

v.ks.k A rk gf.kTtb ,lks A pksjks fo narxfg;axqyh ufe≈.k ne;afra Hk.kbµ

nsfo ! feYykosfg ea] rqg lj.kekxvks∑ga A n;koarh, ne;arh, d;k

lhylko.kk A lhyIiHkkos.k rqÍk rDdjLl ca/kk A fojyhgwvk rykjk A bea

oqŸkara lks≈.k lekxvks rRFk jk;k Hk.kb ne;afra&oPNs ! fdes;etqŸka d;a

rqe, \

2. Explain with reference to the context any two : [10]

dks.krsgh nksu llanHkZ Li"Vhdj.k |k %

(i) ik,.k dqiqfjlk.ka u lgkoks vUugk gksb A

(ii) lkgq d;a d;Uuq.kk rqe, ta eeksoxkfj.kks ,oeqoxfj;a A

(iii) vRFkax;fEe pans fd;fPpja fpV~B, tq.gk A

(iv) gk ukg ! fda r,∑ga pŸkk \ fda rqT> gksfe Hkkjdjh \
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3. Give the character sketch of uyjktk. [12]

uyjktkps O;fDrfp=.k djk-

Or

(fdaok)

Give information about the author Somaprabhacarya  along with his

works.

ys[kd lkseizHkkpk;Z o R;kaP;k jpuk ;k cÌy ekfgrh |k-

4. Write a note on any one : [8]

dks.kR;kgh ,dkoj Vhi fygk %

(i) Episode of ne;arh&Lo;aoj-

ne;arh&Lo;aoj o`Ÿkkar-

(ii) Supernatural element in uydgk-

uydFksrhy vn~Hkwr jl-

Section B

vatukio.kat;oqŸkarq (laf/k—18-19)

5. Translate any one of the following into English or Marathi : [10]

[kkyhyiSdh dks.kR;kgh ,dkps baxzth fdaok ejkBhr Hkk"kkarj djk %

(i) lklqvk.k lq.gk.k t.ks lqikflºba A

,DdesDdobjkb° v.kkbf.koºba AA

HkŸkk: Hk.kslb ta fnolq

fo#vkfj gkslb ra fnolq A
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o;.ks.k rs.k eafrgs° r.ks°.k

vkjÎq il..kfdfŸk e.ksW.k A

^fda dar,W .ksgfogwf.k;,W

fda fdfŸk, obfjfg° tkf.k;,W A

fda lqdg,W f.kjyadkfj;,W

fda /kh;, yaN.kxkfj;,W A

?kjsW vat.k lejax.ksW io.kq

xCHkgksW laca/kq ,RFkq do.kq* A

ra f.klq.kWsfo .kjsW.k f.kokfj;m

iMgm nsfIi.kq .khlkfj;m A

o.kq xafi ibÎm Hkhl.km

/kkgkfom ig.ksfo vIi.km A

^gk fpfg gk dkb° fd;ar fdm

f.kfg nfjlsWfo yks;.ktq;yq fgm* A

?kŸkkµ fofg fe dyq.kq danafr;g°

o.ksW nqD[ksa dks o .k isfYy;m A

lPNansfg° pjar,Wfg°

gfj.ksfg° fo nksom esfYy;m AA

(ii) ra o;.kq ifMm .ka vfligk#

vogsfj djsfIi.kq xm dqek# A

ek.klljojsW vkoklq eqDdq

vRFko.kgksW yke i;axq <qDdq A
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fnÎb° l;oŸkb° emfy;kb°

fi;fojfg;egqvfjeqgfy;kb° A

pDdh fo fnÎ fo.kq pDd,.k

okfgTtek.k e;jº,.k A

fogq.kafr papq ia[kkg.kafr

fojgkmj iDdanafr /kafr A

ra f.k,Wfo tkm rgksW dyq.kHkkm

^eb° lfjlm v..kq .k dks fo ikm A

.k d;kb fo tksbm f.k;dˇŸkq

vPNb e;.kfXx ifyŸkxŸkq A

ifjvŸksfo laekf.km .k tke

j.ksW o#.kgksW tqT>q .k nsfe rkHk A

?kŸkkµ lCHkkm lgk;gksW dfgm iq.kq

igfl,W.k oqŸkq ^,gq ijexq.kq*

mIi,Wfo .kgax.ks os fo x;

.ka fl;vfgaflap.ksW eŸk x; AA

6. Explain with reference to the context any two : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) vkokflm iklsWfgW .kh;MsWfgW .ka rkjk;.kq eanjrMsWfgW A

(ii) lDdfe efg x;.kq ,Ddq djsWfo nqº# .km lDdfe om /kjsfo A

(iii) nqLlhy nqÎ ea ibljm fo.kq [ksos .k;jgks .khljm A

(iv) bgq vÎkom gksarq .k fo rk oÍb vkfl ek,W fxfy; A
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7. Write in detail about the sources of vatukio.kat;oqŸkarq. [12]

vatukio.kat;oqŸkarq pk ewyÚksr-

Or

(fdaok)

Write in detail about the life, date and works of dfojkt Lo;aHkwnso.

dfojkt Lo;aHkwnso ;kaps thou] dkˇ vkf.k xzaFk ;kfo"k;h lfoLrj fygk-

8. Write a note on any one : [8]

dks.kR;kgh ,dkoj Vhi fygk %

(i) mi'ke of jko.k-

jko.kkpk mi'ke-

(ii) olarekyk-
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T.Y. B.A. EXAMINATION, 2011

PALI

General Paper III

(mnku and pfj;kfiVd)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
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Part A

(mnku)

1. Translate into English or Marathi (any two) : [10]

ejkBh fdaok baxzthe/;s Hkk"kkarj djk (dks.krsgh nksu) %

(1) rsu [kks iu le;su i¥peŸkkfu nsorklrkfu mLlqDda vkiŸkkfu gksfUr vk;Lerks

egkdLliLl fi.MikrifV«kHkk; A vFk [kks vk;Lek egkdLliks rkfu i¥peŸkkfu

nsorklrkfu ifVfD[kfiRok iqCc.gle;a fuoklsRok iŸkphojeknk; jktxga fi.Mk;

ikfofl ;su nf«Ìfofl[kk di.kfofl[kk iSldkjfofl[kk A vÌlk [kks Hkxok

vk;LeUra egkdLlia jktxgs fi.Mk; ;su nf«Ìfofl[kk di.kfofl[kk

isldkjfofl[kk A

(2) ,oa es lqra A ,da le;a Hkxok m#os«k; fogjfr uTtk usj¥tjk; rhjs eqpf«Unew«s

iBekfHklEcqºks A rsu [kks iu le;su Hkxok lŸkkga ,diY«≥~dsu fuflÈkks gksfr

foeqŸklq[kifVlaosfn A
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rsu [kks iu le;su egk vdk«es?kks mnikfn lŸkkgoÌf«dk lhrokrnqfÌquh A

vFk [kks eqpf«Unks ukxjktk ldHkouk fuD[kfeRok Hkxorks dk;a lŸkD[kŸkqa Hkksxsfg

ifjfD[kfiRok mifjeqºfu egUra Q.ka fogPp vÎkfl µ flek HkxoUra lhra]

ek HkxoUra m.ga ek HkxoUra MaledlokrkriljhlEQlksfifr A

(3) fle;k fi [kks Roa] uUn] psrlk psrks ifjPp fofnrks µ ^uUnks vklokua [k;k

vukloa psrksfoeqfŸka i¥¥kkfoeqfŸka fnÎso /kEes l;a vfHk¥¥kk lfPNdRok milEiTt

fogjrh* fr A nsork fi es ,reRFka vkjkspsfl µ ^vk;Lek] HkUrs] uUnks Hkxorks

Hkkrk ekrqPNkiqŸkks vklokua [k;k vukloa psrksfoeqfŸka i¥¥kkfoHkqfŸka fnÎso /kEes

l;a vfHk¥¥kk lfPNdRok milEiTt fogjfr* fr A

2. Explain with reference to the context (any two) : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(1) ;nk gos ikrqHkofUr /kEek] vkrkfiuks >k;rks czk„.kLl A

vFkLl d≥~[kk oi;fUr lCck] ;rks [k;a iPp;kua vosnh* fr AA

(2) ckfgRok ikids /kEes] ;s pjfUr lnk jrk A

[kh.kla;kstuk cqºk] rs os «ksdfLe czk„.kk* fr AA

(3) u mndsu lqph gksfr] ogosRFk Ugk;fr tuks A

;fEg lPpa p /kEeks p] lks lqph lks p czk„.kks* fr AA

(4) lCca ijola nqD[ka] lCca bLlfj;a lq[ka A

lk/kkj.ks fog¥¥kfUr] ;ksxk fg nqjfrDdek* fr AA
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3. What is Udana  ? Write a detailed note on its structure and subject

matter. [12]

mnku Eg.kts dk; \ R;kph jpuk vkf.k fo"k;oLrq ;koj lfoLrj Vhi f«gk-

Or

(fdaok)

What is Bodhi ? Write a detailed note on Bodhivaggo.

cksf/k Eg.kts dk; \ cksf/koXxkoj lfoLrj Vhi f«gk-

4. Critically evaluate the uUnoXxks. [8]

uUnoXxkps foospd ijh{k.k djk-

Or

(fdaok)

Critically evaluate the lqUnjhlqŸka.

lqUnjhlqŸkkps foospd ijh{k.k djk-

Part B

(pfj;kfiVd)

5. Translate into English or Marathi (any two) : [10]

ejkBh fdaok baxzthe/;s Hkk"kkarj djk (dks.krsgh nksu) %

(1) ,oesokga iq¥¥kdkeks] fnLok [ksŸko:Ÿkea A

;fn rRFk dkja u djksfe] ukga iq¥¥ksu vfRFkdks AA

;Fkk vePpks eqfÌdkeks] j¥¥kks vUrsiqjs tus A

u nsfr rsla /ku/k¥¥ka] eqfÌrks ifjgk;fr AA
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(2) nnkfe u fodEikfe] ;a ea ;kpfUr czk„.kk A

lUra uIifrxwgkfe] nkus es jers euks AA

u es ;kpdeuqIirs] ifVD[ksiks vuqPNoks A

ek es fHkfTt leknkua] nLlkfe foiq«a xta AA

(3) mikslFkfEg fnols] pUna fnLoku iwfjra A

,rsla rRFk vkfpfD[ka] fnolks vTtqikslFkks AA

nkukfu ifV;knsFk] nfD[k.ks∏;Ll nkros A

nRok nkua nfD[k.ks∏;s] mioLlFkqikslFka AA

6. Explain with reference to the context any two : [10]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(1) vpsruk;a iFkoh] vfo¥¥kk; lq[ka nq[ka A

lk fi nkuc«k e∏ga] lŸkD[kŸkqa idEiFkk fr AA

(2) viqfPN ea iksfjlknks] fda Roa bPNfl fuLlTta A

;Fkkefr rs dkgkfe] ;fn es Roa iqusfgfl AA

(3) lkeks ;nk ous vkfla] lDdsu vfHkfufEerks A

ious lhgC;X?ks p] esŸkk;eqiukef;a AA

(4) lq[knqD[ks rq«kHkwrks] ;lslq v;lslq p A

lCcRFk ledks gksfe] ,lk es misD[kkikjehfi fr AA
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7. Write a detailed note on any one : [8]

dks.kR;kgh ,dkoj lfoLrj Vhi f«gk %

(1) dq#jktpfj;k

(2) ;q/k¥t;pfj;k A

8. Critically evaluate any one : [12]

dks.kR;kgh ,dkps foospd ijh{k.k djk %

(1) ;q/k¥t;oXx

(2) lh«ikjeh with reference to gfRFkukxoXx-

gfRFkukxoXxkP;k lanHkkZr lh«ikjeh-
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1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the concept of Impact, Incidence and Shifting of

Tax.

(ii) Explain the sources of External Debt.

(iii) Explain the nature of Budget.

(iv) State the concept of Gender Budget.

2. Write notes in 100 words each (any four) : [20]

(i) Scope of Public Finance.

(ii) Principles of Public Expenditure.

(iii) Objectives of Taxation.
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(iv) Types of Budget.

(v) Repayment methods of Public Debt.

(vi) Instruments of Fiscal Policy.

3. Answer the following questions in 200-250 words each

(any three) : [30]

(i) Explain the objectives of Deficit Financing.

(ii) Explain the difference between Public Finance and Private

Finance.

(iii) Explain the merits and demerits of Indirect Taxes.

(iv) What is Fiscal Policy ? Explain the objectives of Fiscal

Policy.

(v) Explain the steps in preparation and presentation of Central

Budget in India.

4. Answer the following questions in 500 words (any one) : [20]

(i) What is Public Expenditure ? Explain the causes increasing

public expenditure in India.

(ii) What is Finance Commission ? Explain in detail the

recommendations of 12th Finance Commission.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (QDr nksu) % [10]

(i) dj?kkr] djHkkj vkf.k djlaÿe.k ;k ladYiuk Li"V djk-

(ii) ck· dtZ mHkkj.khps ekxZ Li"V djk-

(iii) vankti=dkps Lo:i Li"V djk-

(iv) f«axk/kkfjr vankti=dkph ladYiuk lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) lkoZtfud vk;O;;kph O;kIrh-

(ii) lkoZtfud [kpkZph rRos-

(iii) djvkdkj.khph mfÌ"Vs-

(iv) vankti=dkps izdkj-

(v) lkoZtfud dtZ ijrQsMhps ekxZ-

(vi) jktdks"kh; /kksj.kkph lk/kus-
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3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) rqVhP;k vFkZHkj.;kph mfÌ"Vs Li"V djk-

(ii) lkoZtfud vk;O;; vkf.k [kktxh vk;O;; ;krh« Qjd Li"V djk-

(iii) vizR;{k djkps xq.k&nks"k Li"V djk-

(iv) jktdks"kh; /kksj.k Eg.kts dk; \ jktdks"kh; /kksj.kkph mfÌ"Vs Li"V djk-

(v) dsafÊ; vankti=d vk[k.kh vkf.k lknjhdj.k ;krh« VIis Li"V djk-

4. [kk«h« izðukph 500 ðkCnkr mŸkjs f«gk (QDr ,d) % [20]

(i) lkoZtfud [kpZ Eg.kts dk; \ Hkkjrkrh« lkoZtfud [kpZ ok<hph dkj.ks Li"V

djk-

(ii) foŸk vk;ksx Eg.kts dk; \ ckjkO;k foŸk vk;ksxkP;k fðkQkjðkh lfoLrj Li"V

djk-
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1. Answer the following questions in 50 words each (any two) : [10]

(1) State the importance of International Trade.

(2) State the gains from International Trade.

(3) State the merits of Devaluation.

(4) Explain the recent changes in the India’s Foreign Trade.

2. Write short notes in 100 words each (any four) : [20]

(1) Inter-regional trade.

(2) Intra-Industry trade.
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(3) Income terms of trade.

(4) Special Economic Zone (SEZ).

(5) World Bank.

(6) World Trade Organization and India.

3. Answer the following questions in 200-250 words each

(any three) : [30]

(1) Explain the critical evaluation of Ricardo’s theory of Comparative

Cost Advantages.

(2) Explain the ‘Trade is an Engine of Economic Development’.

(3) State the causes of disequilibrium of Balance of Payments.

(4) State the objectives and functions of I.M.F.

(5) Explain the measures adopted by the Government to correct

the deficit of India’s Balance of Payments after 1991.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the arguments in favour and against of Protected Trade

Policy.

(2) Explain the role of Multinational Corporations in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkarjjk"V™h; O;kikjkps egRo lkaxk-

(2) vkarjjk"V™h; O;kikjkiklwu feˇ.kkjs «kHk lkaxk-

(3) voeqY;ukps xq.k lkaxk-

(4) HkkjrkP;k fonsðkh O;kikjkrh« vf«dMh« dkˇkrh« cÌ« foðkn djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) vkarj&izknsfðkd O;kikj-

(2) vkarj&m|ksx O;kikj-

(3) mRiUu O;kikj ðkrhZ-

(4) foðks"k vkfFkZd {ks= (ls>)-

(5) tkxfrd c°d_

(6) tkxfrd O;kikj la?kVuk vkf.k Hkkjr-
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3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) fjdkMksZP;k rq«ukRed [kpZ «kHk flºkarkps fVdkRed ifj{k.k djk-

(2) ^O;kikj gk vkfFkZd fodklkps ;a=@baftu vkgs-* Li"V djk-

(3) O;ogkj rks«kP;k vlerks«kph dkj.ks lkaxk-

(4) vkarjjk"V™h; uk.ks fu/khps mfÌ"VÓs vkf.k dk;sZ lkaxk-

(5) 1991 uarj HkkjrkP;k O;ogkjrks«krh« rwV deh dj.;klkBh ljdkjus ;kst«s«s

mik; foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) lajf{kr O;kikj /kksj.kkP;k cktwps vkf.k fo#º cktwps ;qDrhokn foðkn djk-

(2) Hkkjrkrh« cgqjk"V™h; dai.;kaph Hkwfedk foðkn djk-
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1. Answer the following (any two) : [10]

(1) State the sources of primary data.

(2) State the types of research.

(3) Find the mode from the following series :

74, 62, 84, 72, 61, 83, 72, 81, 64, 72, 63, 61, 60, 72, 74, 66,

64, 72, 73, 75, 70, 69, 68, 72, 67.

(4) Solve :

5X = 50 \ X = ............. ?
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2. Answer the following (any two) : [10]

(1) What are the characteristics of a good report ?

(2) State the types of sampling.

(3) The population of a village is 2,25,000. The male-female ratio

is 3 : 2. Calculate the total male and female.

(4) Find the simple interest on Rs. 10,000 for 3 years at 5% rate

of interest.

3. Answer the following (any two) : [16]

(1) State and explain the types of classification of data.

(2) Explain in detail the importance of Tabulation of data.

(3) Find the compound interest on Rs. 20,000 for 4 years at

5% p.a.

(4) Calculate the Arithmetic mean from the following table :

X F

20 8

30 12

40 20

50 10

60 6

70 4
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4. Answer the following (any one) : [14]

(1) What is report writing ? Explain the steps of report writing.

(2) Calculate the median and mode from the following table :

Class Interval Frequency

0—10 10

10—20 13

20—30 12

30—40 20

40—50 5

50—60 10

(ejkBh :ikarj)

osˇ % nks rkl ,dw.k xq.k % 50

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs leiZd o eqÌslqn vlkohr-

(iv) dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(1) izkFkfed ekfgrhps lzksr lkaxk-
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(2) laðkks/kukps izdkj lkaxk-

(3) [kk«h« inekˇsP;k vk/kkjs cgq«d dk<k %

74, 62, 84, 72, 61, 83, 72, 81, 64, 72, 63, 61, 60, 72, 74, 66,

64, 72, 73, 75, 70, 69, 68, 72, 67.

(4) lksMok %

5X = 50 \ X = ............. ?

2. [kk«h« izðukaph mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(1) pkaxY;k vgok«kph oSfðk"Vs dks.krh \

(2) ueqU;kps izdkj lkaxk-

(3) ,dk [ksMÓkph «ksdla[;k 2,25,000 vkgs- fL=&iq#"k izek.k 3 : 2 vls vkgs

rj [ksMÓkrh« fL= o iq#"kkaph la[;k dk<k-

(4) 1,000 #- jDdesoj 3 o"kkZlkBh 5% njkus ljˇ O;kt dk<k-

3. [kk«h« izðukaph mŸkjs f«gk (dks.kR;kgh nksu) % [16]

(1) ekfgrhP;k oxhZdj.kkps izdkj lkaxk o Li"V djk-

(2) ekfgrhP;k lkj.khdj.kkps egRo lfoLrj foðkn djk-

(3) 20,000 #- jDdesps 4 o"kkZlkBh 5% nj lk«s nj ðksdMk njkus pÿok<

O;kt dk<k-
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(4) [kk«h« rDR;kP;k vk/kkjs vadxf.krh; ek/; (Arithmetic Mean) dk<k %

X f

20 8

30 12

40 20

50 10

60 6

70 4

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj f«gk % [14]

(1) vgok« «s[ku Eg.kts dk; \ vgok« «s[kukP;k ik;Ú;k Li"V djk-

(2) [kk«h« rDR;kP;k vk/kkjs e/;kad (Median) vkf.k cgq«d (Mode)

dk<k %

oxk±rj okjaokfjrk

0—10 10

10—20 13

20—30 12

30—40 20

40—50 5

50—60 10
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(iv) Use of calculator is allowed.

1. Solve any two of the following : [10]

(1) If

A = {a, b, c} and B = {b, c},

find A È B, A Ç B.

(2) A line 8 cm long is measured as 8.04 cm. What is the percentage

error ?

(3) Solve :

2 3 5

1 1y y y
+ =

− +
.

(4) Explain the basic concept of parameters and frequency distribution.
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2. Solve any four out of six : [20]

(1) The teacher at a certain college were asked how they travelled

to college one day, their replies recorded as below :

Walked—13, Cycled—08, By car—12, By train—02,

On horse—1.

Draw a bar diagram.

(2) The goals scored one Saturday by a sample of 54 football teams

were recorded as below :

Number of Goals Frequency

0 8

1 12

2 14

3 10

4 5

5 4

6 0

7 1

Draw cumulative frequency curves.

(3) Define and discuss classification and types of data.
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(4) Find the mean of the following :

X F

99 4

101 5

103 3

104 4

106.5 4

(5) What is the probability that a letter of the alphabet selected

at random is a vowel ?

(6) Define and discuss the terms—Standard Deviation and Mean

Deviation.

3. Solve any three of the following : [30]

(1) Use a matrix method to solve the following pair of simulteneous

equations :

3x + y = 0

x + 2y = 1.

(2) The marginal cost function of manufacturing x pair of shoe

is 6 + 10x – 6x2. The total cost of producing a pair of shoe

is Rs. 12. Find the total and average cost function.

(3) If quantity demanded qd = 90 – 0.05p and quantity supplied

qs = –12 + 0.8p. Calculate the equilibrium price and quantity,

if the price changes to Rs. 100. Calculate the change in demand.
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(4) Calculate the mean deviation for the following data :

Class f

2—4 3

4—6 4

6—8 2

8—10 1

(5) Derive the determinant of matrix :

2 5 9

A 4 8 3

1 7 4

 
 =
 
  

.

4. Solve any one of the following : [20]

(1) Explain each of the following methods and state for which

components of a time series is it used to estimate :

(i) Least square method

(ii) Moving average method

(iii) Semi-average method

(iv) Link relative method

(v) First difference method.
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(2) State the merits and demerits of each of the following :

(i) Arithmetic mean

(ii) Weighted mean

(iii) Geometric mean

(iv) Median

(v) Mode.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) mŸkjs leiZd o fcupwd vlkohr-

(iv) lk/kk dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok % [10]

(1) tj

A = {a, b, c} vkf.k B = {b, c}

rj A È B vkf.k A Ç B dk<k-

(2) 8 lsehph js"kk 8.04 lseh vðkh ekst«h xs«h- rj fdrh VDds pwd

>k«h \
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(3) lksMok %

2 3 5

1 1y y y
+ =

− +
.

(4) ijferh vkf.k okjaokfjrk foHkkx.kh ;kaph ewˇ ladYiuk foðkn djk-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok % [20]

(1) egkfo|k«;kr ;s.kkjh fo|kFkhZ egkfo|k«;kr dls vk«s ;kcÌ« ,dk izk/;kidkus

ekfgrh xksˇk ds«h vlrk] [kk«h« ekfgrh feˇk«h %

pk«rµ12, lk;d«usµ08, xkMhusµ12, vkxxkMhusµ02, ?kksMÓko:uµ01

;ko:u LraHkk«s[k dk<k-

(2) 54 QwVckWYlP;k la?kkaP;k ,d uewU;kpk ,dk ðkfuokjh vH;kl ds«k vlrk]

iq<h« vkdMsokjh fedkˇh %

ds«s«s xks« okjaokfjrk

0 8

1 12

2 14

3 10

4 5

5 4

6 0

7 1

;ko:u lapf;r okjaokfjrk oÿ dk<k-

(3) oxhZdj.k vkf.k rF;kaps izdkj ;kaph O;k[;k d:u ppkZ djk-
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(4) [kk«h« vkdMsokjho:u ljkljh dk<k %

X F

99 4

101 5

103 3

104 4

106.5 4

(5) baxzth v{kjkae/kwu ;n`PNsus ,[kkns v{kj mp««s] rj rs v{kj Eg.kts Loj vl.;kph

ðkD;rk fdrh vkgs] rs lkaxk-

(6) izekf.kr fop«u vkf.k ljkljh fop«u ;kaph O;k[;k d:u lfoLrj ekfgrh

f«gk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok % [30]

(1) ekf=dk (eWfV™Dl) iºr oki:u [kk«h« f}in lehdj.k lksMok %

3x + y = 0

x + 2y = 1.

(2) cqVkaps x tksM cuo.kkÚ;k O;olk;laLFkspk lhekUr [kpZ 6 + 10x – 6x2

vlk fn«s«k vkgs- laLFkspk ,dw.k [kpZ ,d cqVkph tksMh cuo.;kpk ,dw.k

[kpZ #- 12 vkgs- rj ljkljh vkf.k ,dw.k [kpZ Q«u dk<k-

(3) tj ekx.kh Q«u qd = 90 – 0.05p vkf.k i qjoBk Q«u

qs = –12 + 0.8p, rj lerks« fdaer vkf.k mRiknu dk<k- tj fdaer

100 #- >k«h rj ekx.khr gks.kkjk cn« ekstk-
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(4) [kk«h« vkdMsokjho:u ljkljh fop«u dk<k %

oxZ okjaokfjrk

2—4 3

4—6 4

6—8 2

8—10 1

(5) [kk«h fn«sY;k ekf=dsps fu/kkZj.k djk %

2 5 9

A 4 8 3

1 7 4

 
 =
 
  

.

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok % [20]

(1) dk«ekf«dsP;k dks.kR;k ?kVdklkBh [kk«h« iºrh mi;ksxh iMrkr rs Li"V

djk %

(i) fdeku oxZ iºr

(ii) cn«rh ljkljh iºrh

(iii) mikUR; ljkljh iºrh

(iv) lk[kˇh lkis{k iºrh

(v) izFke Qjd iºrh-

(2) [kk«h fn«sY;k izR;sdkps xq.k o nks"k lkaxk %

(i) xf.krh e/;

(ii) Hkwferh e/;

(iii) Hkkfjr e/;

(iv) e/;dk

(v) cgq«d-
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T.Y. B.A. EXAMINATION, 2011

POLITICS (G-3)

General Paper III

(India and the World)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Objectives of Indian Foreign Policy.

(2) India’s Non-Alignment Policy.

(3) National Security.

(4) World Trade Organization (WTO).

2. Attempt any four questions (in 100 words each) : [20]

(1) Indo-China-Border Issue.

(2) Peaceful Nuclear.

(3) Salient features of Disarmament.

(4) New Economic Order.

(5) International Court.

(6) Salient features of Non-alignment movement.
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3. Attempt any three questions (in 200 to 250 words each) : [30]

(1) Discuss whether “The Non-Alignment is outdated”.

(2) Discuss the “Kashmir Issue” (Problems).

(3) Explain the India’s role in C.T.B.T.

(4) Explain the causes of Terrorism.

(5) Explain the India and U.S.A. relations.

4. Attempt any one question (in 500 words) : [20]

(1) Explain the salient features of India’s Foreign Policy.

(2) Discuss the impact on India of New Economic Order.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðui=hdk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) Hkkjrh; ijjk"V™h; /kksj.kkph mfÌ"VÓs-

(2) Hkkjrkps vf«Irrkoknh /kksj.k-

(3) jk"V™h; lqj{kk-

(4) tkxfrd O;kikj la?kVuk (WTO).
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2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(1) Hkkjr&phu lhek okn-

(2) ðkkarrslkBh v.kw-

(3) fu%ðkL=hdj.kkph Bˇd oSfðk"VÓs-

(4) uos vkfFkZd /kksj.k-

(5) vkarjjk"V™h; U;k;k«;-

(6) vf«Irrkoknh pˇoˇhps Bˇd oSfðk"VÓs-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) ^^vf«Irrkoknh /kksj.k dkˇck· >k«s vkgs-** ppkZ djk-

(2) dkðehj izðukph ppkZ djk-

(3) C.T.B.T. P;k lanHkkZr Hkkjrkph Hkwfedk foðkn djk-

(4) ngðkroknkph dkj.ks Li"V djk-

(5) Hkkjr o vesfjdk laca/k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; ijjk"V™h; /kksj.kkph oSfðk"VÓs Li"V djk-

(2) uohu vkfFkZd /kksj.kkpk Hkkjrkoj >k«sY;k ifj.kkekaph ppkZ djk-
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(International Organisation)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Meaning of International Organizations.

(2) Nature of United State.

(3) Nature of Collective Security.

(4) World Trade Organization.

2. Attempt any four questions (in 100 words each) : [20]

(1) Nuclear Non-Proliferation Treaty (N.P.T.).

(2) World Peace.

(3) Centrality of Nation-State.

(4) Objectives of GATT.

(5) Terrorism.

(6) Significance of ASEAN.

3. Attempt any three questions (in 200 to 250 words each) : [30]

(1) Explain the UNO’s importance of International Central Power.

(2) Explain the Disarmament Commission.
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(3) Explain the functions of I.M.F. (International Monetary Fund).

(4) Explain the importance of International NGO.

(5) Explain the objectives of SAARC.

4. Attempt any one question (in 500 words) : [20]

(1) Explain the functions of International Atomic Energy Agency.

(2) Discuss the changing role of International Organizations and

their challenges.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðui=hdk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) vkarjjk"V™h; la?kVukapk vFkZ-

(2) la;qDr jk"V™la?kkps Lo:i-

(3) lkeqfgd lqjf{krrsps Lo:i-

(4) tkxfrd O;kikj la?kVuk-
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2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkr f«gk % [20]

(1) v.oL=izlkjcanh djkj (N.P.T.).

(2) tkxfrd ðkkarrk-

(3) jk"V™jkT;kaps dsaÊhdj.k-

(4) xWVph (GATT) mfÌ"VÓs.

(5) ngðkrokn-

(6) vkfl,ups egRo (ASEAN).

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(1) vkarjjk"V™h; e/;orhZ lŸkk Eg.kwu ;quksps egRo foðkn djk-

(2) fu%ðkL=hdj.k vk;ksx Li"V djk-

(3) vkarjjk"V™h; uk.ksfu/khps dk;Z lkaxk-

(4) vkarjjk"V™h; fcxjðkklfd; laLFkkps egRo Li"V djk-

(5) lkdZph mfÌ"VÓs Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) vkarjjk"V™h; v.kwðkDrh laLFksps (IAEA) dk;Z foðkn djk-

(2) vkarjjk"V�™h; la?kVukaph cn«rh Hkwfedk vkf.k R;kaP;k iq<h« vkOgkus ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

POLITICS

Special Paper III

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Historical Approach

(2) Lokpal

(3) Span of Control

(4) Functions of Planning Commission.

2. Write short notes in 100 words each (any four) : [20]

(1) Types of Staff Agencies

(2) Nature of Public Policy

(3) Merits of Administrative Tribunals

(4) Methods of Training

(5) System Approach

(6) Nature of Management.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) What is Management ? State the functions of Management.

(2) Give the meaning of the term ‘Recruitment’. State the kinds

of Recruitment.

(3) Define Delegated Legislation. Discuss the causes for the growth

of Delegated Legislation.

(4) Explain the role of NGO’s in framing Public Policy.

(5) What is Department ? Mention the bases of department.

4. Answer any one question in 500 words : [20]

(1) Explain the nature, scope and importance of Public

Administration.

(2) What is Budget ? Discuss the budgetary process in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) ,sfrgkfld n`f"Vdksu

(2) «ksdik«

(3) fu;a=.k d{kk

(4) fu;kstu vk;ksxkph dk;sZ-
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2- dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) lY«kxkj (LVkQ) ?kVdkps izdkj

(2) lkoZtuhd /kksj.kkps Lo:i

(3) izðkkldh; U;k;kf/kdj.kkps xq.k

(4) izfðk{k.kkP;k iºrh

(5) O;oLFkk n`f"Vdksu

(6) O;oLFkkiukps Lo:i-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(1) O;oLFkkiu Eg.kts dk; \ O;oLFkkiukph dk;sZ lkaxk-

(2) ^Hkjrh* ;k laKspk vFkZ f«gk- Hkjrhps izdkj lkaxk-

(3) iznŸk fof/kfu;ekph O;k[;k |k- iznŸk fof/kfu;ekP;k ok<hP;k dkj.kkaph ppkZ

djk-

(4) lkoZtuhd /kksj.k cufo.;kr fcxj&ðkkldh; laLFkkph Hkwfedk Li"V djk-

(5) [kkrs Eg.kts dk; \ [kkR;kps vk/kkj lkaxk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) «ksd izðkklukps Lo:i] O;kIrh vkf.k egRo Li"V djk-

(2) vankti=d Eg.kts dk; \ Hkkjrkrh« vankti=dh; izfÿ;kaps o.kZu djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-332

T.Y. B.A. EXAMINATION, 2011

POLITICS

Special Paper IV

(Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Bhudan

(2) Syndicalism

(3) Types of Equality

(4) Neo-liberal concept of state.

2. Write short notes in 100 words each (any four) : [20]

(1) Nature of Authority

(2) Progressive Nationalism

(3) Constructive works in Sarvodaya

(4) Types of liberty

(5) Democratic Socialism in India

(6) Meaning of Feminism.



[4001]-332 2

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) Max Weber’s classification of Authority.

(2) Bases of Political Obligation.

(3) Features of Sarvodaya Society.

(4) Discuss features, 2 merits and 2 demerits of Guild Socialism.

(5) Give liberal perspectives of feminism.

4. Answer any one question in 500 words : [20]

(1) Define the terms ‘Power’ and ‘Authority’. Explain relationship

between Power and Authority.

(2) Define the term ‘Democratic Socialism’. Explain various principles

of Democratic Socialism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) Hkwnku

(2) Jfed la?kokn

(3) lersps izdkj

(4) uo&mnkjeroknh jkT;-
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2- dks.kR;kgh pkjoj FkksMD;kr fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) vf/klŸksps Lo:i

(2) izkxfrd jk"V™okn

(3) loksZn;krh« fo/kk;d dk;sZ

(4) Lokra´;kps izdkj

(5) Hkkjrkrh« «ksdðkkgh lektokn

(6) ^L=h*oknkpk vFkZ lkaxk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(1) eWDl oscj vf/kdkjkps oxhZdj.k-

(2) jktdh; vkca/kukps fofo/k vk/kkj-

(3) loksZn;h lektkph oSfðk"VÓs-

(4) O;olk; la?koknkph oSfðk"VÓs] 2 xq.k vkf.k 2 nks"k lkaxk-

(5) ^L=hoknkpk* mnkjeroknh n`"Vhdksu lkaxk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ^lŸkk* vkf.k ^vf/klŸkk* ;k ladYiukaP;k O;k[;k f«gk- lŸkk vkf.k vf/klŸkk

;krh« ijLijlaca/k Li"V djk-

(2) ^«ksdðkkgh lektoknkph* O;k[;k f«gk- «ksdðkkgh lektoknkph fofo/k rRos

Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

HISTORY

General Paper III

[History of the Marathas (1630-1818)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of ‘Swarajya’.

(2) What is meant by ‘Guerilla Warfare’ ?

(3) Explain the term ‘Chauth’.

(4) What is meant by ‘Upare’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Shiv Bharat

(2) Maharashtra Dharma

(3) Treaty of Purandar (1665)

(4) Maratha Confederacy

(5) Duties and rights of Kotawal

(6) Shahiri Literature under Peshwa.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) State the Historical significance of Bhakti Movement.

(2) Explain the contribution of Chh. Sambhaji Maharaj in Maratha

History.

(3) Explain the nature and salient features of Council of Eight

Ministers.

(4) State the factors responsible for the decline and fall of Maratha

Power.

(5) Explain the nature of central and provincial administration

under the Peshwa.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the nature and significance of Maratha War of

Independence.

(2) State the social and religious life under the Marathas and

explain its salient features.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^LojkT;* gh ladYiuk Li"V djk-
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(2) ^xfueh dkok* Eg.kts dk; \

(3) ^pkSFk* (pkSFkkbZ) gh ladYiuk Li"V djk-

(4) ^mijs* Eg.kts dk; \

2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) fðkoHkkjr

(2) egkjk"V™ /keZ

(3) iqjanjpk rg (1665)

(4) ejkBk eaMˇ

(5) dksrok«kps vf/kdkj o drZO;

(6) isðkosdk«hu ðkkfgjh ok≥~e;-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) HkDrh pˇoˇhps ,sfrgkfld egRo lkaxk-

(2) ejkBÓkaP;k bfrgklkrh« N=irh laHkkthegkjkt ;kaps ;ksxnku Li"V djk-

(3) v"Viz/kku eaMˇkps Lo:i o oSfðk"VÓs Li"V djk-

(4) ejkBh lŸksP;k irukl dkj.khHkwr Bj«s«s ?kVd lkaxk-

(5) isðkosdk«hu dsaÊh; o izkafr; izðkklukps Lo:i Li"V djk-

4- [kk«h« izðukps 500 ðkCnkr mŸkj f«gk (dks.krkgh ,d) % [20]

(1) ejkBÓkaP;k Lokra´; ;qºkps Lo:i o egRo Li"V djk-

(2) ejkBsdk«hu lkekftd o /kkfeZd thou lkaxwu R;kph oSfðk"BÓs Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper III

[History of Medieval India (1206-1707 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the experiment of Muhammed-Bin-Tughluq to change

the capital.

(2) What is meant by ‘Sufism’ ?

(3) Describe the cloth industry during the Mughal Period.

(4) Discuss the Literature in the Mughal Period.

2. Write short notes in 100 words each (any four) : [20]

(1) Feudalism

(2) Theory of kingship of Sultan Balban

(3) Muhammed Gawan

(4) Importance of Second Battle of Panipat

(5) Social structure during the Mughal Period.

(6) Position of women during the Mughal Period.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Evaluate the achievements of Sultan Iltutmish.

(2) Review the economic life in the Sultanate.

(3) Examine the achievements of Babur as the founder of Mughal

Empire.

(4) State the nature of Mansabdari system. Explain its merits and

demerits.

(5) Review the economic life during the Mughal Period.

4. Answer the following question in 500 words (any one) : [20]

(1) Discuss the economic reforms of Sultan Ala-ud-din Khalji.

(2) Review the Art and Architecture during the Mughal Period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) lq«rku eqgEen&fcu&rq?k«dkpk jkt/kkuh cn«.;kpk iz;ksx Li"V djk-

(2) ^lqQh>e* Eg.kts dk; \

(3) eq?k«dk«hu dkiM mnÓksxkps o.kZu djk-

(4) eq?k«dk«hu lkfgR;kph ppkZ djk-
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2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) ljatkeðkkgh

(2) lq«rku cYcupk jktinkpk flºkar

(3) eqgEen xoku

(4) nqlÚ;k ikuhir «<kbZps egRo

(5) eq?k«dk«hu lekt jpuk

(6) eq?k«dk«hu fL=;kaph fLFkrh-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lq«rku vYreðkP;k dkefxjhps ifj{k.k djk-

(2) lq«rkuðkkghrh« vkfFkZd thoukpk vk<kok ?;k-

(3) eq?k« lkezkT;kpk laLFkkid ;k ukR;kus ckcjP;k dkefxjhps eqY;ekiu djk-

(4) eulcnkjh iºrhps Lo:i lkaxwu frps xq.k&nks"k Li"V djk-

(5) eq?k«dk«hu vkfFkZd thoukpk vk<kok ?;k-

4- [kk«h« izðukpk 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) lq«rku v«k≈Ìhu f[k«thP;k vkfFkZd lq/kkj.kkaph ppkZ djk-

(2) eq?k«dk«hu d«k vkf.k LFkkiR;d«spk vk<kok ?;k-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[4001]-335

T.Y. B.A. EXAMINATION, 2011

HISTORY

Special Paper IV

[History of Transformation in Modern

Maharashtra (1818-1960)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Write in brief the revolt under Umaji Naik.

(2) Write a short note on the “Depressed class mission”.

(3) Discuss in brief the contribution of Dr. Punjabrao Deshmukh

to the Education.

(4) Explain in brief the “Commercialization of Agriculture”.

2. Write short notes in 100 words each (any four) : [20]

(1) Foundation of the “Swarajya”

(2) Social impact of the British Administration

(3) “Akola Pact”

(4) Non-Brahmin Movement in Maharashtra

(5) Economic impacts of the Ryotwari system

(6) Social changes and the Marathi Literature.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Review the social contribution of the “Bhakti Movement”.

(2) Review the Extremist phase of the National Movement.

(3) Explain the contribution of the “Satyashodhak Samaj” in the

struggle for equality.

(4) Review the Workers Movement in Modern Maharashtra.

(5) Discuss the rise and growth of Marathi novels.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss in detail the experiments in National Education in

19th Century.

(2) Discuss the contribution of Dr. Babasaheb Ambedkar in the

struggle for equality.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) mekth ukbZd ;kaP;k usr`Rok[kk«h« mBkokph FkksMD;kr ekfgrh nÓk-

(2) FkksMD;kr fVi f«gk µ ^fMizsLM D«kl feðku*-

(3) MkW- iatkcjko nsðkeq[k ;kaps fðk{k.k{ks=krh« ;ksxnkukph FkksMD;kr ppkZ djk-

(4) FkksMD;kr Li"V djk µ ðksrhps O;kikjhdj.k-
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2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) LojkT;kph LFkkiuk

(2) fczVhðk izðkklukaps lkekftd ifj.kke

(3) vdks«k djkj

(4) egkjk"V™krh« czk„.ksrj pˇoˇ

(5) j;rokjh iºrhps lkekftd ifj.kke

(6) lkekftd cn« vkf.k ejkBh lkfgR;-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) HkDrh pˇoˇhP;k lkekftd ;ksxnkukpk vk<kok ?;k-

(2) jk"V™h; pˇoˇhrh« tgk« dk«[kaMkpk vk<kok ?;k-

(3) lersP;k «<Óke/kh« lR;ðkks/kd lektkps ;ksxnku Li"V djk-

(4) vk/kqfud egkjk"V™krh« dkexkj pˇoˇhpk vk<kok ?;k-

(5) ejkBh dknacjhpk mn; vkf.k fodkl ;koj ppkZ djk-

4- [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) 19O;k ðkrdkrh« jk"V™h; fðk{k.kke/kh« iz;ksxkaph lfoLrj ppkZ djk-

(2) lersP;k «<Óke/kh« MkW- ckcklkgsc vkacsMdj ;kaP;k ;ksxnkukph ppkZ djk-
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[4001]-335

(History of Modern China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the importance of Taiping Rebellion.

(2) Explain the ‘New Economic Policy’ of China in 1961.

(3) State the provisions of Aglo-Japanese Alliance (1902).

(4) What is meant by economic Resurgence ?

2. Write short notes in 100 words each (any four) : [20]

(1) May Fourth Movement

(2) Tung-Meng-Hui

(3) ‘Zaibastu’

(4) Comodor Peri

(5) Rome-Berlin-Tokyo Axis

(6) Washington Conference.

3. Answer the following questions in 250 words each (any three) : [30]

(1) State the causes of Opium War in China.
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(2) Explain the causes of Russo-Japanese War of 1904-05.

(3) Explain the political philosophy of Dr. Sun-Yat-Sen.

(4) Review the Agricultural reforms in China.

(5) State the causes for the rise of Militarism in Japan.

4. Answer any one of the following questions in 500 words : [20]

(1) Review the conflict between Chung-Kai-Shake and Mao-Tse-Tung.

(2) Evaluate the role played by Gen. MacArthur in the

reconstruction of Japan.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) rk;fiax mBkokps egRo lkaxk-

(2) fpue/kh« uos vkfFkZd /kksj.k (1961) Li"V djk-

(3) baX«aM&tiku djkjkrh« (1902) rjrqnh lkaxk-

(4) vkfFkZd iqu#RFkku Eg.kts dk; \

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) pkj es ph pˇoˇ
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(2) rqax&feax&gqbZ

(3) >ScRlq

(4) deksMksj isjh

(5) jkse&cf«Zu&Vksfdvks v{k

(6) okWfðkaXVu ifj"kn-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) phue/kh« vQqP;k ;qºkph dkj.ks lkaxk-

(2) 1904&05 P;k jfðk;k&tiku ;qºkph dkj.ks Li"V djk-

(3) MkW- lu~&;r~&lsu ;kaps jktdh; rRoKku Li"V djk-

(4) phue/kh« œ"khfo"k;d lq/kkj.kkapk vk<kok ?;k-

(5) tikue/kh« «"djoknkP;k mn;kph dkj.ks lkaxk-

4- [kk«h«iSdh dks.krkgh ,d izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) p°x&dkbZ&ðksd vkf.k ekvks&Rls&rqax ;kaP;k la?k"kkZpk vk<kok ?;k-

(2) tikuP;k iqujZpuse/kh« tuj« eWdvkFkZjus ctko«sY;k Hkwfedsps eqY;ekiu

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-336

T.Y. B.A. EXAMINATION, 2011

ANTHROPOLOGY (Gen.)

(Maharashtra — A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) What is peasant movement ?

(2) State the cultural history of Maharashtra.

(3) What is the status of Industrialization in Maharashtra ?

(4) Explain the term ‘Ethnic Plurality’.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Ek Gaon Ek Panavatha

(2) Maharashtra Dharma

(3) Leni

(4) Political Movement of Lokmanya Tilak

(5) Dalit Panther

(6) Marathi Language.
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3. Answer any three of the following in 250 words each : [30]

(1) Explain the importance of Vidarbha as a cultural region.

(2) What is the cultural importance of Tamasha and Lavani ?

(3) Explain the importance of Balutedari in Economic life of

Maharashtra.

(4) What is the importance of Right to Information Act ?

(5) Describe the revolutionary movement of V.D. Savarkar.

4. Answer any one of the following in 500 words : [20]

(1) Explain the role of Saint Dnyaneshwar and Ramdas in Cultural

life of Maharashtra.

(2) Discuss the contribution of Karmaveer Bhaurao Patil and Mahatma

Phule to the educational movement of Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) ðksrdjh pˇoˇ Eg.kts dk; \

(2) egkjk"V™kpk lkaLœfrd bfrgkl FkksMD;kr lkaxk-

(3) egkjk"V™krh« vkSnÓksfxdj.kkpk ntkZ dlk vkgs \

(4) okafðkd fofo/krk ;kpk vFkZ Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(1) ,d xko ,d ik.koBk

(2) egkjk"V™ /keZ

(3) «s.kh

(4) «ksdekU; fVˇdkaph jktdh; pˇoˇ

(5) nf«r i°Fkj

(6) ejkBh Hkk"kk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) ,d lkaLœfrd foHkkx Eg.kwu fonHkkZps egRo Li"V djk-

(2) rekðkk vkf.k «ko.khps lkaLœfrd egRo dk; vkgs \

(3) egkjk"V™kP;k vkfFkZd thoukrh« c«qrsnkjh iºrhps egRo lkaxk-

(4) ekfgrhpk vf/kdkj dk;nÓkps egRo dk; vkgs \

(5) fo- nk- lkojdjkaph ÿkarhdkjh pˇoˇ Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) lar Kkus‹oj vkf.k jkenkl ;kaph egkjk"V™kP;k lkaLœfrd thoukrh« Hkqfedk

Li"V djk-

(2) deZohj Hkk≈jko ikVh« vkf.k egkRek Qq«s ;kaP;k egkjk"V™kP;k jktdh; pˇoˇhrh«

;ksxnkukph ppkZ djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

[4001]-337

T.Y. B.A. EXAMINATION, 2011

GEOGRAPHY (G-3)

(Gg-310 : Geography of Travel and Tourism)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) Define Tourism.

(2) What do you mean by Adventure Tourism ?

(3) What do you mean by National Park ?

(4) Name any two waterfalls of India that attract the tourists.

(5) State the two advantages of air transport.

(6) Give any two characteristics of the domestic tourist.

(7) Mention any two environmental impacts of tourism.

(8) What do you mean by the regional level tourism planning ?

(9) Give the full form of M.T.D.C.

(10) Name any two historical centres of Maharashtra.
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(11) State any two effects of tourism on the culture of the local

people at the tourist place.

(12) Name the physical factors, that are considered while evaluating

the tourism-potentials of the region.

(13) What are the main attractions of ‘Kaziranga’ ?

2. Write notes in about 50 words each (any two) : [10]

(1) Hill Station

(2) House Boats

(3) Crime and Gambling at the tourist places

(4) Beach resorts.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Explain the cultural factors that affect tourism.

(2) Explain, how the relief, climate and vegetation affect the

tourism.

(3) Write a note on the local-level tourism planning.

(4) Write a note on the tourism policies of Maharashtra.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Explain the importance of Tourism.
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(2) Explain the role of tourist guides and tourist agencies in

tourism.

(3) Write a note on the wildlife sanctuaries of India.

(4) Describe ‘Janjira’ as a tourist place.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) i;ZVukph O;k[;k |k-

(2) lkglh i;ZVu Eg.kts dk; \

(3) jk"V™h; m|ku Eg.kts dk; \

(4) i;ZVdkauk vkdf"kZr dj.kkjs Hkkjrkrh« dks.krsgh nksu /kc/kcs lkaxk-

(5) gokbZ okgrwdhps nksu Qk;ns lkaxk-

(6) nsðkh i;ZVdkph dks.krhgh nksu oSfðk"VÓs lkaxk-

(7) i;ZVukps dks.krsgh nksu i;kZoj.kh; ifj.kke lkaxk-

(8) izknsfðkd Lrjkojh« i;ZVu fu;kstu Eg.kts dk; \

(9) M.T.D.C. ps iw.kZ :i lkaxk-

(10) egkjk"V™krh« dks.krhgh nksu ,sfrgkfld fBdk.ks lkaxk-
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(11) i;ZVuLFkˇh vl«sY;k LFkkfud «ksdkaP;k laLœrhoj i;ZVukps gks.kkjs dks.krsgh

nksu ifj.kke lkaxk-

(12) iznsðkkph i;ZVu{kerk vH;klrkuk fopkjkr ?;kos «kx.kkjs izkœfrd ?kVd lkaxk-

(13) ^dkf>jaxk* ;k fBdk.kkph izeq[k vkd"kZ.ks dks.krh \

2- izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.kR;kgh nksu) % [10]

(1) fxjhLFkkus

(2) ukSdkx`gs

(3) i;ZVuLFk«h vk<ˇ.kkjh xqUgsxkjh o tqxkj

(4) lkxjfdukÚ;kojh« i;ZVuLFk«s-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) i;ZVukoj ifj.kke dj.kkjs lkaLœfrd ?kVd Li"V djk-

(2) Hkw:is] gokeku vkf.k ouLirh ;kapk i;ZVukoj dlk ifj.kke gksrks rs Li"V

djk-

(3) LFkkfud ikrˇhojh« i;ZVu fu;kstu ;koj Vhi f«gk-

(4) egkjk"V™kph i;ZVufo"k;d /kksj.ks ;koj Vhi f«gk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) i;ZVukps egRo Li"V djk-

(2) i;ZVd&okjkMÓk o i;ZVu&izofrZdk ;kaph i;ZVukrh« Hkwfedk Li"V djk-

(3) Hkkjrkrh« vHk;kj.;s ;koj Vhi f«gk-

(4) ^tathjk* ;k fBdk.kkps i;ZVuLFk« Eg.kwu o.kZu djk-
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[4001]-337

(Gg-310 : Geography of Tropical Agriculture)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) Define Agricultural Geography.

(2) What is meant by land fragmentation ?

(3) Explain the term ‘shifting cultivation’.

(4) Give two advantages of dairy farming.

(5) What is meant by sprinkler irrigation ?

(6) Give two objectives of watershed management.

(7) State any two problems of Indian Agriculture.

(8) State the two sub-types of subsistence farming.

(9) What is meant by tissue culture ?

(10) What is meant by corporate farming ?

(11) What is wasteland development ?

(12) What is the meaning of group farming ?

(13) Name any two states for dryland farming in India.
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2. Write notes on the following in about 50 words each

(any two) : [10]

(1) Agricultural Marketing

(2) Dairy farming

(3) Bee keeping activity

(4) Shifting cultivation.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Disadvantages of over-irrigation.

(2) Characteristics of mixed farming.

(3) Corporate and precision farming.

(4) Explain in detail the methods used for irrigation.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Describe the impact of physical factors on agriculture.

(2) Explain the nature, scope and significance of Agricultural

Geography.

(3) State the characteristics and problem of commercial cultivation.

(4) Green Revolution in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) œ"kh Hkwxks«kph O;k[;k f«gk-

(2) tehu foHkktu (rqdMhdj.k) Eg.kts dk; \

(3) ĤkVdh ðksrh* laKk Li"V djk-

(4) nqX/k ðksrhps nksu Qk;ns lkaxk-

(5) rq"kkj flapu Eg.kts dk; \

(6) ik.k«ksV{ks= O;oLFkkiukph nksu mÌh"VÓs lkaxk-

(7) Hkkjrh; ðksrhP;k dks.kR;kgh nksu leL;k f«gk-

(8) fuokZgh ðksrhps dks.krsgh nksu miizdkj lkaxk-

(9) ^≈frlao/kZu* Eg.kts dk; \ Li"V djk-

(10) dkiksZjsV Qkfe±x Eg.kts dk; \ Li"V djk-

(11) mtkM&vkslkM Hkweh fodkl Eg.kts dk; \

(12) x̂V ðksrh* Eg.kts dk; \

(13) Hkkjrkrh« dksjMÓk iznsðkkrh« ðksrh [kk«h« nksu jkT;kaph ukos lkaxk-

2- izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.kR;kgh nksu) % [10]

(1) œ"kh foi.ku

(2) nqX/k ðksrh

(3) e/kqef{kdk ik«u m|ksx

(4) HkVdh ðksrh-
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3- [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) vfr t«flapukps rksVs lkaxk-

(2) feJ ðksrhph oSfðk"VÓs lkaxk-

(3) dkiksZjsV Qkfe±x vkf.k dkVsdksji.ks&pks[k iºrhph ðksrh Li"V djk-

(4) t«flapukP;k iºrh lfoLrj f«gk-

4- [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ðksrhoj ifj.kke dj.kkÚ;k izkœfrd ?kVdkaph lfoLrj ekfgrh nÓk-

(2) œf"k Hkwxks«kps Lo:i] O;kIrh o oSfðk"VÓs lkaxk-

(3) O;kikjh ðksrhph oSfðk"VÓs o leL;k lkaxk-

(4) Hkkjrkrh« gfjr ÿkarh-
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T.Y. B.A. EXAMINATION, 2011

GEOGRAPHY (S-3)

(Gg-320 : Fundamental Concepts in Geography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) Give any two characteristics of a CBD.

(2) Name the principle introduced by Carl Ritter.

(3) What is meant by determinism ?

(4) Name the factors affecting cost of production of a product.

(5) Differentiate between frontier and boundary.

(6) Name the stages of Davis’ cycle of erosion.

(7) What is the meaning of a rural-urban fringe ?

(8) What is CBR and CDR ?

(9) What are the elements of weather ?

(10) Give two assumptions of the Von Thunen model of landuse.
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(11) Name the branches of Physical Grography.

(12) Name two Greek scholars who contributed to Geographical thought.

(13) What is the meaning of ‘take-off stage’ ?

2. Write notes on the following in about 50 words each

(any two) : [10]

(1) Regional Geography

(2) Contribution of Ptolemy

(3) Consequences of sea level changes

(4) Sustainable development.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Explain the contribution of Al-Masudi and Emmanuel Kant.

(2) Explain the problems of the rural-urban fringe of a city.

(3) Explain the theory of Industrial location by Weber.

(4) What are the characteristics of a CBD ? Explain the

concept.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Compare Systematic and Regional Geography.
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(2) Explain the Demographic Transition Theory and give its

limitations.

(3) Give the internal and external causes of climate change.

(4) Explain the measures of economic development.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) lh- ch- Mh- ph dks.krhgh nksu oSfðk"VÓs lkaxk-

(2) dk«Z fjVjus ekaM«s«s rRo lkaxk-

(3) fulxZokn Eg.kts dk; \

(4) oLrwP;k mRiknu [kpkZoj ifj.kke dj.kkjs ?kVd lkaxk-

(5) vk?kkMh o lhek ;krh« Qjd lkaxk-

(6) MsfOglP;k {kj.k pÿke/kh« VIis f«gk-

(7) v/kZukxjh {ks= Eg.kts dk; \

(8) <kscˇ tUenj o <kscˇ e`R;qnj Eg.kts dk; \

(9) gokekukps ?kVd lkaxk-

(10) OgkWu FkquuP;k Hkweh mi;kstu izk:ikph nksu x`ghrRos lkaxk-
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(11) izkœrhd Hkwxks«kP;k ðkk[kkaph ukos f«gk-

(12) HkkSxks«hd fopkjiz.kk«h e/;s ;ksxnku ns.kkÚ;k nksu xzhd vH;kldkaph ukos

f«gk-

(13) ^mÏk.k voLFkk* Eg.kts dk; \

2- [kk«h« izðukaph izR;sdh lqekjs 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) izknsfðkd Hkwxks«

(2) Vks«esps udkðkk r;kj dj.;ke/;s ;ksxnku

(3) lkxj ikrˇhrh« cn«kps ifj.kke

(4) ðkkðor fodkl-

3- [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) v«&elqnh vkf.k beWU;qv« dkaV ;kaps ;ksxnku Li"V djk-

(2) v/kZukxjh iznsðkkP;k leL;k Li"V djk-

(3) oscjpk m|ksx/kanÓkaP;k LFkkufufðprhpk flºkar Li"V djk-

(4) lh- ch- Mh- ph xq.koSfðk"VÓs dks.krh \ ladYiuk Li"V djk-

4- [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) lq=cº o izknsfðkd Hkwxks«krh« rq«uk-

(2) «ksdla[;k laÿe.k flºkar Li"V djk o R;kaP;k e;kZnk lkaxk-

(3) gokeku cn«kph varxZr o cfgxZr dkj.ks lkaxk-

(4) vkfFkZd fodklkph ifjek.ks Li"V djk-
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(Gg-320 : Contemporary Issues and Geography)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) What is meant by a cyclone ?

(2) Name the types of weathering.

(3) Give two causes of landslides.

(4) Name the greenhouse gases.

(5) What is a non-renewable resource ?

(6) What are the effects of forest fires ? (Write any two.)

(7) Name the sources of water pollution.

(8) What is the full form of HIV/AIDS ?

(9) Give any two factors affecting erosion.

(10) Name two types of unemployment.

(11) What is ozonosphere ?

(12) What is the meaning of ‘La Nina’ ?

(13) Give two examples of epidemics in Maharashtra.
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2. Write notes on the following in about 50 words each

(any two) : [10]

(1) Chemical weathering

(2) Non-conventional energy resources

(3) Marine pollution

(4) Effects of deforestation.

3. Answer the following questions in about 150 words each

(any two) : [20]

(1) Causes and remedies of farmers suicides in Maharashtra.

(2) Causes and effects of floods.

(3) Global warming and climate change.

(4) Causes and problems of infiltration in India.

4. Answer the following questions in about 300 words each

(any two) : [30]

(1) Causes and effects of urbanization.

(2) Renewable and non-renewable resources.

(3) Causes and effects of Tsunamis.

(4) Impact of globalisation in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ;ksX; R;k fBdk.kh lqcd vkœR;k o udkðks dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) vkorZ okjs Eg.kts dk; \

(2) fonkj.kkps izdkj dks.krs \ ukos f«gk-

(3) Hkwehikrkph nksu dkj.ks nÓk-

(4) ^gfjrx`g* ok;wph ukos lkaxk-

(5) viquZfodj.kh; lk/kulaiŸkh Eg.kts dk; \

(6) ouvkxhaps (o.kos) ifj.kke dks.krs \ (dks.krsgh nksu lkaxk-)

(7) t« iznw"k.kkP;k Úksrkph ukos lkaxk-

(8) HIV/AIDS ps iq.kZ :i dk; \

(9) fonkj.kk«k izHkkfor dj.kkjs dks.krsgh nksu ?kVd-

(10) csjkstxkjhP;k nksu izdkjkaph ukos lkaxk-

(11) vks>ksukacj Eg.kts dk; \

(12) «k&uhuk pk vFkZ dk; \

(13) egkjk"V™krh« lkFkhP;k jksxkaph nksu ukos lkaxk-

2- [kk«h« izðukaph izR;sdh lqekjs 50 ðkCnkar Vhik f«gk (dks.krsgh nksu) % [10]

(1) jklk;uhd fonkj.k

(2) vikjaikjhd mtkZlk/kus

(3) lkxjh iznq"k.k

(4) fuoZuhdj.kkps ifj.kke-
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3- [kk«h« izðukaph izR;sdh lqekjs 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) egkjk"V™krh« ðksrdjh vkRegR;sph dkj.ks o mik;;kstuk lkaxk-

(2) iwjkph dkj.ks o ifj.kke lkaxk-

(3) oSfðod rieku ok< o gokeku cn«-

(4) Hkkjrkrh« ?kql[kksjhph dkj.ks o leL;k-

4- [kk«h« izðukaph izR;sdh lqekjs 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ukxjhdj.kkph dkj.ks o ifj.kke-

(2) iquZohdj.kh; o viquZohdj.kh; mtkZ lk/kus-

(3) ^Rlqukeh* dkj.ks o ifj.kke-

(4) tkxrhdj.kkps Hkkjrkrh« ifj.kke-
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MUSIC (laxhr)

 lkekU; Lrj&th&3 (G-3)

jkxlaxhr xk;u

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d
izðuif=dk lksMok-

(ii) ifg«k izðu vfuok;Z vkgs-

(iii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj
izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk@cMk [;k« Loj&f«ficº

djk- [5]

2. iqfj;k /kukJh fdaok eq«rkuh ;k iSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh
vkjksg&vojksg&idM ;klg f«gk- [5]

3. fr«okMk fdaok fo«afcr ,drk« ;k iSdh dks.kR;kgh ,dk rk«kps «s[ku djk- [5]

4. [kk«h«iSdh dks.kR;kgh nksu fVik f«gk % [5]

(1) vfucº xku

(2) jkxkax jkx
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(3) lgk;d ukn

(4) ladh.kZ jkx

(5) uknkps xq.k/keZ-

5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) frjksHkko&vkfoHkkZo

(2) ijes« izosðkd jkx

(3) lkIrdkps izdkj

(4) "kM~t&iape Hkko-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou pfj= f«gk % [5]

(1) ia- Hkhelsu tksðkh

(2) ia- dqekj xa/koZ

(3) iafMrk fdðkksjh vkeks.kdj-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kkps Lo:i

(2) ikðoZlaxhr

(3) jkxlaxhr vkf.k tu#fp-



[4001]-339 3 P.T.O.

[4001]-339

jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

fo'ks"k lwpuk :—;k lapkrh« jkxlaxhr xk;u] lrkj] rc«k ;kaiSdh rqEgh fðkd«sY;k fo"k;kph

dks.krkgh ,d izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Loj f«ihcº djk- [5]

2. jkx&jkxsJh o jkx&iqfj;k&/kukJh ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkL=ksDr ekfgrh f«gk- [5]

3. >irk«] pkSrk«] >qejk ;kaiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;k izek.ks

«s[ku djk- [5]

4. Vhik f«gk (dks.kR;kgh nksu) % [5]

(1) Bqejh

(2) nknjk

(3) rjk.kk

(4) frjksHkko&vkfoHkkZo

(5) jkxkax jkx-
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5. FkksMD;kr ekfgrh f«gk (dks.krsgh nksu) % [5]

(1) xk;d] uk;d] okX;s;dkj] d«koar

(2) lrkj oknukrh« feaM ps egRo

(3) lrkj oknukrh« rc«k lkFk

(4) ðkqº jkx

(5) feJ jkx-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) ikðoZ laxhr

(2) laxhr d«k mi;kstukph O;kIrh

(3) fj;ktkps egRo-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) fuf[k« cWuthZ

(2) ia- dqekj xa/koZ

(3) v«h vdcj [kk°-
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[4001]-339

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z- ,dw.k pkj izðu lksMok-

1. >irk« fdaok rhurk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu

,diV] nqIiV vkf.k pkSiV f«gk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) i«Vk

(2) foLrkj

(3) dk;nk

(4) «;dkjh-

3. rcY;krh« fofo/k cktkaph FkksMD;kr ekfgrh |k- [5]

4. ?ku ok| vkf.k vouº ok| ;kaP;krh« ijLij laca/k foðkn djk- [5]

5. rqeP;k vkoMR;k d«kdkjkP;k oknukph oSfðk"VÓs f«gk- [5]

6. ik‹pkR; rk«ok|kaph FkksMD;kr ekfgrh |k- [5]
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T.Y. B.A. EXAMINATION, 2011

MUSIC

Special Paper 3

(jkxlaxhr xk;u)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtO;k cktwl nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«achr [;k«kps Loj«s[ku djk- [5]

2. jkx&rksMh (fe;k dh rksMh) vFkok vfgj&HkSjo ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"V~;kalg

foLr̀r ðkkL=ksDr ekfgrh f«gk- [5]

3. lrok] vºk/kqekˇh] rhozk (rsojk) o tr ;kaiSdh dks.kR;kgh nksu rk«kaps ek=k] [kaM]

Vkˇh] dk« ;k izek.ks «s[ku djk- [5]

4. fVik f«gk (dks.krsgh ,d) % [5]

(1) gkeZuh o es«Mh

(2) oSfnd dkˇkrh« ok|s

(3) la/khizdkfðkr jkx-
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) izkphu o vk/kqfud vk«ki iºrh

(2) lqxe laxhr ðkS«h

(3) fganqLFkkuh o nkf{k.kkR; laxhr iºrh-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr fðk{k.kkps izkphu Lo:i (xq#dq« iºrhps laxhr fðk{k.k)

(2) daB lk/kuk

(3) laxhrfo"k;d izkphu xzaFkµlaxhr jRukdj-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- txUukFkcqok iqjksghr

(2) ia- efY«dktwZu ealwj

(3) fo«k;r [kk°-
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jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ihcº djk- [5]

2. jkx fe;k eYgkj o jkx njckjh dkuMk ;ka iSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg

lfoLrj ðkkL=ksDr ekfgrh f«gk- [5]

3. vºk /kqekˇh] iatkch] >qejk ;ka iSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;k izek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) izca/k

(2) tkrh xk;u

(3) oSfnd laxhr-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) oSfnd dkˇkrh« ok|s

(2) gkeZuh vkf.k es«Mh

(3) /ouhðkkL= (Acoustic).
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr fðk{k.kkps izkphu Lo:i (xq#dq« iºrhps laxhr fðk{k.k)

(2) izkphu laxhrK

(3) laxhrfo"k;d izkphu xzaFkµlaxhr jRukdj-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- dqekj xa/koZ

(2) ia- txUukFkcqok iqjksghr

(3) MkW- xaxqckbZ gax«-



[4001]-340 5 P.T.O.

[4001]-340
rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. iape lokjh fdaok eŸk ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu

,diV] nqIiV vkf.k pkSiV f«gk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj Vhik f«gk % [5]

(1) pÿnkj

(2) js«k

(3) rqdMk

(4) «;dkjh-

3. frgkbZ vkf.k frgkbZps izdkj ;k fo"k;koj foLrkjkus f«gk- [5]

4. rcY;kps ^nðk izk.k* ;k fo"k;koj foLr`r foospu djk- [5]

5. ik‹pkR; rk«ok|kaph FkksMD;kr ekfgrh |k- [5]

6. rqeP;k vkoMR;k d«kdkjkps lkaxhfrd ;ksxnku foðkn djk- [5]
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(jkxlaxhr xk;u)
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osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMokoh-

lwpuk :— (i) ifg«k izðu lksMfo.ks vkoð;d vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu izðu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«afcr [;k«kps Loj«s[ku djk- [5]

2. jkx&ð;kedY;k.k fdaok iqfj;k ;k iSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkL=ksDr ekfgrh f«gk- [5]

3. >irk«] nhipanh] pkSrk«] f=rk« ;k iSdh dks.kR;kgh nksu rk«kaps ek=k] [kaM] Vkˇh]

dk« ;k izek.ks «s[ku djk- [5]

4. ladYiuk Li"V djk (dks.krsgh ,d) % [5]

(1) ikðoZ laxhr

(2) lqxe laxhr

(3) laxhr Li/kk±ps egRo-
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5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) /ouh eqÊ.k

(2) laxhr eSfQ« lknjhdj.kkps ra=

(3) ikðoZ xk;u-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhr o vk/kqfud oSKkfud midj.ks

(2) laxhrklkBh xzaFkk«;s

(3) laxhrkps ekuoh thoukrh« LFkku (Lora= fopkj ekaMk)-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- jkekJ; >k

(2) ia- lq/khj QMds

(3) ia- fðkodqekj ðkekZ-
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[4001]-341

jkx laxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMokosr-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Loj f«ihcº djk- [5]

2. jkx&ð;kedY;k.k o jkx&«f«r ;ka iSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj

ðkkL=ksDr ekfgrh f«gk- [5]

3. fr«okMk] ,drk«] >irk« ;ka iSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;k izek.ks «s[ku djk- [5]

4. Vhik f«gk (dks.krkgh ,d) % [5]

(1) laxhr laxzgk«;s

(2) laxhr Li/kk±ps egRo

(3) lrkj oknukrh« feaMps egRo-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) laxhrklkBh xzaFkk«;s

(2) /ouh eqÊ.k

(3) laxhr vkf.k O;olk;kP;k la/kh-
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) laxhrkr nwj fðk{k.k iºrhl oko

(2) laxhr vkf.k lkfgR;

(3) xq#dq« fðk{k.k iºrh o vk/kqfud dkˇ-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- fðkodqekj ðkekZ

(2) mLrkn fo«k;r [kk°

(3) mLrkn vCnq« g«he tkQj [kk°-
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[4001]-341

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. rhurk« fdaok >irk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh vkf.k

nksu izdkjP;k «;dkjh f«gk- [5]

2. leku ek=kaP;k dks.kR;kgh nksu rk«kaph rq«ukRed feekalk djk- [5]

3. rcY;krh« dks.kR;kgh ,dk ?kjk.;koj foLrkjkus f«gk- [5]

4. fganqLrkuh vkf.k dukZVd rk« iºrhph FkksMD;kr rw«uk djk- [5]

5. rc«k ;k ok|kps Hkkjrh; laxhrkrh« LFkku vkf.k egŸo foðkn djk- [5]

6. [kk«h«iSdh dks.krkgh ,d thou pfj= f«gk % [5]

(1) m- vchn gqlSu [kk°

(2) ia- ukuk ikuls

(3) m- vY«kj[kk°-
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[4001]-342

T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION (Gen.)

(Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the evolution of Local Government.

(2) Write the financial sources of Municipal Corporation.

(3) State the role of Local Government in Development.

(4) Explain the functions of Panchayat Samiti.

2. Write notes in 100 words each (any four) : [20]

(1) Write the functions of B.D.O.

(2) State the composition of Gram Panchayat.

(3) State the sources of revenue of Zilla Parishad.

(4) Role of Mayor.

(5) Role in Democratic Decentralization.

(6) Power of Collector.

P.T.O.



[4001]-342 2

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the power and functions of Chief executive Officer of

Zilla Parishad.

(2) Explain the causes of urbanization.

(3) State the composition and functions of Cantonment Boards.

(4) State the problems of Urbanization.

(5) Explain the demerits of Local Self-Government.

4. Answer the question in 500 words (any one) : [20]

(1) Explain the importance, nature and scope of Local Government

in modern state.

(2) State the nature of control of Divisional Commissioner on

Panchayat Raj.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) LFkkfud ðkklukpk mxe lkaxk-

(2) egkuxjik«hdsP;k mRiUukph lk/kus f«gk-

(3) LFkkfud ðkklukP;k fodklkrh« Hkwfedk lkaxk-

(4) iapk;r lferhph dkes Li"V djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) xVfodkl vf/kdkÚ;kph dk;Z f«gk-

(2) xzkeiapk;rhph jpuk lkaxk-

(3) ftYgkifj"knsph mRiUukph lk/kus lkaxk-

(4) egkikSjkph Hkwfedk-

(5) «ksdðkkgh fodsaÊhdj.kkph Hkwfedk-

(6) ftYgkf/kdkÚ;kps vf/kdkj-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) ftYgkifj"knsP;k eq[;kf/kdkÚ;kph lŸkk vkf.k dk;sZ Li"V djk-

(2) ðkgjhdj.kkph dkj.ks Li"V djk-

(3) dWUVkWuesaV cksMZph jpuk o dk;sZ lkaxk-

(4) ðkgjhdj.kkP;k leL;k lkaxk-

(5) LFkkfud Loðkklukps nks"k Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) vk/kqfud jkT;kr Loðkklukps egRo] Lo:i vkf.k O;kIrh Li"V djk-

(2) iapk;rjkT;kojh« foHkkfx; vk;qDrkps fu;a=.kkps Lo:i lkaxk-
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[4001]-343

T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

(S-3 : Development Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of Development Administration.

(2) State the policy of Education in India.

(3) Write the importance of voluntary organization.

(4) State the objectives of Development Administration.

2. Write the notes in 100 words each (any four) : [20]

(1) National Development Council.

(2) State the objectives of co-operation.

(3) Changing role of Bureaucracy.

(4) Rural agencies for Development.

(5) Role of Community Development.

(6) State the objectives of welfare state.

P.T.O.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the features of Bureaucracy.

(2) State the features of Community Development.

(3) Edward Weidner’s views on Development Administration.

(4) State the nature and scope of Development Administration.

(5) Explain the principles of Community Development.

4. Answer any one question in 500 words : [20]

(1) Explain the regional and international agencies for development.

(2) Explain the nature and functions of co-operative.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) fodkl izðkklukph ladYiuk Li"V djk-

(2) Hkkjrkrh« fðk{k.kkps /kksj.k lkaxk-

(3) Lo;alsoh laLFkkaps egRo f«gk-

(4) fodkl izðkklukph mfÌ"VÓs lkaxk-



[4001]-343 3 P.T.O.

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) jk"V™h; fodkl ifj"kn-

(2) lgdkjkph mfÌ"VÓs lkaxk-

(3) uksdjðkkghph cn«rh Hkwfedk-

(4) xzkeh.k Lrjkojh« fodklkph vfHkdj.ks-

(5) lkeqnkf;d fodklkph Hkwfedk-

(6) dY;k.kdkjh jkT;kph mfÌ"VÓs lkaxk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) uksdjðkkghph oSfðk"VÓs Li"V djk-

(2) lkeqnkf;d fodklkph oSfðk"VÓs lkaxk-

(3) fodkl izðkkluklaca/kh ,MoMZ foMuj ;kaph ers-

(4) fodkl izðkklukph Lo:i vkf.k O;kIrh lkaxk-

(5) lkeqnkf;d fodklkps rRo Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(i) fodklkph izknsfðkd vkf.k vkarjjk"V™h; vfHkdj.ks Li"V djk-

(ii) lgdkjkps Lo:i vkf.k dk;sZ Li"V djk-
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[4001]-344

T.Y. B.A. EXAMINATION, 2011

PUBLIC ADMINISTRATION

[(S-4) Comparative Public Administration (India, UK and USA)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain nature of Comparative Public Administration.

(2) State the importance of Recruitment.

(3) Write the objectives of Training.

(4) State the meaning of Administrative Law.

2. Write the notes in 100 words each (any four) : [20]

(1) Explain the Right to Association.

(2) Evolution of Comparative Public Administration.

(3) Nature of Training in UK.

(4) Explain the patterns of Administration in developed countries.

(5) State the importance of integrity in Administration.

(6) Write the merits of Administrative Reform.

P.T.O.
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3. Answer the following questions in 250 words (any three) : [30]

(1) Explain the agencies of recruitment in USA.

(2) State the types of training in India.

(3) Explain the scope of Administrative Law.

(4) State the causes of corruption in India.

(5) Explain the merits and demerits of Administrative Tribunals.

4. Answer the question in 500 words (any one) : [20]

(1) Explain the various approaches to the study of Comparative

Administration.

(2) Describe the methods of recruitment in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) rq«ukRed «ksdizðkklukps Lo:i Li"V djk-

(2) Hkjrhps egRo lkaxk-

(3) izfðk{k.kkps mÌsðk f«gk-

(4) izðkkldh; dk;nÓkpk vFkZ lkaxk-



[4001]-344 3 P.T.O.

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) la?kVuk cufo.;kpk gDd Li"V djk-

(2) rq«ukRed «ksdizðkklukpk mxe-

(3) baX«aMe/kh« izfðk{k.kkps Lo:i-

(4) fodflr nsðkkrh« izðkklukP;k iºrh Li"V djk-

(5) izðkkldh; ,dkRersps egRo lkaxk-

(6) izðkkldh; lq/kkj.ksps xq.k f«gk-

3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) vesfjdsrh« Hkjrhph vfHkdj.ks Li"V djk-

(2) Hkkjrkrh« izfðk{k.kkps izdkj lkaxk-

(3) izðkkldh; dk;nÓkph O;kIrh Li"V djk-

(4) Hkkjrkrh« Hkz"Vkpkjkph dkj.ks lkaxk-

(5) izðkkldh; U;k;ihBkps Qk;ns rksVs Li"V djk-

4. [kk«h« izðukaph mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) rq«ukRed «ksdizðkklukP;k vH;klkps fofo/k n`f"Vdksu Li"V djk-

(2) Hkkjrkrh« HkjrhP;k iºrhps foð«s"k.k djk-
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[4001]-345

T.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY (Gen.)

(Industrial and Organizational Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Write subject-matter of I/O Psychology.

(2) What is time and motion study ?

(3) What are activities of assessment center ?

(4) What are the uses of psychological tests in recruitment ?

2. Write notes in 100 words each (any four) : [20]

(1) Recruitment techniques

(2) Assessment centre

(3) Sources of Performance Evaluation

(4) Minnesota job satisfaction questionnaire

(5) McClelland’s Achievement theory

(6) Person-machine system.

P.T.O.
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3. Answer in 200-250 words each (any three) : [30]

(1) Explain social transactional perspective of leadership.

(2) State the relationship between job satisfaction and productivity.

(3) What are the different recruitment techniques ?

(4) What are the methods of job analysis ?

(5) What are the techniques involved in training ?

4. Answer in 500 words (any one) : [20]

(1) What is work motivation ? Explain Herzberg’s two factor theory

of motivation with its importance.

(2) What are the types of job information ? Discuss survey techniques

with its advantages.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkr mŸkjs f«gk (QDr nksu) % [10]

(1) vkS|ksfxd o la?kVu ekulðkkL=kpk vH;kl fo"k; f«gk-

(2) dk«&xrh vH;kl Eg.kts dk; \

(3) eqY;kadu dsaÊkps miÿe dks.krs rs lkaxk-

(4) fu;qDrh e/;s ekulðkkL=h; dlksVÓkaps mi;ksx lkaxk-
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2. izR;sdh 100 ðkCnkr fVik f«gk (QDr pkj) % [20]

(1) fu;qDrh ra=s

(2) eqY;kadu dsaÊ

(3) dk;Z eqY;ekiukps lzksr

(4) feuslksVk dk;Zlek/kku izðuko«h

(5) eWD«s«°M ;kaph flº izsj.kk miiŸkh

(6) O;Drh&;a= iz.kk«h-

3. [kk«h« izðukaph izR;sdh mŸkjs 200 rs 250 ðkCnkr f«gk (QDr rhu) % [30]

(1) usr`Rokpk lkekftd fofue; n`"Vhdksu Li"V djk-

(2) dk;Zlek/kku o mRikndrk ;kaP;krh« laca/k foðkn djk-

(3) fu;qDrhph fofo/k ra=s dks.krh \

(4) dk;Z foð«s"k.kkP;k iºrh dks.kR;k \

(5) izfðk{k.kkr varHkwZr vl.kkjh ra=s dks.krh \

4. [kk«h« izðukaph 500 ðkCnkar mŸkjs f«gk (QDr ,d) % [20]

(1) dk;Z izsj.kk Eg.kts dk; \ gtZcxZ ;kaP;k f}?kVd flºkarkps egRo Li"V djk-

(2) dk;Z&ekfgrhps izdkj lkaxk- losZ{k.k ra=kaph R;kaP;k Qk;|kalg ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

PSYCHOLOGY

Special Paper III

(Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All the questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain voluntary and involuntary attention.

(ii) What is test-retest reliability ?

(iii) What are the characteristics of scientific research ?

(iv) Explain interview method of data collection.

2. Write short notes in 100 words each (any four) : [20]

(i) Nature and definition of Perception.

(ii) Cognitive map

(iii) Ethical issues in psychological testing.

(iv) Goals of research

(v) Universe, sample and sampling

(vi) Case study.

P.T.O.
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3. Attempt any three questions in 200-250 words each : [30]

(i) Define attention. Discsus the determinants of attention.

(ii) What is thinking ? Explain the stages of creative thinking.

(iii) Explain the characteristics of psychological tests.

(iv) Describe the types of probability sampling.

(v) Illustrate the various methods of observation.

4. Answer any one of the following question in 500 words : [20]

(i) What is psychophysics ? Explain that how the absolute threshold

(absolute limen) measured by method of limits.

(ii) Define variable. Discuss the various types of variable.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ,sfPNd vkf.k vuSfPNd vo/kku Li"V djk-

(ii) pkp.kh&iquj~pkp.kh foðolfu;rk Eg.kts dk; \

(iii) ðkkL=h; laðkks/kukph oSfðk"VÓs dks.krh vkgsr \

(iv) iznŸk lad«ukph eq«k[kr iºrh Li"V djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) laosnukps Lo:i vkf.k O;k[;k

(ii) cks/kfud udkðkk

(iii) euksekiukrh« uSfrd cktw (rRos)

(iv) laðkks/kukph /;s;s

(v) foðo] uequk vkf.k uequkp;u

(vi) O;fDro`Ÿk vH;kl-

3. [kk«h« izðukaph mŸkjs izR;sdh 200&250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) vo/kkukph O;k[;k nÓk- vo/kkukP;k fu;kedkaph ppkZ djk-

(ii) fopkj Eg.kts dk; \ ltZuðkh« fopkj izfÿ;sP;k voLFkk Li"V djk-

(iii) euksekiu pkp.khph oSfðk"VÓs Li"V djk-

(iv) laHkkO;rk uequkp;ukps izdkj foðkn djk-

(v) fujh{k.kkP;k fofo/k iºrh lksnkgj.k Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) euksHkkSfrdh Eg.kts dk; \ e;kZnk iºrhP;k lkgk∏;kus fujis{k lhekewY;kps

ekiu dls ds«s tkrs rs Li"V djk-

(ii) ifjorZdkph (ifjoR;Z) O;k[;k |k- ifjorZdkaP;k fofo/k izdkjkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-348

T.Y. B.A. EXAMINATION, 2011

YOGVIDYA (;ksxfo|k) (G-3)

(Vyavaharik Yog)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Explain the correlation between human behaviour and Yoga

science.

(ii) Explain the concept of physical health.

2. Write short notes on (any two) : [10]

(i) Types of meditation

(ii) Objectives of Pranav Omkar

(iii) Importance of various Mudras.

(iv) Yognidra.

3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) What is the meaning of ‘Pranayama’ ? Write with example

types and benefits of Pranayama.

P.T.O.
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(ii) Explain the simple and special objective of Traditional and Applied

yoga.

(iii) Discuss the Yoga science and mental health.

4. Attempt any one question in detail : [10]

(i) State the significance of Yoga in play.

(ii) Write the concept and scope of social health. How does Yoga

help to social health ?

(ejkBh :ikarj)

osˇ % 2 rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) ekuoh vkpj.k o ;ksxðkkL=kpk lglaca/k Li"V djk-

(ii) ðkkjhfjd LokLF;kpk vFkZ lkaxk-

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) /;kukps izdkj

(ii) iz.ko ≈°dkjkpk mÌsðk Li"V djk

(iii) fofo/k ewÊkaps egRo

(iv) ;ksxfuÊk-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k % [15]

(i) izk.kk;kekpk vFkZ dk; vkgs \ izk.kk;kekps fofo/k izdkj lkaxwu R;kaps Qk;ns

dk; vkgs \ lgmnkgj.k nsowu Li"V djk-

(ii) ijaijkxr ;ksx vkf.k O;ogkjhd ;ksxkps lkekU; o foðks"k mÌsðk Li"V djk-

(iii) ;ksxðkkL= vkf.k ekufld LokLF; ;koj ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk lfoLrj mŸkj |k % [10]

(i) fÿMk{ks=kr ;ksxkps ;ksxnku Li"V djk-

(ii) lkekftd LokLF;kph ladYiuk vkf.k O;kIrh Li"V djk- lkekftd LokLF;

lao/kZuklkBh ;ksxkpk mi;ksx dlk gksrks \



Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-349

T.Y. B.A. EXAMINATION, 2011

HISTORY OF CIVILIZATION (Gen.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Pre-historic period

(ii) Mesopotamia

(iii) Panchmahavrata

(iv) Concepts of Renaissance.

2. Write short notes on 100 words each (any four) : [20]

(i) Summerian civilization

(ii) Athens

(iii) Maya civilization

(iv) Philosophy of Jainism

(v) Ignatius Loyola

(vi) Galileo.

P.T.O.
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3. Answer the following questions in 200-250 words each (any three) : [30]

(i) State the information of Persian (Iran) civilization in the field

of Art-Architecture, Literature and Religion.

(ii) Write the salient features of Inca civilization.

(iii) State the philosophy and teaching of Hindu religion.

(iv) Write the causes of Reformation.

(v) State the effects of Geographical discoveries.

4. Answer any one of the following question in 500 words : [20]

(i) Write the salient features of Harappa civilization.

(ii) Explain the contribution of Arabs in Art-Architecture and Science.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) izkxSfrgkfld dk«[kaM

(ii) eslksiksVsfe;k

(iii) iapegkozrs

(iv) izcks/ku gh ladYiuk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) lqesfj;u laLœrh

(ii) vFksUl

(iii) e; laLœrh

(iv) tSu /kekZps rRoKku

(v) bXusfðk;l «kW;ks«k

(vi) xWf««hvks-

3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ifðkZ;u (bjk.k) laLœrhrh« d«k&LFkkiR;d«k] lkfgR; vkf.k /keZ ;k {ks=kaph

ekfgrh lkaxk-

(ii) badk laLœrhph Bˇd oSfðk"VÓs f«gk-

(iii) fganw /kekZps rRoKku o fðkdo.k lkaxk-

(iv) /keZlq/kkj.kk pˇoˇ ?kMwu ;s.;kph dkj.ks f«gk-

(v) HkkSxksf«d ðkks/kkaps ijh.kke lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) gjIik laLœrhph Bˇd oSfðk"VÓs f«gk-

(ii) vjckaps d«k&LFkkiR; o foKkukrh« ;ksxnku Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-350

T.Y. B.A. EXAMINATION, 2011

HOME ECONOMICS (Gen.)

(Dynamics and Challenges of Indian Society)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(1) Modern society

(2) Social deviation

(3) Adoption

(4) Women Education.

2. Write short notes in 100 words each (any four) : [20]

(1) Disturbances of social change.

(2) Active and passive deviation.

(3) Scientific and economic change.

(4) “Marriage and sex”.

(5) Causes of divorce.

(6) Principles of Indian family.

P.T.O.
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3. Answer the following questions in 200 words each (any three) : [30]

(1) Explain the factors influencing on social change.

(2) Explain the characteristics of traditional society.

(3) Explain the causes of social conformity.

(4) Explain the causes and effects of dowry system

(5) Explain the causes and effects of social value conflict in India.

4. Answer the following questions in 500 words (any one) : [20]

(1) Explain the functions of family.

(2) Explain the role of education, technology and communication

in social change process.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) vk/kqfud lekt

(2) lkekftd fop«u

(3) nŸkd

(4) fL=fðk{k.k-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) lkekftd ifjorZukrh« vMFkˇs

(2) lfÿ; vkf.k fu"ÿh; fop«u

(3) oSKkfud vkf.k vkfFkZd cn«

(4) fookg vkf.k «Safxdrk

(5) ?kVLQksVkph dkj.ks

(6) Hkkjrh; dqVwackph rRos-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) lkekftd ifjorZukoj ifj.kke dj.kkjs ?kVd Li"V djk-

(2) ijaijkxr lektkph oSfðk"VÓs Li"V djk-

(3) lkekftd vuqp«ukph dkj.ks Li"V djk-

(4) gqaMkiºrhph dkj.ks vkf.k ifj.kke Li"V djk-

(5) Hkkjrkrh« lkekftd ewY; la?k"kkZph dkj.ks vkf.k ifj.kke Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) dqVwackph dk;sZ Li"V djk-

(2) lkekftd ifjorZu izfÿ;srh« fðk{k.k] ra=Kku vkf.k lansðkogu ;kaph Hkwfedk

Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+1

[4001]-351

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES (Gen.)

[(A) International Security]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the prevention of war.

(ii) What is new cold war ?

(iii) State the concept of ‘Non-alignment’.

(iv) Explain the functions of Diplomats.

2. Write short notes in 100 words each (any four) : [20]

(i) Concept of Arms control.

(ii) National security.

(iii) Characteristics of post cold war scenario.

(iv) Cold war.

(v) Concept of balance of power.

(vi) Concept of Detente.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the causes of war.

(ii) State the nature and effects of terrorism.

(iii) Define balance of power and explain its means.

(iv) Explain the nature of ethnic conflicts.

(v) Describe the problem of global warming and its effects.

4. Answer any one of the following question in 500 words : [20]

(i) Explain the role of non-alignment in maintaining International

Security.

(ii) Describe origin and development of cold war.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ;qº jks[k.;kph mik;;kstuk Li"V djk-

(ii) ufou ðkhr ;qº Eg.kts dk; \

(iii) vf«Irrkoknkph ladYiuk lkaxk-

(iv) jktu;Kkaph dk;sZ Li"V djk-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) ðkL= fu;a=.kkph ladYiuk-

(ii) jk"V™h; lqj{kk-

(iii) ðkhr ;qºksŸkj dkˇkph oSfðk"Vs-

(iv) ðkhr ;qº-

(v) lŸkk lerks«kph ladYiuk-

(vi) r.kkoðkSfFkY;@l«ks[kk ladYiuk-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ;qºkph dkj.ks Li"V djk-

(ii) ngðkroknkps Lo:i vkf.k ifj.kke lkaxk-

(iii) lŸksP;k lerks«kph O;k[;k lkaxwu R;kph lk/kus Li"V djk-

(iv) okafðkd la?k"kkZps Lo:i Li"V djk-

(v) oSfðod rkiekuok<hph leL;k vkf.k R;kps ifj.kke foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(i) vkarjjk"V™h; lqj{kk fVdfo.;krh« vf«Irrkoknkph Hkwfedk Li"V djk-

(ii) ðkhr ;qºkP;k mxe vkf.k fodkl foðkn djk-
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[(B) Military Geography]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the meaning of Geostrategy.

(ii) Explain the concept of ‘Tactics’.

(iii) State the characteristics of Jungle.

(iv) Explain the importance of Jammu and Kashmir.

2. Write short notes in 100 words each (any four) : [20]

(i) Strategic importance of Afghanistan.

(ii) Concept of ‘Military Geography’.

(iii) Natural Gas.

(iv) Importance of Geostrategy.

(v) Problems of Desert Warfare.

(vi) Geostrategic position of Andaman and Nicobar Islands.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain in detail the principles of Logistics.

(ii) State the scope and uses of Military Geography.
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(iii) Explain the geostrategic position and importance of Diego-Garcia.

(iv) How do geographical factors affect sea warfare ? Explain.

(v) State the meaning and concept of Grand Strategy.

4. Answer any one in 500 words : [20]

(i) Describe the characteristics and logistic problems in Plain Warfare.

(ii) Explain in detail the factors of National Power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkr mŸkjs f«gk (QDr nksu) % [10]

(i) Hkw;qºuhfrPkk vFkZ lkaxk-

(ii) Mkoispkph ladYiuk Li"V djk-

(iii) tax«h iznsðkkph oSfðk"Vs lkaxk-

(iv) tEew&dkðehjps egRo Li"V djk-

2. izR;sdh 100 ðkCnkr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vQxkf.kLrkups lkefjd egRo-

(ii) «"djh Hkwxks«kph ladYiuk-

(iii) uSlfxZd xSl-
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(iv) Hkw;qºuhfrps egRo-

(v) okˇoaVh ;qº/kkj.ksP;k leL;k-

(vi) vaneku o fudksckj csVkaps Hkwlkefjd LFkku-

3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) [30]

(i) iqjoBk O;oLFksph rRos lfoLrj Li"V djk-

(ii) «"djh Hkwxks«kph O;kIrh o mi;ksx lkaxk-

(iii) fnxks&xflZ;k csVkaps Hkwlkefjd LFkku vkf.k egRo Li"V djk-

(iv) lkxjh ;qºkoj HkkSxksf«d ?kVd dls ifj.kke djrkr rs Li"V djk-

(v) foðkk« ;qºuhfrpk vFkZ vkf.k ladYiuk lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) eSnkuh iznsðkkph oSfðk"Vs vkf.k iqjoBÓkPkk leL;k ;kaps o.kZu djk-

(ii) jk"V™ðkDrhps ?kVd lfoLrj Li"V djk-
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[(C) Geopolitics]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the nature of Geopolitics.

(ii) State the importance of unified field theory.

(iii) What are the methods of calculating maritime boundaries ?

(iv) State the types of natural boundaries.

2. Write short notes in 100 words each (any four) : [20]

(i) Prof. Karl Houshopher.

(ii) Nation

(iii) Political Geography.

(iv) Frontiers

(v) Exclusive Economic Zone

(vi) Landlocked state.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the concept of Buffer state. What are the problems

of buffer state ?
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(ii) State the functions of territorial water.

(iii) Explain the basic elements of state.

(iv) According to Mahan, what are the factors affecting sea power ?

(v) Describe the development of Geopolitics in Germany.

4. Answer any one in 500 words : [20]

(i) Describe in brief the Geographical factors affecting war.

(ii) State the nature of Political Geography.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) Hkwjktfurhps Lo:i Li"V djk-

(ii) ,d:i {ks= flºkarkps egRo lkaxk-

(iii) lkxjh lhek ekst.;kP;k iºrh dks.kR;k \

(iv) uSlxhZd lhekaps izdkj lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) izk- dk«Z gkSðkksQj

(ii) jk"V™
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(iii) jktdh; Hkwxks«

(iv) lhek iznsðk

(v) vkFkhZd fuc±/k {ks=

(vi) Hkwos"Vhr nsðk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu)  % [30]

(i) vk?kkr ðkks"kd jk"V™ fdaok e/;Lr nsðk Eg.kts dk; \ R;kaP;k leL;k dks.kR;k \

(ii) izknsðkhd t«kðk;kph dk;sZ lkaxk-

(iii) jkT;kps ew«Hkwr ?kVd Li"V djk-

(iv) egkuP;k ers lkxjh ðkDrhoj ifj.kke dj.kkjs ?kVd dks.krs \

(v) teZuhrh« HkwjktfurhP;k fodklkps o.kZu djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) ;qºkoj ifj.kke dj.kkÚ;k ?kVdkaps FkksMD;kr o.kZu djk-

(ii) jktdh; Hkwxks«kps Lo:i lkaxk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[4001]-352

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

[D.S. S-3(A) : Maratha Military System (1630-1818 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Describe the geographical background of Maharashtra before

Shivaji.

(2) Explain the strategy of Shivaji in the battle of Pratapgarh.

(3) Explain the military leadership of Sambhaji.

(4) Explain the role of Jijabai in making of Shivaji.

2. Write short notes in 100 words each (any four) : [20]

(1) Tarabai

(2) Mirza Raje Jaisingh

(3) Jawali incident

(4) Treaty of Purandar

(5) Shivaji Maharaj

(6) Dadoji Kondadev.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Discuss the role of Santaji and Dhanaji in Maratha war of

Independence.

(2) State the objectives of Karnataka campaign.

(3) Explain the cuases of First Anglo-Maratha war.

(4) State the military qualities of Bajirao I.

(5) State the causes of Shivaji’s victory against Shaistekhan.

4. Answer any one in 500 words : [20]

(1) Explain the causes of downfall of Maratha power.

(2) Describe the Maratha Military Organisation under the

Shivaji.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) fðkoiwoZdk«hu egkjk"V™kP;k HkkSxks«hd ikðoZHkwehps o.kZu djk-

(2) izrkixMkP;k «<kbZrh« fðkokth egkjktkaph ;qºuhrh Li"V djk-

(3) laHkkth egkjktkaps «"djh usr`Ro Li"V djk-

(4) fðkokth egkjktkaP;k tM.k?kM.khr fttkckbZ ;kaph Hkwfedk Li"V djk-
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2. [kk«h« izðukaph izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) rkjkckbZ

(2) fe>kZ jkts t;flax

(3) tkoˇh izdj.k

(4) iqjanjpk rg

(5) fðkokth egkjkt

(6) nknksth dksaMnso-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) ejkBÓkaP;k Lokra´;;qºkrh« larkth o /kukthP;k dkefxjhph ppkZ djk-

(2) dukZVd eksghesph mfÌ"Vs lkaxk-

(3) baxzt&ejkBk ifgY;k ;qºkph dkj.ks lkaxk-

(4) ifgY;k ckthjkokps «"djh xq.k lkaxk-

(5) fðkokth egkjktkaP;k ðkkfgLrs[kku fo#ºP;k fot;kph dkj.ks lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(1) ejkBh lŸksP;k irukph dkj.ks Li"V djk-

(2) fðkokth egkjktkaP;k fu;a=.kk[kk«h« ejkBÓkaP;k «"djh la?kVusps o.kZu djk-
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[4001]-352

[D.S. S-3(B) : Disaster Management)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the meaning of disaster.

(ii) State the types of disaster.

(iii) Describe the characteristics of man-made disaster.

(iv) Explain the concept of ‘Disaster’.

2. Write short notes in 100 words each (any four) : [20]

(i) Effects of man-made disaster.

(ii) Global warming.

(iii) Yokohama strategy

(iv) Role of co-operation by local bodies in Disaster Management.

(v) Post-disaster emergency phase.

(vi) Identified Disaster.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the boosting up the community pre-disaster plan.

(ii) State the remedial measures of Disaster.
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(iii) Explain the elements of Disaster Management.

(iv) Describe the effects of Environmental Disaster.

(v) Discuss the various types of Natural Disaster.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the important principles of Disaster by Yokohama

Conference.

(ii) Discuss ‘Biological war and Disaster’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) vkiŸkhpk vFkZ Li"V djk-

(ii) vkiŸkhps izdkj lkaxk-

(iii) ekuofufeZr vkiŸkhph oSfðk"Vs foðkn djk-

(iv) vkiŸkhph ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) ekuofufeZr vkiŸkhps ifj.kke-
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(ii) oSfðod rkieku ok<-

(iii) ;ksdksgkekps /kksj.k-

(iv) vkiŸkh O;oLFkkiukrh« LFkkfud la?kVusph lgdk;kZph Hkwfedk-

(v) vkiŸkhuarjpk vkf.kck.khpk dkˇ-

(vi) vkiŸkhph vksˇ[k-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vkiŸkhiwoZ lekt mŸkstu dj.kkjh ;kstuk-

(ii) vkiŸkh fu;a=.kkr Bso.;kph lk/kus lkaxk-

(iii) vkiŸkh O;oLFkkiukps ?kVd Li"V djk-

(iv) i;kZoj.kh; vkiŸkhps ifj.kke foðkn djk-

(v) uSlfxZd vkiŸkhP;k fofo/k izdkjkaoj ppkZ djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(i) ;ksdksgkek ifj"knsrh« vkiŸkh lanHkkZrh« egRokph rŸos Li"V djk-

(ii) ^tSfod ;qº vkf.k vkiŸkh* ppkZ djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[4001]-353

T.Y. B.A. EXAMINATION, 2011

DEFENCE AND STRATEGIC STUDIES

(D.S. S-4(A) : Industrial Security)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the importance of industrial security.

(ii) What is right of private defence ?

(iii) What precautions are to be taken when fire breaks ?

(iv) State the importance of vehicle gate.

2. Write short notes in 100 words each (any four) : [20]

(i) Non-cognizable crimes

(ii) Search gate

(iii) Evidence

(iv) First information report

(v) Burning

(vi) Security lighting.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) State the functions of Security Department.

(ii) Describe the duties of Chief Security Officer.

(iii) State the causes and preventive measures of fire.

(iv) Describe criminal crimes and preventive measures of it.

(v) State the security planning and its implementation.

4. Answer any one in 500 words : [20]

(i) Explain the security system near the main gate.

(ii) Describe in detail industrial crimes.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vkS|ksxhd lqj{ksps egRo lkaxk-

(ii) [kktxh cpkokpk gDd Eg.kts dk; \

(iii) vkx «kx«h rj dk; djkos \

(iv) okgu izosðk}kjkps egRo lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krkgh pkj) % [20]

(i) vn[k«ik= xqUgs
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(ii) >Mrh xsV

(iii) iqjkok

(iv) ifg«h [kcj (,Q- vk;- vkj-)

(v) Hkkt.ks

(vi) lqj{kk izdkðk O;oLFkk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(i) lqj{kk foHkkxkph dk;sZ lkaxk-

(ii) izeq[k lqj{kk vf/kdkÚ;kph drZO;s foðkn djk-

(iii) vkxhph dkj.ks o izfrca/kkRed mik; lkaxk-

(iv) QkStnkjh Lo:ikP;k xqUg;kaps o rs Vkˇ.;klkBh dsY;k tk.kkÚ;k izfrca/kkRed

mik;kaps FkksMD;kr o.kZu djk-

(v) vkS|ksxhd lqj{ksps fu;kstu o vae«ctko.kh lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) eq[; izosðk }kjk toˇh« lqj{kk O;oLFkk Li"V djk-

(ii) vkS|ksxhd xqUg;kaps lfoLrj o.kZu djk-
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(D.S. S-4(B) : Research Methodology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the sources of collection of data.

(2) State the sources of hypothesis.

(3) Explain the nature of Research.

(4) State the objectives of social research.

2. Write short notes in 100 words each (any four) : [20]

(1) Design of research

(2) Types of facts

(3) Social research

(4) Primary sources

(5) Field trip

(6) Formulation of problem.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain the major steps in Research Process.

(2) Describe the importance of concept in the Research.
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(3) State the objective of Survey.

(4) Explain the importance of Hypothesis.

(5) Define concept and explain the nature of concept.

4. Answer any one in 500 words : [20]

(1) What is report writing ? State the objectives of report

writing.

(2) Explain the problems of objectivity in social research.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) ekfgrh lad«ukps lzksr lkaxk-

(2) x`fgrdkaps mxelzksr lkaxk-

(3) laðkks/kukps Lo:i Li"V djk-

(4) lkekthd laðkks/kukps mn~nsðk lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) laðkks/kukpk vkjk[kMk

(2) rF;kaps izdkj
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(3) lkekthd laðkks/ku

(4) izkFkfed lk/kus

(5) {ksf=; lg«

(6) leL;k lq=.k-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) laðkks/ku izfÿ;srh« izeq[k VIis Li"V djk-

(2) laðkks/kukr ladYiukps egRo foðkn djk-

(3) losZ{k.kkps mn~nsðk lkaxk-

(4) x`fgrdkaps egRo Li"V djk-

(5) ladYiusph O;k[;k o Lo:i foðkn djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(1) vgok« «s[ku Eg.kts dk; \ vgok« «s[kukph mfÌ"Vs lkaxk-

(2) lkekthd laðkks/kukrh« oLrqfu"BrsP;k leL;k Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-354

T.Y. B.A. EXAMINATION, 2011

SOCIAL WORK (Gen.)

I—Introduction to Youth Welfare

II—Introduction to Rural and Urban Welfare

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) Define youth and welfare of youth.

(ii) State the problems of Tribal youth.

(iii) State the way of urban living.

(iv) Explain the problem of health in rural area.

2. Answer any four questions in 100 words each : [20]

(i) Explain the role of youth in Social Development.

(ii) Explain the agencies for the development of good character

of youth.

(iii) Explain the importance of sex education.

(iv) Explain the needs of rural communities.

(v) Explain the role of Gram Panchayat in rural welfare.

(vi) Discuss about the problem of physical infrastructure in urban

area.

P.T.O.
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3. Answer any three questions in 200 to 250 words each : [30]

(i) Explain the methods of training for youth leadership.

(ii) Explain the services provided by the Government for youth.

(iii) Discuss the role of municipality in urban welfare.

(iv) Explain the problems of slum people in India.

(v) Explain the responsibilities of youth in national integration.

4. Answer any one question in 500 words : [20]

(i) Explain the similarities and differences in rural and urban way

of living.

(ii) Write an essay on challenges before youth in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnki;±r f«gk % [10]

(i) ;qod vkf.k ;qod dY;k.kkph O;k[;k nÓk-

(ii) vkfnoklh ;qodkaP;k leL;k lkaxk-

(iii) ukxjh thou ðkS«h lkaxk-

(iv) xzkeh.k {ks=krh« vkjksX; leL;k Li"V djk-
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2. [kk«h«iSdh dks.kR;kgh pkj izðukaph m�Ÿkjs izR;sdh 100 ðkCnki;±r f«gk % [20]

(i) lkekftd fodklkr ;qodkaP;k Hkwfedk Li"V djk-

(ii) ;qodkaps pkax«s pkfj´; fodflr dj.;klkBh vl«sY;k laLFkk Li"V djk-

(iii) «Safxd fðk{k.kkps egRo Li"V djk-

(iv) xzkeh.k leqnk;kP;k xjtk Li"V djk-

(v) xzkeh.k dY;k.kkr xzke iapk;rhph Hkwfedk Li"V djk-

(vi) ukxjh {ks=krh« ik;kHkwr lkss;hlqfo/kkaph leL;k ;koj ppkZ djk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(i) ;qod usr`RoklkBh izfðk{k.k iºrh Li"V djk-

(ii) ;qodkalkBh ðkklukdMwu iqjfo.;kr ;s.kkÚ;k lsok Li"V djk-

(iii) ukxjh dY;k.kkr uxjikf«dsP;k Hkwfedsph ppkZ djk-

(iv) Hkkjrkrh« >ksiMiV~Vhoklh;kaP;k leL;k Li"V djk-

(v) jk"V™h; ,dkRersr ;qodkaP;k tckcnkÚ;k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnki;±r f«gk % [20]

(i) xzkeh.k vkf.k ukxjh thoukrh« lekurk vkf.k Qjd Li"V djk-

(ii) Hkkjrkrh« ;qodkaleksjh« vkOgkus ;koj fuca/k f«gk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4001]-356

T.Y. B.A. EXAMINATION, 2011

COMMERCE (General)

(Business Management)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is ‘Budgetary Control’ ?

(2) What is Profession ?

(3) What is Management of Crises ?

(4) What is Decision Making ?

2. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the limitations of Planning.

(2) What is decentralisation ?

(3) Explain the importance of control.

(4) Explain the Eclectic Approach Theory.

(5) Explain the components of direction.

P.T.O.
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3. Answer the following questions in 300 words each (any three) : [30]

(1) Discuss ‘Management of change’.

(2) Explain, what is positive and negative leadership.

(3) Explain the principles of effective communication.

(4) Explain the need for co-ordination.

4. Answer the following question in 500 words (any one) : [20]

(1) What is functional organisation ? Explain the features and

advantages of functional organisation.

(2) Explain the social responsibility of management.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ^vankti=dh; fu;a=.k* Eg.kts dk; \

(2) ^isðkk* Eg.kts dk; \

(3) ^la?k"kZ O;oLFkkiu* Eg.kts dk; \

(4) ^fu.kZ; izfÿ;k* Eg.kts dk; \

2. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) % [20]

(1) fu;kstukP;k e;kZnk Li"V djk-
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(2) ^fodsaÊhdj.k* Eg.kts dk; \

(3) fu;a=.kkps egRo Li"V djk-

(4) mRœ"B fuoM n`f"Vdksu flºkUr Li"V djk-

(5) funsZðkukps ?kVd Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 300 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) ^cn«kps O;oLFkkiu* ;koj ppkZ djk-

(2) ldkjkRed vkf.k udkjkRed usr`Ro Eg.kts dk; \ rs Li"V djk-

(3) ifj.kkedkjd (izHkkoh) lansðkogukph rRos Li"V djk-

(4) leUo;kph xjt Li"V djk-

4. [kk«h« izðukpk mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) dk;kZRed la?kVu Eg.kts dk; \ dk;kZRed la?kVusph oSfðk"VÓs vkf.k Qk;ns

Li"V djk-

(2) O;oLFkkiukph lkekftd tckcnkjh Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

[4001]-357

T.Y. B.A. EXAMINATION, 2011

EDUCATION

(Educational Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1) What is indiscipline ?

(2) Write the meaning of Globalization.

(3) What is social discipline ?

(4) Write the two factors affecting personality.

(5) Write the meaning of individual differences.

(6) What is perception ?

(7) Write the meaning of discipline.

(8) What is concept ?

(9) Write the meaning of demonstration method.

(10) What is mental conflict ?

(11) Write the meaning of disaster.

(12) What is counselling ?

(13) Write the meaning of Vocational Guidance.

P.T.O.
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2. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of higher education.

(2) Write the ways to development of personality.

(3) Explain the educational importance of perception.

(4) Explain the various types of disaster.

3. Answer the following questions in 150 words each (any two) : [20]

(1) What is Educational Guidance ? Write the need of Educational

Guidance.

(2) Explain the concept of riots. Describe the causes of riots and

suggest the ways to overcome it.

(3) What is project method ? Write the nature, importance and

limitations of this method.

(4) What are the causes of school indiscipline ? Suggest the ways

to overcome it.

4. Answer the following questions in 300 words each (any two) : [30]

(1) Explain the concept, causes and educational importance of

individual differences.

(2) Explain the nature, importance and limitations of discuss methods

in detail.
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(3) What are the main problems in Higher Education ? Suggest

the ways to overcome it.

(4) Explain the nature and educational importance of imagination

in detail.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtO;k cktwps vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkr f«gk % [20]

(1) csfðkLr Eg.kts dk; \

(2) tkxfrdhdj.kkpk vFkZ f«gk-

(3) lkekftd fðkLr Eg.kts dk; \

(4) O;fDreRo fodklkoj ifj.kkedj.kkjs nksu ?kVd f«gk-

(5) O;fDrHksnkpk vFkZ f«gk-

(6) vocks/k Eg.kts dk; \

(7) fðkLrhpk vFkZ f«gk-

(8) lacks/k Eg.kts dk; \

(9) fnXnðkZu iºrhpk vFkZ f«gk-
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(10) ekufld la?k"kZ Eg.kts dk; \

(11) vkiŸkhpk vFkZ f«gk-

(12) leqinsðku Eg.kts dk; \

(13) O;kolkf;d ekxZnðkZukpk vFkZ f«gk-

2. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) mPp fðk{k.kkph ladYiuk Li"V djk-

(2) O;fDreRo fodklkps ekxZ f«gk-

(3) vocks/kkps ðkS{kf.kd egRo foðkn djk-

(4) vkiŸkhps izdkj Li"V djk-

3. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 150 ðkCnkr f«gk % [20]

(1) ðkS{kf.kd ekxZnðkZu Eg.kts dk; \ ðkS{kf.kd ekxZnðkZukph vkoð;drk f«gk-

(2) nax«hph ladYiuk Li"V djk o nax«hph dkj.ks lkaxwu R;k nwj dj.;klkBhps

ekxZ foðkn djk-

(3) izdYi iºrh Eg.kts dk; \ ;k iºrhps Lo:i] egRo o e;kZnk f«gk-

(4) ðkk«s; csfðkLrhph dkj.ks lkaxwu csfðkLr nqj dj.;klkBhps mik; Li"V djk-

4. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 300 ðkCnkr f«gk % [30]

(1) O;fDrHksnkph ladYiuk] dkj.ks o ðkS{kf.kd egRo Li"V djk-

(2) ppkZ iºrhps Lo:i] egRo o e;kZnk lfoLrj foðkn djk-

(3) mPpfðk{k.kkrh« izeq[k leL;k dks.kR;k \ R;k nqj dj.;kps ekxZ f«gk-

(4) dYiukps Lo:i o ðkS{kf.kd egRo lfoLrj Li"V djk-



Total No. of Questions—5] [Total No. of Printed Pages—4

[4001]-358

T.Y. B.A. EXAMINATION, 2011

INDUSTRIAL MATHEMATICS

(FMG-3 : C-Programming)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Which of the following are invalid identifiers ? Justify :

(a) Float

(b) I am.

(ii) Write the syntactic translation of the following :

(a)
7 2xy z

uv

-

(b)
3 23

2

x x-
.

(iii) Find the value of the following expression :

4 – 2/3 + 2 * 4 / 3.

(iv) Write a for loop to calculate the sum :

1 – 2 + 3 – 4 + ... + 21.

P.T.O.
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(v) Determine which of the following are valid character constants.

Justify :

(a) “a”

(b) ‘abc’

(vi) Explain the meaning of the following declaration :

float cube (float x, int *n);

(vii) Define a structure consisting of two integer members and a

floating-point member. Also declare 20 variables of this type.

(viii) Explain the malloc( ) function.

(ix) Explain the meaning of the following declaration :

int *C (float, int *, char);

(x) Write a macro to find the maximum of a and b.

2. (A) Attempt any one of the following : [6]

(i) Differentiate between while and do-while loops.

(ii) Write a short note on conditional operator. Explain with

an example.

(B) Attempt any two of the following : [10]

(i) Write a short note on switch statement.

(ii) Write a C program to find the average of n numbers

using an array.

(iii) Write a short note on operators in C.
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3. (A) Attempt any one of the following : [8]

(i) Explain two-dimensional array. Also give an example of

initialization of two-dimensional array.

(ii) Write a short note on functions in C. Also explain function

recursion with an example.

(B) Attempt any two of the following : [8]

(i) Write a short note on call by reference.

(ii) Write a C program to add two integers using command

line argument.

(iii) Write a C program to display a data file.

4. (A) Attempt any one of the following : [6]

(i) Write a short note on structures in C.

(ii) Write a C program to multiply two complex numbers using

structures.

(B) Attempt any two of the following : [10]

(i) Write a short note on external variables.

(ii) Write an algorithm to find maximum and minimum of

n numbers.

(iii) Write a short note on shift operators.
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5. (A) Attempt any one of the following : [6]

(i) Explain enumerations with an example.

(ii) Write a short note on C preprocessor.

(B) Attempt any two of the following : [10]

(i) Explain static variables.

(ii) Write a short note on pointers.

(iii) Write a C program to count the number of vowels and

consonants in a text file.



P.T.O.
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(iii) Use of calculator and statistical table is allowed.

(iv) Symbols and abbreviations have their usual meanings.

1. Attempt any two of the following : [2×5=10]

(a) Show that there exists an infinite number of unbiased estimators

of the parameter l of Poisson distribution.

(b) A random sample X1, X2, ........., X5 of size 5 is drawn

from a normal population with unknown mean m and known

variance s2. Consider the following three estimators of m :

1 2 5
1

X X ....... X
T

5

+ + +
= , 31 2

2

XX X
T

4 2

+
= +

and 
1 2

3

2X X
T

3

+
= .

Show that T1, T2 and T3 are unbiased estimators of m. Which

of the above estimators is the most efficient estimator ?
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(c) Suppose the annual rainfall (in inches) over 24 consecutive

years is as follows :

42, 38, 29, 56, 41, 43, 37, 57, 46, 62, 54, 59,

51, 60, 36, 62, 43, 57, 40, 46, 35, 62, 52, 55.

Use run test to test for randomness of rainfall at 5% level

of significance.

(d) Distinguish between parametric and non-parametric problem.

2. Attempt any four of the following : [4×5=20]

(a) Find the Fisher information function I(a) for G(a, l) distribution

for known l.

(b) Show that for the discrete distribution with p.m.f. :

f(x) = q(1 – q)x – 1, x = 1, 2, 3, .......

           0 < q < 1

for a single observation x, the m.l.e. of q is 
1

X
. Show that

the expected value of the m.l.e. is 
( )

log

1

- q q

- q
.

(c) Explain the notion of likelihood ratio test (LRT).

(d) Define Pivotal quantity and confidence interval for certain unknown

parameter q, when sample size small.

(e) Construct SPRT of strength (a, b) for testing H0 : m = m0

against H1 : m = m1 (>m0) for N(m, s2) distribution.

(f) State the properties of empirical distribution function Sn(x)

as estimator of F(·).
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3. Attempt any three of the following : [3×10=30]

(a) State and prove Cramer-Rao inequality. If T is an unbiased

estimator of q on a random sample of size n, prove that :

( )
( )

1
V T

In
³

q

when I(q) is the Fisher information function. Hence, define

minimum variance bound unbiased estimator (MVBUE) of q.

(b) Define consistency. Prove that an estimator is consistent if

its bias and variance both tend to zero as the sample size

tends to infinity.

(c) Let X1, X2, ........., Xn be a random sample from exponential

distribution with parameter q. Find the most powerful (MP)

test of size a to test H0 : q = q0 against H1 : q = q1

(>q0). Is this test UMP test ? Also find the power function

of the test.

(d) Let X be a continuous random variable having the p.d.f. :

f(x) = qe–qx, x > 0

            q > 0

On the basis of a single observation x from this distribution,

for testing H0 : q = 3 against H1 : q = 4. Compute probabilities

of two types of errors and power of the test based on the

critical region x > 6.

(e) Use Kolmogorov-Smirnov test to test whether the

following random sample of size 5 is drawn from U(0, 1)

distribution :

0.13, 0.23, 0.65, 0.47, 0.56.

Use 5% l.o.s.
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4. Attempt any one of the following : [1×20=20]

(a) (i) Explain one tailed test procedure of sign test. (5)

(ii) Test the hypothesis of no difference between the ages

of male and female employees of a certain company

using Mann-Whitney U test for the sample data.

Use 10% l.o.s. (15)

Age of Male Age of Female

employees (X) employees (Y)

31 34

25 44

30 30

33 34

42 47

40 35

44 32

26 35

43 47

48

(b) (i) The following data represents the number of hours that

11 rechargeable hedge trimmer of a certain company operated

before a recharge was required :

1.5, 2.2, 0.9, 1.3, 2.0, 1.6, 1.8, 1.5, 2.0, 1.2, 1.7

Use Wilcoxon signed rank test to test the hypothesis

at 5% l.o.s. that the trimmer operate on an average 1.8

hours before requiring a recharge. (10)

(ii) Construct likelihood ratio test (LRT) for testing

H0 : q = q0 against H1 : q = q1 (<q0) for an exponential

distribution with mean q. (10)
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1. (A) Answer any three of the following in about Twenty (20) words

each : [6]

(i) What is upward communication ?

(ii) What is the importance of voice in communication ?

(iii) What is informal communication ?

(iv) What is non-verbal communication ?

(v) What is body language ?

(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs of

words :

(a) Get—Gate

(b) Sign—Shine.

P.T.O.
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(ii) Mark the accent :

(a) biscuit

(b) actor.

(iii) Identify the weak forms in the following sentences :

(a) I am a student.

(b) Look at this.

(iv) Mark intonation in the following sentences :

(a) The child is hungry.

(b) Are you coming ?

(v) How would you express thanks in the following situation ?

Someone found and returned a book you had lost.

2. (A) Attempt any three of the following : [6]

(i) Make two words with each of the following suffixes :

(a) –age

(b) –less

(ii) Make antonyms with the help of prefixes :

(a) efficient

(b) wanted

(iii) Identify the parts of speech of the underlined words :

(a) I drove fast to the hospital.

(b) He is a fast worker.



[4001]-360 3 P.T.O.

(iv) Identify the acceptable combinations of the words below :

(a) hold a conversation/do a conversation.

(b) press an icon/click on an icon.

(v) Fill in the blanks with appropriate word :

(a) Her words had a big ............... on the child.

(affect/effect)

(b) I want you to ................ the property.

(appraise/apprise)

(B) Attempt any three of the following : [6]

(i) Write a set of two words each closely related in meaning

to the following words :

(a) happy

(b) talk.

(ii) Match the synonyms in the two columns :

Column A Column B

(1) lucid (a) wide

(2) broad (b) useless

(3) elementary (c) clear

(4) futile (d) basic

(iii) Frame sentences by using the following sentences :

(a) back off

(b) back away.
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(iv) Coin as many words as possible from the letters used

in the words below :

(a) Mathematics

(b) Tarnish.

(v) Identify whether the meaning of the underlined word is

literary or figurative :

(a) She gave me a cold look.

(b) You look nice in the blue shirt.

3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of Lecturer

in a college. Anticipate any six questions and write down your

responses to them.

(b) Imagine that you are going to take interview of “Film Actress”.

List down the ten questions you could ask.

(c) Shital, Ramesh and Vinod a group of friends is having a discussion

on the ‘recently watched film’. Write a dialogue anticipating

two utterances for each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the

following topics :

(1) Superstitions

(2) My favourite movie.
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(b) Write a review of the book you read recently.

(c) Summarise the following passage :

Learners of English in India have realized that English is not

necessary for the shaping of character, the development of

the aesthetic sense, the cultivation of ethical thinking or for

getting civilized, which can be and has been effectively done

through the rich traditions in the language and literatures of

India; but English is needed for mobility and social and economic

success; English is the language of opportunities because it

takes one outside one’s own community, to places where more

opportunities are available for professional and economic reasons,

may be the USA, the Middle East and several other places

inside and outside India. That is why there is great demand

for English.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

the stenogram is efficient renable time saving and

economical backed by our international reputation for

reliability it is in regular use in many office’s all over

the country.
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(ii) Rearrange the jumbled sentences below to form well written

paragraph :

(1) They are Chemistry, Physics, Physiology of medicine,

literature and peace.

(2) It is awarded from funds bequeathed by Alfred Nobel,

a Swedish inventor and philanthropist.

(3) In 1969, economics was added to them.

(4) Prizes in these seven areas are presented in December

every year, in the presence of the king of Sweden,

as a fitting tribute to Alfred Nobel.

(5) The Nobel Prize is considered one of the most prestigious

awards made to people whose work benefits

humanity.

(6) Nobel’s will designed six areas for which prizes could

be awarded.

(7) The funds are administered by the Nobel foundation

in Stockholm.

(iii) Explain the use of any one punctuation marks given

below :

(a) Exclamation mark

(b) Comma.
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(B) Attempt any two of the following questions : [6]

(i) Match the following expressions of telephonic conversation :

  Mr. A  Mr. B

(1) Hello (a) Yes, it is

(2) Is this 20251123 (b) He will be back in an hour

(3) Can I speak to Mr. Sonar (c) You are welcome

(4) Could you tell me when

he will be back, please (d) Good morning

(5) Then I would like to

leave a message (e) I am sorry, but he is not

in the office

(ii) Complete the telephone conversation below :

A : Hello 2452567 ?

B : Yes....................

A : ............Manoj Chaudhari. I have been asked to meet

Ms. Sangita Tidke with jewellery designs ..................

B : ........... please

A : Of course. I’ll ............ .

B : Thanks ................ the line.

(iii) Write a transcript of a power point presentation you would

like to make on ‘Pollution’.
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1. Answer any four of the following : [16]

(i) What is morphology ? Explain the concepts : morphemes and

allomorphs.

(ii) Explain the process of prefixation and suffixation with examples.

(iii) Describe the vowels of English.

(iv) Explain the ‘Plosives’ in English.

(v) Bring out the distinction between free morphemes and bound

morphemes.

(vi) Explain the pulmonic egressive air-stream mechanism in the

production of speech.

2. Write short notes on any four of the following : [16]

(i) Code mixing and code switching.

P.T.O.



[4001]-361 2

(ii) Speech Acts

(iii) Creole and Pidgin

(iv) Bilingualism

(v) Features of Multilingualism

(vi) Distinction between sentence and utterance.

3. Write short notes on any four of the following : [16]

(i) Weak forms in English

(ii) Word Accent

(iii) Present Time

(iv) Rising Intonation

(v) Concrete and Abstract nouns.

(vi) The notion of Time-when.

4. Write short notes on any four of the following : [16]

(i) Dialect as a variety of language

(ii) Deixis

(iii) Co-operative principle

(iv) Indian English as a non-native variety

(v) Registers

(vi) Differences in American and British variety of English at the

lexical level.
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5. (a) Answer any two of the following : [8]

(i) State the characteristic features of Indian English.

(ii) Point out the difference between British and American English

at the syntactic level.

(iii) Explain the characteristic features of American English.

(b) Do as directed (any four) : [8]

(i) Rewrite two words each by using the following affixes :

(a) –ness

(b) inter–

(c) –able

(d) re–

(ii) Transcribe the following words phonemically :

nation, people, sugar, ocean.

(iii) Use the correct tense form of the verb given in the brackets :

Actually the match (begin) at three on Thursday.

(iv) Identify the register of the statement and point out its

markers :

On Thursday, Finance Minister played down the increase

in food inflation in late January and said government was

taking steps to moderate prices.

(v) Identify the deixis in the following utterance and mention

its type :

These boxes contain chocolates.
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1. (A) Attempt any two of the following in about 50 words each : [8]

(i) What are the functions of criticism ?

(ii) What do you mean by fine arts ? Explain with examples.

(iii) What is a poetic truth ?

(B) Attempt any two of the following in about 50 words each : [8]

(i) Discuss literature as a social product.

(ii) Explain how the biography of a writer is useful in the

study of his works.

(iii) Discuss different views on the psychological approach to

the study of literature.

P.T.O.
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2. Attempt any four of the following in about 50 words each : [16]

(i) What, according to Sidney, is the function of poetry ?

(ii) How does Dr. Johnson justify Shakespeare’s mingling of the

tragic and the comic in one and the same play ?

(iii) Discuss Wordsworth’s views on the subject of poetry.

(iv) Write a note on Eliot’s conception of tradition.

(v) Discuss Arnold’s ‘Touchstone Method’.

(vi) How does Wordsworth define the nature of poetry ?

3. Attempt any four of the following : [16]

(1) What is an ‘Ambiguity’ ?

(2) What is a symbol ?

(3) Explain simile with example.

(4) What do you mean by the term ‘Satire’ ?

(5) Explain the term ‘Genre’.

(6) What do you understand by the term ‘Denotation’ ?

4. Attempt any four of the following : [16]

(a) Explain the term ‘Comic Relief’.

(b) What do you mean by the term ‘Flat Characters’ ?

(c) Define personification.
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(d) What do you mean by classicism ?

(e) Explain the term ‘soliloquy’.

(f) Define the term ‘setting’.

5. Read the following poem and answer the questions that follows

(any eight) : [16]

In Madurai,

City of temples and poets

who sang of cities and temples :

every summer

a river dries to a trickle

 in the sand,

baring the sand ribs

straw and women’s hair

clogging the watergates

 at the rusty bars

under the bridges with patches

of repair all over them

the wet stones glistening like sleepy

 crocodiles, the dry ones

shaven water-buffaloes lounging in the sun.
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The poet sang only of the floods

 He was there for a day

 when they had the floods.

 people everywhere talked

 of the inches rising,

 of the precise number of clobbed steps

 run over by the water, rising

 on the bathing places,

 and the way it carried off three village houses,

 one pregnant woman

 and a couple of cows

 named Gopi and Brinda, as usual.

The new poets still quoted

the old poets, but no one spoke

 in verse

of the pregnant woman

drowned, with perhaps twins in her,

kicking at blank walls

 even before birth.

He said :

the river has water enough

 to be poetic
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about only once a year

         and then

it carries away

in the first half-hour

three village houses,

a couple of cows

named Gopi and Brinda

and one pregnant woman

expecting identical twins

with no moles on their bodies

with different-coloured diapers

to tell them apart.

Questions :

(1) What is Madurai famous for ?

(2) What happens to a river in every summer ?

(3) Ho do the wet stones and the dry stones look like in the

summer ?

(4) Name the victims of the floods.

(5) What obstructs the flow of river ?

(6) What is the attitude of the old and the new poets to the

victims of the flood ?
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(7) Identify and explain the figure of speech in the following

line :

‘the wet stones glistening

like sleepy crocodiles’.

(8) What do the people talk about the damage caused by the

floods ?

(9) What was the pregnant woman expecting ?

(10) Identify the expressions that suggest indianness in the

poem.

(11) Comment on the language of a poem.
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1. Answer the following in 50 words each (any four) : [10]

(i) What do you mean by ‘Asana’ ?

(ii) List of Gymnastic event for men and women.

(iii) Measurement of Table Tennis table and list the basic skills.

(iv) Olympic motto.

(v) Basic skills of Handball.

(vi) A Football team consists of how many players ? Write the

measurement of Football field.

2. Answer the following in 300 words each (any three) : [15]

(i) Importance of Yoga in daily life.

(ii) Basic rules of Football.

(iii) Draw a neat diagram of Volleyball ground and write the basic

skills of Volleyball.

(iv) Olympic flag.

(v) Importance of clubs in sports.

P.T.O.
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3. Answer the following in 200 words each (any two) : [20]

(i) Physical Education after independence period.

(ii) History of modern Olympic game

(iii) Functions of SAI.

4. Answer the following in 500 words (any one) : [15]

(i) Who revived the modern Olympic games ? What are the objectives

of modern Olympic games ?

(ii) Basic rules and requirements of shot-put in Athletics and draw

a neat diagram of shot-put sector.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh pkj) % [10]

(i) ^vklu* Eg.kts dk;-

(ii) ftEuWfLVd ;k [ksˇkrh« iq#"k o efg«kalkBh Li/kkZizdkjkaph ;knh djk-

(iii) ^Vsc« Vsful* ef/k« Vsc«kps eksteki lkaxwu ew«Hkwr dkSðkY; lkaxk-

(iv) ^vkWf«fEid cks/kokD;* f«gk-

(v) gW.MckW« ;k [ksˇkrh« ew«Hkwr dkSðkY; f«gk-

(vi) ^QqVckW« eSnkukph «kach #aanh lkaxwu la?kke/;s fdrh [kš kMw vlrkr rs f«gk-
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2. [kk«h« izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk (dks.krsgh rhu) % [15]

(i) ;ksxkps nSuafnu thoukrh« egRo lkaxk-

(ii) QqVckW« ;k [ksˇkps eq«Hkwr fu;e lkaxk-

(iii) OgkW«hckW« ;k [kš kps eq«Hkwr dkSðkY; lkaxwu] okW«hckW« eSnkukph lqcd vkœrh

dk<k-

(iv) vkWf«fEid /ot ekfgrh f«gk-

(v) [ksˇkP;k fodklklkBh eaMˇkaps ;ksxnku Li"V djk-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(i) Lokrá ;ksŸkj dkˇkrh« ðkkjhfjd fðk{k.k Li"V djk-

(ii) vk/kqfud vkWf«fEidpk bfrgkl f«gk-

(iii) ^ÿhMk izkf/kdj.kkps dk;kZcÌ« ekfgrh f«gk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [15]

(i) vk/kqfud vkWf«fEid Li/ksZph lq:okr dks.kh ds«h o ;k Li/kkZ lq: dj.;kps

mfÌ"VÓs Li"V djk-

(ii) xkš kQsd eSnkukph vkœrh dk<wu R;kl vkoð;d vl.kkÚ;k lkfgR;kph ;knh

o eqyHkwr fu;e Li"V djk-
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1. (A) Attempt any four of the following : [8]

(i) Give an example of a finite abelian non-cyclic group.

(ii) Show by giving an example that union of two subgroups

of a group G need not be a subgroup of G.

(iii) Show that every subgroup of an abelian group is normal.

(iv) If : G G'φ →  is a group homomorphism, then show that :

1 1( ) [ ( )] , Gx x x− −φ = φ ∀ ∈

.

(v) Show that ( ) xf x e=  is not a permutation on R.

(B) Attempt any four of the following : [8]

(i) Give an example of a ring with unity 1 that has a subring

with unity 1' 1≠ .
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(ii) Show that every field is an integral domain.

(iii) Show that the ring 5Z is not isomorphic to Z7.

(iv) State ‘mod p’ irreducibility test.

(v) Give an example of a PID which is not an ED and an

example of a UFD which is not a PID.

2. (A) Attempt any one of the following : [6]

(i) Prove that a non-empty subset H of a finite group G

is a subgroup if and only if 

a b a b

.

(ii) Prove that N is a normal subgroup of G if and only

if every left coset of N in G is a right coset of N

in G.

(B) Attempt any two of the following : [10]

(i) Prove that if G is an abelian group, then for all 

a b( )

 for every integer n.

(ii) If N, M are normal subgroups of G, then show that

NM is a normal subgroup of G.

(iii) Let G be an abelian group and Gg ∈  be a fixed element

in G. Show that  defined by  is

an isomorphism of G onto G.
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3. (A) Attempt any two of the following : [8]

(i) Find the remainder of 8103 when divided by 13.

(ii) Prove that every cyclic group is abelian but not conversely.

(iii) Let

1 2 3 4 5 6 7 8 9

3 4 2 1 6 5 7 9 8

 
σ =  

 

Express s as a product of disjoint cycles. Find s–1, 0 (s)

and determine whether it is even or odd permutation.

(B) Attempt any two of the following : [8]

(i) Prove that every field is a Euclidean domain.

(ii) Show that the characteristic of an integral domain is

either O or prime P.

(iii) Determine all ring homomorphisms from Z to Z.

4. (A) Attempt any one of the following : [6]

(i) State and prove ‘Division Algorithm’ for F[x] where F

is a field.

(ii) Prove that the product of two primitive polynomials is

a primitive polynomial.

(B) Attempt any two of the following : [10]

(i) Prove that <x> is a maximal ideal in Q[x].
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(ii) Give an example of a left ideal of a ring which is not

a right ideal. Justify.

(iii) Prove that the pth cyclotomic polynomial :

2 1( ) 1 ........... p
p x x x x −φ = + + + +

is an irreducible polynomial in Q[x], where p is a prime.

5. (A) Attempt any one of the following : [6]

(i) Prove that every ED is a PID.

(ii) Prove that in a PID, every irreducible element is prime.

(B) Attempt any two of the following : [10]

(i) Show that the polynomial (2x + 1) has a multiplicative

inverse in Z4[x]. Is Z4[x] an integral domain ? Justify.

(ii) Show that :

4

Q[ ]

1

x

x< + >

is a field. Is 4

[ ]

1

x

x< + >

C
 a field ?

(iii) Let D be a ED and d be an associated function. Prove

that u is a unit in D if and only if 

d u d

.
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1. Attempt any eight of the following : [16]

(i) Give an example of sets A, B, C, D and E which satisfy the

following conditions simultaneously :

 A Ì B, B

Î

C, C

Ì

D and D Ì E.

(ii) List the members of P(A), if A = {{1, 2}, {3}, 1}.

(iii) State Schröder-Bernstein theorem.

(iv) How many rows appear in the truth table for the compound

proposition :

( ) ( ) ( )p r q s u p® Ú Ù ® Ú

(v) Determine whether the following propositions are true or

false :

(a) 2 + 2 = 4 if and only if 2.2 = 4

(b) If x Î R , the x2 > 0.

P.T.O.
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(vi) Give an example of a Cauchy sequence in some metric space

which is not convergent in it.

(vii) Is Q open in R ? Justify.

(viii) Find the closures of the following subsets of R :

(a)

Z

(b) (0, 1).

(ix) What are dense subsets of a discrete metric space ?

(x) Show that if B is totally bounded and A 

Ì

 B, then A is

totally bounded.

2. (A) Attempt any one of the following : [6]

(i) Prove that a function f : X 

®

 Y is one-one if and only

if for any : A, B X, (A B) = (A) (B).

(ii) Let r  and 

s

 be equivalence relations on a set A. Is

r s

 an equivalence relation ? Justify.

(B) Attempt any two of the following : [10]

(i) Write the members of the relation {1, 2} × {2, 3, 4}.

What are the domain and range of this relation ? What

is its graph ?

(ii) Prove that if n is an integer, then 2 .n n³

(iii) Show that :

        (P( ) Q( ))x x x$ Ú  and P( ) Q( )x x x x$ Ú $

are logically equivalent.
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3. (A) Attempt any two of the following : [8]

(i) Prove that a countable union of countable sets is countable.

(ii) Use rule of inference to show that if :

    (P( ) (Q( ) S( )) and (P( ) R( ))x x x x x x x" ® Ù " Ù

are true, then (R( ) S( ) )x x x" Ù  is true.

(iii) Use quantifiers and predicates with more than one variable

to express the following statements :

(a) Every computer science student needs a course in Discrete

Mathematics.

(b) There is a student in this class who owns a personal

computer.

(c) Every student in this class has taken at least one

computer science course.

(d) There is a student in this class who has taken at

least one course in computer science.

(B) Attempt any two of the following : [8]

(i) Let (X, d) be a metric space, x Î  X and r > 0, then

show that the open ball B(x, r) is open.

(ii) Show  that any continuous function f from a compact metric

space (X, d) to another metric space (Y, d) is bounded.

(iii) Let A be a connected subset of a metric space X and

A B AÌ Ì

, then show that B is connected.
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4. (A) Attempt any one of the following : [6]

(i) Prove that the limit of a sequence in a metric space is

unique.

(ii) State and prove Bolzano-Weierstrass theorem.

(B) Attempt any two of the following : [10]

(i) Show that D Ì X is dense in a metric space (X, d) if

and only if every point of X is a limit point of D.

(ii) Prove that any compact subset of a metric space is closed

and bounded.

(iii) Let X be infinite and d be the discrete metric on X. Show

that X is bounded and closed but not compact.

5. (A) Attempt any two of the following : [8]

(i) Let (X, d) and (Y, d) be metric spaces, show that :

      

d =

is a metric on the product set X × Y.

(ii) Prove that any finite subset of a metric space is closed.

(iii) Let X, Y be metric spaces. Let f : X ® Y be a function.

Then prove that f is continuous at 

x

 if and only

if for given an open set V containing f(x) in V, we can

find an open set U containing x such that f(U) Ì V.
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(B) Attempt any two of the following : [8]

(i) Prove that, if a set 

J Í R

 is connected, then J is an

interval.

(ii) Show that R2 is complete.

(iii) Let X be a metric space. Let A and B be two connected

subsets of X such that 

A B ,¹ fI

 then show that A BU

is connected.
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1. Attempt any eight of the following : [16]

(i) Solve :

tan tan 0
dy

y x
dx

+ = .

(ii) Verify that the differential is exact :

1
1 cos [ log sin ] 0y y dx x x x y dy

x

  
+ + + + − =    

.

(iii) Show that derivative of any solution of 

2

2
0

d y dy
p qy

dx dx
+ + =

is also a solution.

(iv) Give the statement of Kirchhoff’s Law.

P.T.O.
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(v) Determine the nature of the point x = 0 of the equation

2
2

2
(sin ) 0.

d y
x x y

dx
+ =

(vi) Find a complete integral of the equation pq = 1.

(vii) Eliminate the parameters a and b from the equation

2z = (ax + y)2 + b.

(viii) Verify that the Pfaffian differential equation is exact

yzdx + 2xzdy – 3xydz = 0.

(ix) Find the complete integral of Clairaut’s partial differential equation

z = px + qy + log pq.

(x) Explain the method of solving the first order partial differential

equation f(z, p, q) = 0.

2. (a) Attempt any one of the following : [6]

(i) Define the Bernoulli’s differential equation and explain

the method of solving it.

(ii) Explain the method of solving the linear non-homogeneous

differential equation 

2

2
P( ) Q( ) R( )

d y dy
x x y x

dx dx
+ + =  by using

variation of parameters.
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(b) Attempt any two of the following : [10]

(i) Find the particular solution that satisfies the given initial

condition :

(x + 1) (x2 + 1)
dy

dx
 = 2x2 + x, y = 1 when x = 0.

(ii) Show that the family y2 = 4c(x + c) is self-orthogonal.

(iii) Solve :

(x3 + 3y3)dx + 3y2dy = 0.

3. (A) Attempt any two of the following : [8]

(i) Find the power series solution of the differential equation

2

2
0.

d y
y

dx
+ =

(ii) Verify that the origin is a regular singular point and

find two independent Frobenius series solutions :

2
2

2
2 2(2 1) 0.

d y dy
x x y

dx dx
+ + − =

(iii) Solve the system of differential equations :

3 4
dx

x y
dt

= −

dy
x y

dt
= − .
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(B) Attempt any two of the following : [8]

(i) Prove that there always exists an integrating factor for

a Pfaffian differential equation in two variables.

(ii) Show that the equations :

xp – yq – x = 0,

x2p + q – xz = 0

are compatible.

(iii) Find a complete integral of the Partial differential equation

x2p2 + y2q2 – 4 = 0.

4. (A) Attempt any one of the following : [6]

(i) Prove that, if h1 = 0 and h2 = 0 are compatible with

f = 0, then h1 and h2; satisfy :

( , ) ( , ) ( , )
0

( , ) ( , ) ( , )x y z

f h f h f h

x u u u z u

∂ ∂ ∂
+ + =

∂ ∂ ∂ ,

where h = hi (i = 1, 2).

(ii) Prove that, if X .curl X = 0
→ →

, where 

X

 = (P, Q, R) and

µ is an arbitrary differentiable function of x, y and z,

then 

µ µ
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(B) Attempt any two of the following : [10]

(i) Find the orthogonal trajectories on the conicoid (x + y)z

= 1 and the conics in which it is cut by the system

of planes x – y + z = k, where k is a parameter.

(ii) Find the integral curve of

21

dx dy dz

xz y yz x z
= =

− − − .

(iii) Find a complete integral of the equation p2x + q2y = zby

Jacobi’s method.

5. (A) Attempt any one of the following : [6]

(i) Explain Jacobi’s method for solving a partial differential

equation : f(x, y, z, ux, uy, uz) = 0.

(ii) State and prove that a necessary and sufficient condition

for the integrability of dz = φ(x, y, z)dx + ψ(x, y, z)dy.

(B) Attempt any two of the following : [10]

(i) Find the complete integral of

up + 3yq = 2(z – x2q2)

by Charpit’s method.
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(ii) Find the complete integral of

P1P2P3 = Z3 x1x2x3

by Jacobi’s method.

(iii) Find the integral surface of the equation x3p + y

(3x2 + y)q = z(2x2 + y), which passes through the curve

x0 = 1, y0 = s, z0 = s(1 + s).
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1. Answer any two of the following questions in 50 words each : [10]

(i) What is scientific induction ?

(ii) Explain methodological individualism.

(iii) What is the teleological approach to Universe ?

(iv) What is Durkheim’s understanding of social fact ?

2. Write short notes on any four of the following in 100 words

each : [20]

(i) Nature of scientific law.

(ii) Cultural relativity in social sciences.

(iii) Instrumentalism.

(iv) Historical explanation.

(v) Testability as a condition of acceptability of a scientific hypothesis.

(vi) Basic features of social action.

P.T.O.
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3. Answer any three of the following questions in 200-250 words each : [30]

(i) Discuss the issue of possibility of experimentation in social

sciences.

(ii) Explain the logical positivists’ views about the cognitive status

of theories.

(iii) What are the main characteristics of laws in social sciences ?

(iv) Discuss the deductive nomological model of explanation.

(v) Discuss Mill’s views about causation.

4. Answer any one of the following question in 500 words : [20]

(i) What is the difference between science and common sense ?

Discuss elaborately.

(ii) Critically discuss the “Unity of Method” thesis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(i) ^oSKkfud foxeu* Eg.kts dk; \

(ii) iºrhðkkL=h; O;Drhokn Li"V djk-

(iii) fo/kkdMs c?k.;kpk iz;kstuoknh n`f"Vdksu Eg.kts dk; \

(iv) lkekftd rF;kps Mqj[kkbZeps vkd«u dk; vkgs \
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(i) oSKkfud fu;ekps Lo:i-

(ii) lkekftd foKkukrh« laLœrh lkis{krk-

(iii) lk/kuokn-

(iv) ,sfrgkfld Li"Vhdj.k-

(v) ijh{k.k{kerk % oSKkfud vH;qixekP;k LohdkjkgZrsph ,d vV-

(vi) lkekftd œrhps ew«Hkwr ?kVd-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200&250 ðkCnkar |k % [30]

(i) lkekftd foKkukrh« iz;ksxkP;k ðkD;rsP;k eq|kph ppkZ djk-

(ii) miiŸkhaP;k cks/kulaca/kh ntkZcÌ«ph rkfdZd izR;{kkFkZok|kph Hkwfedk Li"V djk-

(iii) lkekftd foKkukrh« fu;ekaps eq[; xq.k/keZ dks.krs \

(iv) Li"Vhdj.kkP;k uSxefud fu;ekuqlkjh (Mh-,u-) izk:ikph ppkZ djk-

(v) fe«P;k dkj.krklaca/kh fopkjkaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(i) foKku vkf.k lkekU; /kkj.kk ;kr dk; Qjd vkgs \ foLr`r ppkZ djk-

(ii) iºrhðkkL=h; ,drsP;k flºkUrkph fpfdRld ppkZ djk-
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Group ‘A’

1. Answer any two of the following in maximum 50 words each : [10]

(1) Taylorism.

(2) Flexibility in post-Fordist production.

(3) Features of New Economic Policy.

(4) Problems of unemployment in Contemporary India.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Importance of work

(2) Fordism

P.T.O.
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(3) Feminization of work

(4) Meaning of privatization

(5) Problems of labour in unorganised sector

(6) Impact of Information Revolution on environment.

3. Write any three of the following in maximum 250 words each : [30]

(1) Discuss the characteristics of Bureaucracy.

(2) Explain the effects of globalization on workers in formal sector.

(3) Describe the problems of migrant labour.

(4) Discuss the importance of informal relations within formal

organization.

(5) Describe the impacts of information age on social institutions.

4. Answer any one of the following in maximum 500 words : [20]

(1) Define work. Write an essay on historical overview of work.

(2) Define Trade Union. Explain the strategies of trade unions

and present challenges faced by them.

OR

Group ‘B’

1. Answer any two of the following in maximum 50 words each : [10]

(1) Positive school of crime
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(2) Crimes against caste

(3) Criminalization of politics

(4) Rehabilitation of prisoners.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Delinquent subculture (Cohen).

(2) Features of organised crime.

(3) Preventive theory of Punishment.

(4) Importance of correction of criminals.

(5) Alternative imprisonment.

(6) Features of white-collar crime.

3. Answer any three of the following in maximum 250 words each : [30]

(1) Discuss the characteristics of crime.

(2) Explain Sutherland’s perspective to crime.

(3) Describe the causes of Juvenile Delinquency.

(4) Elaborate the features of Retribution theory of Punishment.

(5) State the role and types of victims in crime.

4. Answer any one of the following in maximum 500 words : [20]

(1) Write an essay on crime against women.

(2) Define terrorism. Explain the characteristics and causes of

terrorism.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

xV ^v*

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) Vs«fj>e

(2) mŸkj&QksfMZLV mRiknukrh« «ofpdrk

(3) uohu vkfFkZd /kksj.kkaph oSfðk"VÓs

(4) ledk«hu Hkkjrkrh« csdkjhph leL;k-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) dkekps egRo

(2) QksfMZ>e

(3) dkekps L=hdj.k

(4) [kktxhdj.kkpk vFkZ

(5) vla?kfVr {ks=krh« JfedkaP;k leL;k

(6) ekfgrh ÿkarhpk i;kZoj.kkojh« izHkko-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(1) uksdjðkkghP;k oSfðk"VÓkaph ppkZ djk-

(2) la?kfVr {ks=krh« dkexkajkojh« tkxfrdhdj.kkP;k ifj.kkekaph ppkZ djk-
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(3) LFk«karfjr JfedkaP;k leL;kps o.kZu djk-

(4) vkSipkfjd la?kVuke/kh« vukSipkfjd laca/kkP;k egRokph ppkZ djk-

(5) ekfgrh ;qxkP;k lkekftd laLFkkojh« izHkkokps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) dkekph O;k[;k f«gk- dkekP;k ,sfrgkfld vk<kO;koj fuca/k f«gk-

(2) dkexkj la?kVukaph O;k[;k f«gk- dkexkj la?kVukaps Mkoisp lkaxwu R;kaP;k leksjh«

l| vkOgkus Li"V djk-

fdaok

xV ^c*

1. [kk«h«iSdh dks.kR;kgh nksu ladYiuk izR;sdh 50 ðkCnkai;±r Li"V djk % [10]

(1) xqUgÓkpk izR;{koknh laiznk;

(2) tkrhfo#º xqUgs

(3) jktdkj.kkps xqUgsxkjhdj.k

(4) xqUgsxkjkaps iquoZlu-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(1) xqUgsxkjh milaLœrh (dksgsu)

(2) la?kfVr xqUgÓkph oSfðk"VÓs

(3) fðk{kspk izfrca/k flºkar

(4) xqUgsxkjkaP;k lq/kkj.kkaps egRo

(5) i;kZ;h rq#axokl

(6) ika<jisðkk xqUgsxkjhph oSfðk"VÓs-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) xqUgÓkP;k oSfðk"VÓkaph ppkZ djk

(2) xqUgÓkP;k lnj«°M ;kapk n`"Vhdksu Li"V djk-

(3) ck« xqUgsxkjhP;k dkj.kkaps o.kZu djk-

(4) fðk{ksP;k lwM flºkarkph oSfðk"VÓs foðkn djk-

(5) xqUgÓkrh« cˇhaph Hkwfedk vkf.k cˇhaps izdkj lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) fL=;kafo#º xqUgÓkoj fuca/k f«gk-

(2) ngðkroknkph O;k[;k f«gk o ngðkroknkph oSfðk"VÓs vkf.k dkj.ks Li"V

djk-
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1. Answer any two of the following in maximum 50 words each : [10]

(1) Objectivity in social research

(2) Hypothesis

(3) Ethnography

(4) Mode.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Positivism

(2) Secondary sources

(3) Importance of research report

(4) Types of observation

(5) Histogram

(6) Advantages of interview.
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3. Answer any three of the following in maximum 250 words

each : [30]

(1) Describe the meaning and significance of social research.

(2) What is case study ? State the merits of case study method.

(3) Explain the types of Questionnaire.

(4) State the meaning and advantages of content analysis.

(5) Elucidate the use of computer in social research.

4. Answer any one of the following in maximum 500 words : [20]

(1) Describe the meaning, merits and demerits of survey method.

(2) Explain the meaning and types of research design.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) lkekftd laðkks/kukrh« oLrqfu"Brk

(2) x`ghrœR;

(3) laLœrho.kZu

(4) cgq«d-
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(1) izR;{kokn

(2) nq∏;e lzksr

(3) laðkks/ku vgok«kps egRo

(4) fujh{k.kkps izdkj

(5) LraHkk«s[k

(6) eq«k[krhps Qk;ns-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) lkekftd laðkks/kukpk vFkZ o egRokps o.kZu djk-

(2) O;"Vh v/;;u Eg.kts dk; \ O;"Vh v/;;u iºrhps xq.k lkaxk-

(3) izðuko«hps izdkj Li"V djk-

(4) vkðk; foð«s"k.kkpk vFkZ o xq.k lkaxk-

(5) lkekftd laðkks/kukr lax.kdkps mi;ksx foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) losZ{k.k iºrhpk vFkZ o xq.k nks"kkaps o.kZu djk-

(2) laðkks/ku vkjk[kMÓkpk vFkZ o izdkj Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

SOCIOLOGY

[Indian Society : Continuity and Change (S-4)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Indus valley civilization.

(2) Concept of secularism.

(3) NREGP.

(4) Transport problems in metropolitan cities.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Role of civil society in a democracy.

(2) M. Gandhi’s ideas on development of Indian Society.

(3) Problems of communalism in Indian Society.

(4) Panchayati Raj and 73rd Amendment.

(5) Impact of green revolution.

(6) Changing nature of tribal society in India.
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3. Write any three of the following in maximum 250 words

each : [30]

(1) Discuss contributions of Islam to the making of Indian society.

(2) Elucidate Nehru’s ideas of nation-building.

(3) Analyze the role of media in contemporary India.

(4) What are the major issues related to education in India ?

(5) Discuss changing nature of family and household in Indian society.

4. Answer any one of the following in maximum 500 words : [20]

(1) Discuss the efforts of Indian state in dealing with the challenges

to unity and diversity of India.

(2) Critically evaluate the impact of globalization on Indian

agriculture.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkr mŸkjs f«gk % [10]

(1) fla/kw laLœrh-

(2) /keZfujis{krsph ladYiuk-

(3) ,u- vkj- bZ- th- ih-  (NREGP).

(4) egkuxjkae/kh« okgrwd leL;k-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh dek« 100 ðkCnkr Vhik f«gk % [20]

(1) «ksdðkkghe/kh« ukxjh leqnk;kph Hkwfedk-

(2) e- xka/kh ;kaps Hkkjrh; lektkP;k fodklklaca/khps fopkj-

(3) Hkkjrh; lektke/kh« tekroknkph leL;k-

(4) iapk;rh jkT; vkf.k 73oh ?kVuk nq#Lrh-

(5) gjhr ÿkarhps ifj.kke-

(6) Hkkjrkrh« vkfnoklh lektkps cn«rs Lo:i-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkr mŸkjs f«gk % [30]

(1) Hkkjrh; lektkP;k fufeZrhe/kh« bL«keP;k ;ksxnkukph ppkZ djk-

(2) jk"V™&cka/k.kh laca/kh usg:aps fopkj foðkn djk-

(3) ledk«hu Hkkjrkrh« izlkjek/;ekaP;k Hkwfedsps foð«s"k.k djk-

(4) Hkkjrkrh« fðk{k.kkðkh lacaf/kr izeq[k izðu dks.krs rs lkaxk-

(5) Hkkjrh; lektke/kh« dqVqac o ?kjnkj ;kaP;k cn«R;k Lo:ikph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkr mŸkj f«gk % [20]

(1) Hkkjrh; ,dkRerk vkf.k fofo/krs leksjh« vkOgkukapk lkeuk dj.;klkBh Hkkjrh;

ðkklukus ds«sY;k iz;Rukaph ppkZ djk-

(2) Hkkjrh; ðksrhojh« tkxfrdhdj.kkP;k izHkkokph VhdkRed fpfdRlk djk-
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T.Y. B.A. EXAMINATION, 2011

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper III

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Write the period of the composition of Rigveda.

(ii) State the importance of the Puranas.

(iii) What is ‘Chaturyama Cult’ of Parshvanath ?

(iv) Who was ‘Makkhali Goshala’ ?

2. Write notes on the following in 100 words each (any four) : [20]

(i) Structure of Atharvaveda.

(ii) Yajurveda.

(iii) Period of the composition of Ramayana.

(iv) Seven categories in Jainism.

(v) Buddhist Samgha.

(vi) Philosophy of Ajit Keshakambali.



[4001]-372 2

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) What do you know about the philosophy of Aryanyakas ?

(ii) Write the historical development of Shaivism.

(iii) State the philosophy of Bhagwan Mahavira.

(iv) Write the life of Bhagwan Buddha.

(v) State the influence of the Heterodox sects on Indian culture.

4. Answer any one of the following questions in 500 words : [20]

(i) Describe the philosophy of Upanishads.

(ii) Write an essay on the philosophy of Lokayatiks.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ΩXosnkP;k jpuspk dkˇ f«gk-

(ii) iqjk.kkaps egRo lkaxk-

(iii) ikðoZukFkkapk ^pkrq;kZe iaFk* Eg.kts dk; \

(iv) ^e[[k«h xksðkk«* dks.k gksrk \
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2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vFkoZosnkph jpuk

(ii) ;tqosZn

(iii) jkek;.kkP;k jpuspk dk«

(iv) tSu /kekZrh« lIrHk≥~xhu;

(v) ckSn~/k la?k

(vi) vftr dsðkdEc«h ;kps rŸoKku-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ^vkj.;dkaps rŸoKku* ;k fo"k;h rqEgkal dk; ekfgrh vkgs \

(ii) ðkSo/kekZpk ^,sfrgkfld fodkl* f«gk-

(iii) Hkxoku egkohjkaps rŸoKku lkaxk-

(iv) Hkxoku cqn~/kkaps thoupfj= f«gk-

(v) Hkkjrh; laLœrhojh« voSfnd laiznk;kapk izHkko lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) mifu"knkrh« rŸoKku o.kZu djk-

(ii) «ksdk;frdkaps rŸoKku ;koj fuca/k f«gk-
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T.Y. B.A. EXAMINATION, 2011

MATHEMATICS

(Mathematical Prerequisites)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Convert the inequalities below into equations using slack and

surplus variables :

x + 3y £ 8,  2x – 3y ³ 5.

(2) Find eigenvalues of :

2 4
A

0 5

− 
=  
 

.

(3) Find 2A – B if :

[ ]A 0 1 4 ,= −  [ ]B 1 2 3= .
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(4) Define singular matrix.

(5) Find transpose of :

4 5 0
A

2 8 1

− 
=  
 

.

(6) Find A . B if :

2 5
A

1 0

 
=  − 

,  
1 1

B
1 3

− 
=  
 

.

(7) Define Hessian for :

( , )z f x y= .

(8) Evaluate det (A), where :

A
.

(9) Is

7 3
A

0 1

 
=  
 

invertible ? Justify.

(10) Define null matrix.

(11) Find 3A – B + C, if :

A = [2 3], B = [–1 1], C = [4 5].
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(12) Write advantages of dual LPP.

(13) For :

1 2
A

0 4

 
=  
 

,  
2 0

B
0 1

 
=  
 

determine whether AB = BA.

2. Attempt any two of the following : [10]

(1) Use Laplace’s expansion along third column to find det A

where :

12 7 0

A 5 8 3

6 7 0

 
 =  
  

.

(2) Determine whether quadratic form :

2 22 5 8z x xy y= + +

is positive or negative definite using discriminant.

(3) Write the dual of the following LPP :

Maximise Z = 14x1 + 12x2 + 18x3

Subject to     2x1 + x2 + x3 £ 2

    x1 + x2 + 3x3 £ 4

       x1, x2, x3 ³ 0
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3. Solve any two of the following : [20]

(1) Solve the following L.P.P. by simplex method :

Maximise Z = 3y1 + 4y2

Subject to         2.5y1 + y2 £ 20

          y1 + 2y2 £ 16

         3y1 + 3y2 £ 30

           y1, y2 ³ 0.

(2) Show that A is positive definite using eigenvalues, where :

6 1 0

A 13 4 0

5 1 9

 
 =  
  

.

(3) Optimise

2 2 2
1 1 1 3 2 2 2 3 35 10 2 4 2 4y x x x x x x x x x= − + + − + + −

using the Hessian for the second-order condition.

4. Attempt any two of the following : [30]

(1) (a) Solve the following system of linear equations by Gaussian

elimination method :

3x1 + 2x2 + 6x3 = 24

2x1 + 4x2 + 3x3 = 23

5x1 + 3x2 + 4x3 = 33.
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(b) Use Cramer’s rule to solve the following system :

1 26 5 49,x x+ =  

1 23 4 32x x+ =

.

(2) Maximise the utility u = 2xy subject to a budget constraint

equal to 3x + 4y = 90 using critical points and bordered Hessian

to test second order condition.

(3) Solve by simplex method :

Minimise Z = 60x1 + 80x2

Subject to     2x1 + 3x2 ³ 36

    8x1 + 2x2 ³ 32

    2x1 + 2x2 ³ 28

      x1, x2 ³ 0.
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T.Y. B.A. EXAMINATION, 2011

STATISTICS

Paper III (General)

(Operations Research and Design of Experiments)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Notations and symbols have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) (i) Define a Linear Programming Problem (L.P.P.).

(ii) State Canonical form of a L.P.P.

(iii) Define a basic feasible solution of a L.P.P.

(b) (i) Explain the term ‘treatment’ with an illustration.

(ii) Explain the principle of randomization in design of

experiments.

(iii) State linear mathematical model of a Latin Square Design

(L.S.D.)

(c) (i) When is a transportation problem said to be unbalanced

transportation problem ?

P.T.O.
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(ii) Explain how an assignment problem is a special case of

transportation problem.

(iii) If E denotes relative efficiency of a design D1 with respect

to a design D2, give its interpretation.

(d) (i) Explain the term concomitant variable with an illustration.

(ii) State a linear mathematical model for analysis of covariance

in a completely randomised design (C.R.D.) by explaining

various notations involved in it.

2. Attempt any four of the following : [5 each]

(a) A poultry farm is engaged in breeding pigs. The pigs are fed

on various products grown on the farm. Because of the need

to ensure certain nutrient constituents, it is necessary to buy

additional one or two products say A and B.

The nutrient constituent (vitamins and proteins) in each unit

of the products are as below :

Nutrient   Nutrient Contents in Product Minimum

A B Nutrient

Requirement

1 36 6 108

2 3 12 36

3 20 10 100
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Product A costs Rs. 20 and B costs Rs. 40 per unit. Formulate

this as a L.P.P. to determine how many units of A and B

to be purchased.

(b) State the mathematical model and also state the estimate of

parameters for analysis of covariance in R.B.D.

(c) Find a sequence that minimizes the total elapsed time T for

processing the following five jobs on three machines A, B and

C in the order ABC :

Job 1 2 3 4 5

A 4 9 8 6 5

B 5 6 2 3 4

C 8 10 6 7 11

Also compute T and idle time for each machine.

(d) Describe layout and model for a split plot design.

(e) Write the dual of the following L.P.P. :

Maximize Z = 3x1 + 2x2 + 3x3

Subject to the constraints

2x1 + x2 + x3 < 2

3x1 + 4x2 + 2x3 > 8

x1, x2, x3 > 0

(f) Write a note on ‘Local Control’ in design of experiments.
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3. Attempt any three of the following :

(a) Obtain IBFS by Vogel’s Approximation Method (VAM) and check

its optimality for the following T.P. : [10]

Factory Warehouse Capacity

W1 W2 W3 W4

F1 25 65 105 25 7

F2 145 65 85 125 10

F3 85 21 145 45 18

Demand 5 8 7 15

(b) (i) Describe mathematical model and hypotheses to be tested

in ANOVA of L.S.D. Also state estimate of parameters. [6]

(ii) Solve the following L.P.P. graphically : [4]

 Minimize Z = 600x1 + 400x2

Subject to

1500x1 + 1500x2 > 30,000

3000x1 + 1000x2 > 40,000

2000x1 + 5000x2 > 44,000

x1, x2 > 0.

(c) (i) Obtain an expression for efficiency of L.S.D. over R.B.D. if

rows are used as blocks. Also state your assumptions. [6]
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(ii) Four different jobs can be done on four different machines

with the cost matrix given below :

     Machines

Jobs M1 M2 M3 M4

J1 60 80 120 70

J2 90 60 100 70

J3 50 80 110 80

J4 110 50 90 40

Find optimal assignment. Also find the corresponding total

optimal cost. [4]

(d) (i) Identify the confounded effects in each of the replication

of an experiment given below. Also state ANOVA table

for this experiment : [6]

Replicate I

Block 1 (p) (1) (npk) (nk)

Block 2 (pk) (n) (np) (k)

Replicate II

Block 1 (n) (pk) (npk) (1)

Block 2 (p) (k) (np) (nk)
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(ii) Describe the procedure for testing the equality of two specified

treatment effects in R.B.D. [4]

(e) Define main effects and interaction effects in factorial experiment.

Obtain their mathematical expression in 23 factorial experiment

for a main effect, a two factor interaction effect and a three

factor interaction effect. [10]

4. (a) Attempt any one of the following :

(i) Maximize

  Z = 80x1 + 60x2 + 30x3

Subject to

10x1 + 4x2 + 5x3 < 2000

2x1 + 5x2 + 4x3 < 1009

x1, x2, x3 > 0

Solve the L.P.P. by Simplex method. [10]

(ii) When and why is analysis of covariance technique

recommended ? Also describe the technique of ANACOVA

in C.R.D. [10]

(b) (i) State the hypotheses to be tested in R.B.D. Obtain the

expected value of error mean sum of squares in it. [10]
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(ii) Obtain an initial basic feasible solution (IBFS) and

corresponding cost of transportation by using North-West

Corner method for the following T.P. : [5]

Destination

Origin D1 D2 D3 D4 Availability

O1 1 4 3 2 6

O2 4 3 2 0 8

O3 0 2 2 1 10

Requirement 4 6 8 6

(iii) Describe a method for solving a sequencing problem of

n jobs on three machines. [5]
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T.Y. B.A. EXAMINATION, 2011

STATISTICS

(Special–III)

(Distribution Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical table is allowed.

(v) Graph paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) If 2X ( , )m n® b  find its harmonic mean.

(b) Ten independent observations are to be made on a r.v. with

p.d.f. :

1
( ) ; 1 4

3

0 ; otherwise

f x x= £ £

=

What is the probability that 4 observations will be less than

mean, 3 will be greater than mean but less than 3 and remaining

observations greater than 3 ?

P.T.O.
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(c) Let X W ( = 5, = 3)® a b . Find the distribution of

Y = X – 1.

(d) Define the following terms :

(i) Markov Chain

(ii) One step transition probability

(iii) Stochastic matrix P.

2. Attempt any four of the following : [4×5=20]

(a) Obtain the distribution of the smallest order statistic X(1) of

a random sample of size n from exponential distribution with

mean α.

(b) If X is a r.v. with p.d.f. as :

( ) ; 0,xf x e x-
= ³

then find the upper bound by Chebyshev’s inequality for :

P[| 1| 1]x - > .

(c) Let X is a r.v. with p.d.f. :

( ) 2 ; 0 1

0 ; otherwise

f x x x= £ £

=

Using C.L.T. compute :

3 4
P[ X ]

5 5
< <

for a random sample of size n = 64 from the above distribution.
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(d) If X C (µ, )® l , then find its quartile deviation.

(e) Find mean deviation about mean of L(0, 1).

(f) If X LN (0, 0, 1)® , find 2P[X 1].>

3. Attempt any three of the following : [3×10=30]

(a) If X and Y are two independent r.vs. follows 1 (1, 1)b  each,

then find the probability distribution of (X + Y).

(b) State and prove central limit theorem (CLT) for i.i.d r.vs. based

on m.g.f.

(c) Let 2X LN ( , µ, )a® s  distribution. Find the rth moment about

X = a. Hence find its mean.

(d) Let X P( ).m®  The distribution of X truncated at X = 0 (discarding

the value X = 0). Find mean and variance of the resulting

truncated Poisson distribution. Also find mean and variance

if m = 1.

(e) Let

2 2
1 2 1 2(X, Y) BN (µ , µ , , , )® s s r

with

    E(X/ Y ) 0.7 0.15 ,y y= = - E(Y/X ) 0.6 0.4x x= = -  and

Var (Y/X ) 3.81.x= =

Find the parameters of the distribution.
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4. Attempt any one of the following :

(a) (i) Let X follows binomial distribution with n = 10 and

p = 0.20 truncated to the left at X = 0 (discarding the

value X = 0) find P(4 X 6).£ £ [7]

(ii) Let X ® C (µ, λ) then find cumulant generating function

of X and hence obtain its mean and variance. [7]

(iii) Describe Gambler’s ruin problem. [6]

(b) (i) Let (X, Y) 

®

 BN (3, 2, 12, 42, 0.5).

          Find P (X < 3/Y = 2) and P (Y > 1/X = 2). [7]

(ii) If X and Y are two independent exponential variates

with mean θ. Obtain the distribution of (X – Y). [7]

(iii) Let X1, X2, X3 ........., Xk be k independent Poisson variates

with parameters 

l l l l

 respectively. Show that

the conditional distribution of X1, X2, X3 ........., Xk given

X1 + X2 + X3 + ....., + Xk = n is multinomial distribution

where n is positive integer. [6]
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T.Y. B.A. EXAMINATION, 2011

APPLIED MATHEMATICS

(AMG-3 : Real Analysis and Lebesgue Integration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Find N Î I, the set of positive integers, such that :

2 1
2 ( N)

3 5

n
n

n
− < ≥

+ .

(ii) Discuss convergence of the series :

4

0
!

n

n

n

∞

=
∑ .

(iii) Evaluate :

2 2 2
1 1 2

lim .........
n

n

n n n n→∞

      + + +      
       

.
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(iv) Show that the characteristic function of the set :

1 2 3
0, , , , ......, 1

10 10 10

 
 
 

.

is Riemann integrable on [0, 1].

(v) Let

( ) (0 1)
1

n

x
f x x

nx
= ≤ ≤

+
.

Show that { }( )nf x  converges pointwise on [0, 1].

(vi) If [ ]E ,a b⊂ , define outer measure of E, Em  and inner measure

of E, 

m

.

(vii) Let 

f a b

 be a measurable function. Show that for

every 

s

, the set 

{ [ , ] / ( ) }

 is a measurable set.

(viii) Let
f x x

Find 4f.

(ix) Let 2( ) 1f x x= −  on [–2, 2]. Find ( )f x− .

(x) If

, 0, 1, 2, ......., ,k n k n= ≠

show that :

.
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2. (A) Attempt any one of the following : [6]

(i) Show that a non-decreasing sequence which is bounded

above is convergent and that a non-decreasing sequence

which is not bounded above, diverges to infinity.

(ii) Let 
1

n

n

a

∞

=
∑  be a series of non-zero reals. Let

1A lim sup n

n
n

a

a
+

→∞
= .

If A < 1, prove that 
1

n

n

a

∞

=
∑  converges absolutely.

(B) Attempt any two of the following : [10]

(i) Let { }
1n n

s
∞
=

 and { }
1n n

t
∞
=

 be bounded sequences of real

numbers. Prove that :

   lim sup ( ) lim sup lim supn n n n
n n n

s t s t
→∞ →∞ →∞

+ ≤ + .

(ii) Test convergence of the series :

2

1

1
1

n

n

n

n

e

∞

=

 + 
 ∑

.

(iii) Prove that :

2 2/ 2

/ 6

2 2 4

9 sin 9

x dx

x

π

π

π π
≤ ≤∫ .
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3. (A) Attempt any two of the following : [8]

(i) Let f be continuous on the closed bounded interval

[a, b]. Let :

F( ) ( ) , ( )
x

a

x f t dt a x b= ≤ ≤∫ .

Show that :

'F ( ) ( ),x f x=  on [a, b].

(ii) Let

( )
1

n

n n

x
f x

x
=

+
 on [0, 1].

Show that the sequence { }
1

( )n n
f x

∞
=

 converges uniformly

on 
1

0,
2

 
  

. Does the sequence { }
1n n

f
∞
=

 converge uniformly

on [0, 1] ? Justify.

(iii) Discuss uniform convergence of the series :

2 2

1

1

n
n x

∞

=
+∑  on [0, ]∞ .

(B) Attempt any two of the following : [8]

(i) Let G1, G2,............be open subsets of [a, b]. Prove that :

.
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(ii) Let E [ , ]a b⊂  be measurable. Show that given any 

0∈ >

,

there exists a closed set 

F E⊂

 and an open set 

G E⊃

,

such that :

|G| |F|− < ∈

.

(iii) Let f, g be measurable functions on [a, b]. Show that

f + g is a measurable function on [a, b].

4. (A) Attempt any one of the following : [6]

(i) Let f be a bounded function on [a, b]. Let 

Z [ , ]f a b∈

.

Prove that for any 

0∈ >

, there exists a measurable partition

p of [a, b], such that :U[ ; ] L[ ; ]f p f p< + ∈

.

(ii) Let E1, E2 be subsets of [a, b]. Prove that :

   

1 2 1 2 1 2E E (E E ) (E E )m m m m+ ≥ ∪ + ∩

.

(B) Attempt any two of the following : [10]

(i) Show that a subset E of [a, b] is measurable if and

only if its characteristic function cE is measurable

on [a, b].
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(ii) Let E1, E2 be measurable subsets of [a, b]. Let 

f a b

.

Prove that :

E E E E E E

.

(iii) Let f be a bounded function on [a, b] such that ( ) 0f x ≥

almost everywhere on [a, b]. If 

f a b

 and

prove that ( ) 0f x =  almost everywhere on [a, b].

5. (A) Attempt any one of the following : [6]

(i) Let E be a measurable subset of [a, b]. If 
f g a b

,

show that 

f g a b

 and that :
E E E

.

(ii) State and prove the Lebesque Dominated Convergence

Theorem.

(B) Attempt any two of the following : [10]

(i) Obtain a Fourier series for the function :

( ) 0, 0

1, 0

f x x

x

= − π ≤ <

= ≤ ≤ π .
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(ii) Let E1, E2, ................... be measurable subsets of [a, b]

such that :

1 2 3E E E⊃ ⊃ ⊃ .............. .

Show that 

1

En

n

∞

=
I

 is measurable and that :

1

E lim En n
n

n

m m

∞

→∞
=

 
  =
 
 
I .

(iii) Let { } 1n n
f

∞
=

 be a sequence of measurable functions on

[a, b] such that { }
1

( )n n
f x

∞
=

 is a bounded sequence for

every x in [a, b].

Let :

    1 2M( ) lub{ ( ), ( ), .......}x f x f x=  on [a, b],

    

1 2( ) { ( ), ( ), .......}lbm x g f x f x=

 on [a, b].

Show that m(x), M(x) are both measurable functions

on [a, b].
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T.Y. B.A. EXAMINATION, 2011

APPLIED STATISTICS

(Applications of Statistics)

(General III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator and statistical table is allowed.

(iv) Notations and abbreviations have their usual meanings.

1. Attempt any two of the following : [5 each]

(a) Explain the following terms with illustration :

(i) Continuous type of r.v. through p.d.f.,

(ii) Distribution function of continuous type r.v.

(b) The probability density function of normal distribution of a

study variable X is :

2

2

1 ( )
( ) exp

2 2

x
f x

 − µ
= − 

 σ π σ

        , , 0x− ∞ < < ∞ − ∞ < µ < ∞ σ >

   = 0,  elsewhere.

Explain the nature of probability curve of distribution

of X. Further if µ = 25 and σ2 = 4, obtain P(20 < X < 30).

P.T.O.



[4001]-377 2

(c) Explain the following terms with illustration :

(i) Statistic

(ii) Standard error of a statistic

(iii) Hypothesis.

(d) Describe Chi-square test of goodness of fit.

2. Attempt any four of the following : [5 each]

(a) A manufacturer of car batteries claims that the life of his

batteries is approximately normally distributed with a standard

deviation equal to 0.9 year. If a random sample of 10 of these

batteries has standard deviation of 1.2 years, do you think

that σ2 > 0.81 ? Use 5% level of significance (l.o.s.).

(b) Explain the terms ‘high spots’ and ‘low spots’ used in

p-charts.

(c) An electrical firm manufactures light bulbs that have a life,

before burn out, that is normally distributed with mean equal

to 800 hours and a standard deviation of 40 hours. Find

(i) probability that life of bulb is more than 850 hours

(ii) probability that a bulb burns between 778 and

834 hours.

(d) State the mathematical model used in two-way classification

of analysis of variance and explain the terms used in it. Further

state the break up of total sum of squares.
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(e) State any two properties of distribution function (d.f.) of

continuous type r.v. Further if for r.v. X the d.f. is given

as :

F(x) = 1 – e(–x/3), x > 0

   = 0, otherwise.

Find :

P(0 < X < 5).

(f) Explain the following terms with illustration :

Critical region, Level of significance, Sampling distribution of

statistic.

3. Attempt any three of the following :

(a) (i) Explain concept of analysis of variance. [5]

(ii) A random sample of 40 observations from bivariate

normal population gives correlation coefficient 0.76.

Test whether the data supports the claim that the

population correlation coefficient is 0.60. Use 5% level of

significance. [5]

(b) (i) Explain t-test for paired observations. [6]

(ii) Explain the distinction between a parametric and non-

parametric problem. [4]
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(c) Given below are the values of sample mean 

X

 and the range

(R) for ten samples of size 5 each :

Sample Number Range Mean

1 6 33

2 7 32

3 6 28

4 8 33

5 8 34

6 5 28

7 9 32

8 7 29

9 5 33

10 7 31

Set up X  and R-charts, examine the state of control of the

given process. Comment on your results. [10]

(d) Let X and Y be two independent normal variables with means

3, 5 and variances 4, 25 respectively. Find : [10]

(I) P(3X – 2Y > 0)

(II) P(X – Y < –1).

(e) (i) Describe the test procedure for testing H0 : P1 = P2 against

H1 : P1 ≠ P2. [5]

(ii) Explain chance causes and assignable causes of

variations. [5]
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4. Attempt any one of the following :

(a) (i) A textile company weaves a certain fabric on a large number

of looms. The manager would like the looms to be homogeneous

so that their fabric is of uniform strength. It is suspected

that there may be significant variation in the strength

among looms. Consider the following data for the 4 randomly

selected looms. Each observation is a determination of strength

of the fabric in gm. per square cm : [7]

Loom 1 : 99 97 97 96

Loom 2 : 97 96 92 98

Loom 3 : 94 95 90 92

Loom 4 : 93 94 90 92

Carry out completely one-way classification.

Test the hypothesis that the average strength of fabrics

produced by looms is same. Use 5% l.o.s.

(ii) Complete the following analysis of variance table : [3]

Source of Degrees of Sum of Mean sum F-ratio

variation freedom squares of squares

Treatment 8 100 12.5 ?

Block 3 110 36.6666 ?

Error 24 ? ?

Total 35 600
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(iii) Explain the meaning and purpose of statistical quality

control. [5]

(iv) Test the randomness of the sequence of defective (D) and

non-defective (N) items in the sample given below :  [5]

DDNNNNDNDNNND

Use 5% level of significance.

(b) (i) The prices of share (in Rs.) of Titan watches observed

on 10 different days in a month were as follows : [5]

66, 65, 69, 70, 69, 71, 70, 63, 64, 68.

Test whether the mean price of shares in a month is

Rs. 65. Use 1% l.o.s.

(ii) Describe one tailed test procedure of Wilcoxon’s signed

rank test. [5]

(iii) The following table is obtained from the inspection on

completed units of a product in 20 lots of size 100

each : [10]

Lot No. No. of Defectives

1 3

2 10

3 12

4 7

5 5

6 4

7 5

8 3

9 3

10 4
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11 4

12 6

13 7

14 3

15 3

16 4

17 3

18 9

19 5

20 7

Set up an appropriate control chart and comment on the

state of control.
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T.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

(G-3 : Aesthetics and Social Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Distinguish between art object and aesthetic object.

(2) Explain briefly the concept of medium.

(3) State the mechanistic model of society.

(4) Define religion and state its kinds.

2. Write short notes on any four of the following questions in

100 words each : [20]

(1) Art as communication.

(2) Classifications of art.

(3) Concept of Lokadharmi.

(4) Mill’s liberalism.

(5) Religion and Science.

(6) Terrorism.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain the relative importance of form and content.

(2) Explain ‘sublime’ as a fundamental concept in aesthetics.

(3) State the Nyaya argument for the existence of God.

(4) Explain the concept of stateless society.

(5) Explain the problem of evil.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the nature and subject-matter of aesthetics.

(2) Explain cosmological argument for the existence of God.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(1) d«koLrw o lkSan;ZoLrw ;krh« Qjd lkaxk-

(2) ek/;e gh ladYiuk FkksMD;kr Li"V djk-

(3) lektkps ;a=&izk:i foðkn djk-

(4) /kekZph O;k[;k djk o R;kps izdkj lkaxk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVi.k f«gk % [20]

(1) d«k Eg.kts laizs"k.k

(2) d«sph oxhZdj.ks

(3) ^«ksd/kehZ* gh ladYiuk

(4) feY«pk mnkjerokn

(5) /keZ o foKku

(6) ngðkrokn-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar |k % [30]

(1) vkdkj o vkðk; ;kaps lkis{k egRo Li"V djk-

(2) ,d ew«Hkwr ladYiuk ;k ukR;kus lkSanÓZðkkL=krh« ^mnkŸk* gh ladYiuk Li"V

djk-

(3) bZðojkP;k vfLrRoklkBhps U;k;&nðkZukrh« ;qfDrokn lkaxk-

(4) ^jkT;foghu lekt* gh ladYiuk Li"V djk-

(5) nqfjrkph leL;k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(1) lkSan;ZðkkL=kps Lo:i o R;kpk vH;klfo"k; Li"V djk-

(2) bZðojkP;k vfLrRoklkBhpk foðodkj.koknh ;qfDrokn Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

[S-3 : Thinkers and Textual Studies (Indian)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(a) Explain the term Chidvilasvada.

(b) State Gandhiji’s notion of non-violence.

(c) What does Prof. Barlingay mean by distinguishability qua

distinguishability ?

(d) What according to Prof. Rajendra Prasad the nature of Dharma

as a Purushartha ?

2. Write notes on any four of the following in 100 words each : [20]

(a) Concept of Shakti in Amritanubhava

(b) Concept of Dhamma (Dr. Ambedkar)

(c) Krishnamurti’s views on education
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(d) Prof. Mohanty on relativism

(e) Prof. Dayakrishna’s view on the concept of school as a myth

about Indian Philosophy

(f) The notion of separability according to Prof. Barlingay.

3. Answer any three of the following in 250 words each : [30]

(a) State and discuss the notion of adnana with reference to

Amritanubhava.

(b) State and explain Gandhiji’s notion of Anasaktiyoga.

(c) State and examine Prof. Mohanti’s views on Darshan and

Philosophy.

(d) Critically discuss the claim to spirituality as a myth about

Indian Philosophy with reference to Prof. Dayakrishna’s

article.

(e) Explain the importance of the distinction Prof. Barlingay made

between distinguishables and separables.

4. Answer any one of the following in 500 words : [20]

(a) Write an essay on Dr. Ambedkar’s views on equality and

fraternity.

(b) Explain in detail the centrality of the concept of moksha in

Indian philosophy with reeference to the essay, ‘The Concept

of Moksha’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

(iii) ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(v) fpnfo«klokn gs in Li"V djk-

(c) xka/khthaph vfgalk gh dYiuk lkaxk-

(d) Qjd dj.;ktksxs tls Qjd dj.;ktksxs ;kpk izk- ckjf«axs ;kauk vfHkizsr vFkZ

dk; \

(M) izk- jktsaÊ izlknkaP;k erkuqlkj /keZiq#"kkFkkZps Lo:i dk; vkgs \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(v) vèrkuqHkokrh« ðkDrh gh ladYiuk-

(c) /kEe ladYiuk (MkW- vkacsMdj)-

(d) œ".kewrh±ps fðk{k.kkojh« fopkj-

(M) lkis{krkoknkfo"k;h izk- eksgarh-

(b) Hkkjrh; rRoKkukP;k lanHkkZr nðkZu ijaijk ;k ladYiusP;k feFkdk ckcr

izk- n;kœ".k ;kapk n`f"Vdksu-

(Q) izk- ckjf«axs ;kauk vfHkizsr vl«s«s v«x dj.;ktksxs gh dYiuk-
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3. [kk«h«iSdh dks.kR;kgh rhukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(v) ve`rkuqHkokP;k lanHkkZr vKku gh dYiuk lkaxwu frph ppkZ djk-

(c) xka/khthaph vuklfDr;ksx gh dYiuk lkaxk vkf.k Li"V djk-

(d) nðkZu vkf.k rRoKku ;kafo"k;h izk- eksgrhaps fopkj ekaMwu R;kaps ijh{k.k

djk-

(M) izk- n;kœ".k ;kaP;k fuca/kkP;k lanHkkZr Hkkjrh; rRoKkukfo"k;h vl«sY;k vË;kfRedrsP;k

nkO;kcÌ«P;k feFkdkph fpfdRld ppkZ djk-

(b) izk- ckjf«axs ;kauh Qjd dj.;ktksxs vkf.k v«x dj.;ktksxs ;kar ds«sY;k Qjdkps

egRo Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dkps mŸkj 500 ðkCnkar f«gk % [20]

(v) MkW- vkacsMdjkaP;k lekurk vkf.k ca/k qrk ;kckcrP;k fopkjkaoj fuca/k

f«gk-

(c) ^eks{kkph ladYiuk* ;k fuca/kkP;k lanHkkZr Hkkjrh; rRoKkukr eks{k ;k ladYiusph

dsaÊofrZrk foLrkjkus Li"V djk-
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T.Y. B.A. EXAMINATION, 2011

PHILOSOPHY

Special Paper S-4

Thinkers and Textual Studies (Western)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) State Nietzsche’s concept of truth.

(2) Explain the notion of form of life.

(3) State objections raised against existentialism.

(4) Explain the concept of the dogma of the ‘Ghost in the

Machine’.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Husserl’s notion of bracketing.

(2) Nietzsche’s concept of superman.

(3) Sense of proposition according to Tractatus.

(4) Essence of Modern Technology.

(5) The notion of official doctrine according to Ryle.

(6) Distinction between active and passive euthanasia.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain Pierce’s Notion of truth.

(2) State and discuss the basic features of Husserl’s phenomenology.

(3) Explain Heidegger’s concept of ‘Gestel’.

(4) State and explain Ryle’s Notion of Category Mistake.

(5) State and critically examine Sullivan’s arguments against

euthanasia.

4. Answer any one of the following questions in 500 words : [20]

(1) Write an essay on Nietzsche’s concept of Will to Power.

(2) Discuss in detail Sartre’s concept of Freedom and

Responsibility.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) fuRðksph lR; gh ladYiuk foðkn djk-

(2) ^thoukpk vkdkj* gh ladYiuk Li"V djk-

(3) vfLrRooknkfojks/kh ?ks.;kr ;s.kkjs vk{ksi foðkn djk-

(4) ^;a=krh« Hkwr gk nwjkxzg* gh ladYiuk Li"V djk-
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2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) gql«Zph dalhdj.k gh ladYiuk-

(2) fuRðksph egkekuo gh ladYiuk-

(3) V™WDVWVl~P;k erkuwlkj fo/kkukpk vFkZ-

(4) vk/kqfud ra=Kkukps lkjrRo-

(5) jkbZ«ph vf/kœr flºkar gh ladYiuk-

(6) lÿh; vkf.k fuf"ÿ; LosPNkej.kkrh« Qjd-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) fivlZph lR;fo"k;d ladYiuk Li"V djk-

(2) gql«ZP;k ekul izR;;oknkph Bˇd oSfðk"VÓs lkaxwu R;kfo"k;h ppkZ djk-

(3) gk;Msxjph ‘Gestel’ (xsLV«) gh ladYiuk Li"V djk-

(4) jkbZ«ph dksVhizekn gh ladYiuk lkaxwu rhps Li"Vhdj.k djk-

(5) lq«fouP;k LosPNkej.k fojks/kh ;qfDroknkaps fpfdRld ijh{k.k djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) izHkqRokph vkdka{kk ;k fuRðksP;k ladYiusoj lfoLrj fuca/k f«gk-

(2) lk=sZP;k Lokra´; vkf.k tckcnkjh ;k ladYiusoj lfoLrj ppkZ djk-
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T.Y. B.A. EXAMINATION, 2011

COMPUTER APPLICATION (Vocational)

Paper V

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any four) : [20]

(a) What is Networking ? State advantages of networking ? Explain

LAN, MAN, WAN.

(b) Explain waterfall model to develop a website.

(c) What is search engine ? How does it work ?

(d) Distinguish between Traditional Commerce and E-Commerce.

(e) State advantages of Internet.

2. Write short notes on (any five) : [15]

(a) Table in html

(b) Frame tag in HTML

(c) Image mapping

(d) E-Payment

(e) Domain Name Services

(f) Website.

3. Write a program to play a sound in a website without control. [5]
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T.Y. B.A. EXAMINATION, 2011

FUNCTIONAL ENGLISH (Vocational Stream)

Paper V

(Introduction to Print Media and Writing for Mass Media

and Key Competency Mudules)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Prepare a news item in about 150 words based on the points given

below : [15]

• Times News Network

• Pune

• The 89-year-old, legendary vocalist Bhimsen Joshi died in Pune

at private hospital

• Admitted to Sahyadri Hospital in December with gastrointestinal

bleeding and bilateral pneumonia

• Tribute paid to Kirana Gharana maestro by several renowned

artists

• Chief Minister Prithviraj Chavan and Minister for External affairs

S.M. Krishna attended the funeral

• Bharat Ratna in 2008
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• Started Sawai Gandharv Music Festival in Pune in 1953

• Hit song ‘Mile sur mera tumhara’

• Playback for films like ‘Gulacha Ganpati’, ‘Mee Tulas Tuzya

Angani’, ‘Pativrata’, ‘Raja Shivchhatrapati’ and Amol Palekar’s

Ankahi’

• Survived by four sons

• The last rites performed at ‘Vaikunth Crematorium’

Or

Prepare an alternative copy of the following so as to attract the

customers by making changes only in its verbal aspects. [15]
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2. Answer the following questions in about 60 words (any two) : [10]

(i) What are the elements of a feature ?

(ii) “Popularity of a newspaper depends on readability and its interest”.

Discuss.

(iii) Differentiate between the language used in a radio talk and

a newspaper article.

(iv) Prepare a short radio talk or a conversation on the following

topic :

Stress Management.

3. (A) Answer the following questions in about 60 words

(any two) : [10]

(i) “Effective technical writing is a craft”. Discuss.

(ii) What are the essential requisites for building a career

in the field of technical writing ?

(iii) Discuss the scope of technical writing.

(iv) How does a technical writer present information to the

end-users ?

(B) Describe an upcoming of multi-storied towers of ‘Anmol’s Nayantara

City’ with the help of the following details so as to attract

the customers in Nasik : [5]

• 4 BHK and 3 BHK apartments



[4001]-384 4

• Facilities : gymnasium, swimming pool, indoor games,

auditorium, party hall

• Podium garden within the complex spread over Rs. 1

lakh per sq. ft.

4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Administration

(2) Booklet

(3) Clerk

(4) Discount

(5) Documentary

(6) Quorum

(7) Seminar

(8) Revenue

(9) Secretary

(10) Urban

(11) Verification

(12) Voucher.



[4001]-384 5 P.T.O.

(B) Translate the following passage into Marathi or Hindi : [10]

The oil crisis has disturbed the economies of the highly advanced

countries as well as of the underdeveloped poor countries. The

oil producing countries of the Middle East have become the

new economic power of the world overnight. During the fourth

Arab-Israel War in October, 1973, the Arab oil producing countries

decided to use crude oil as a political weapon for the first

time. As a result of this the prices were increased exorbitantly.

Crude oil, which was selling approximately at two dollars per

barrel, at the beginning of 1973, was sold at the rate of 11

to 12 dollars per barrel after the war. The price hike naturally

wrecked the financial position of all the countries which were

not self-sufficient in crude oil.

Or

Translate the following passage into English : [10]

O;kdj.k f'kdY;kf'kok; ifjHkk"kk ;s.kkj ukgh gh letwr rj vkgsp] i.k Lo

Hkk"ksoj izHkqRokykgh ^'kwº dls cksykos vkf.k 'kqº dls fygkos* ;kps fu;e

vkysp ikfgtsr vlsgh eku.kkjs vla[; yksd vkgsr- vki.k cksyrks R;k Hkk"ksP;k

Lo:ikis{kk vkf.k ekfgrhis{kk O;kdj.k gs dkgh fo'ks"k osx š vkgs] vls ekuys

tkrs- tksMs ?kkywu nsoˇkr tkrk ;s.kkj ukgh] R;kpizek.ks cksyk;ph Hkk"kk lkfgR;kr
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oki:u pky.kkj ukgh] vlk ,d toˇ toˇ loZlkekU; let vkgs- Eg.kts

vki.kkdMs :< vl.kkÚ;k ^O;kdj.k* ;k 'kCnkpk vFkZ ^fyfg.;kP;k Hkk"ksps fu;e*

vlk djk;yk gok- ^'kqº dls cksykos* gk fo"k; ;k O;kdj.kkP;k d{ksr ;s≈

'kdr ukgh*-

5. (A) Write short notes in about 100 words on any two of the

following : [10]

(i) Major types of films.

(ii) Social and entertainment value of a film.

(iii) Elements of documentary films.

(iv) Cinematography.

(B) Write a review in about 200 words of a horror film or a

romantic film you have watched. [10]
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T.Y. B.A. EXAMINATION, 2011

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper V : Emerging Concepts of Tourism and

Tourism Development

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each) : [10]

(i) Sustainable tourism : Guidelines

(ii) Sea link

(iii) Meetings

(iv) Kerala oil therapy.

2. Write short notes on any four (Around 100 words each) : [20]

(i) Conflict management

(ii) Ooty as medical tourism
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(iii) Doxey’s erridex

(iv) Positive aspects of Olympics on tourism industry

(v) Air transport to Amarnath

(vi) Examples of Ecotourism.

3. Answer any three (200-250 words each) : [30]

(i) National Tourism Plan, 1992.

(ii) What do you mean by business tourism ? Give examples.

(iii) Agro-tourism in Maharashtra.

(iv) Recent trends in International Tourism in India.

(v) Explain Carrying capacity.

4. Answer in detail any one (Around 500 words) : [20]

(i) Negative impacts of tourism on agriculture.

(ii) Sustainability in Rajasthan Tourism.
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T.Y. B.A. EXAMINATION, 2011

HINDI

(iz;kstuewyd fganh % oksds'kuy)

(Functional Hindi : Vocational)

iz'ui= 5 % lSn~/kkafrd

(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu]

lk{kkRdkj] lax.kd rFkk ewy{kerk ekinaM)

(2008 PATTERN)

le; : 3 ?kaVs iw.kk±d : 80

lwpuk,° %µ (i) lHkh iz'u vfuok;Z gSa A

(ii) iz'u dh nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSa A

foHkkx&v

1. (v) fganh esa vuqokn dhft, % [8]

Disciplinary Action (Warning)

No...............

GOVERNMENT OF INDIA

INDIAN POSTS AND TELEGRAPHS DEPARTMENT OFFICE

OF THE DIRECTOR GENERAL OF POSTS AND TELEGRAPHS.

New Delhi the..................

Memorandum

The explanation submitted by Shri ................... (designation)

in reply to this Directorate’s Memo of even number dated



[4001]-386 2

................... for absenting himself without prior permission and

not submitting any application there, has not been found

satisfactory. He should have sent his application to the officer

concerned in due time. Since Shri ................... has committed

this lapse for the first time, he is let off with this warning

that if he commits the same lapse in future, the entire period

of his absence will be treated as unauthorised and he will

be granted extraordinary leave without pay. Necessary disci-

plinary action may also be taken in such case.

Assistant Director General (Admn.)

Shri ...................

................... Section

P & T Directorate, New Delhi.

(vk) ifji= dk izk:i rS;kj dhft, A [8]

2. fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) Loifjp;i= (ck;ksMkVk) dk egRo]

([k) Loifjp;i= dk Lo:i]

(x) fVIi.k rS;kj djus ds fln~/kkar]

(?k) izk:i dh fo'ks"krk,°]

(p) /kkjk 3(3)]

(N) fVIi.k ds izdkj]

(t) vkosnui= A
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foHkkx&c

3. (v) nwjn'kZu ij gksyh dk jaxkjax dk;Zÿe izLrqr gksus tk jgk gS A bl dk;Zÿe

ds fuosnu dh lafgrk rS;kj dhft, A [8]

(vk) fdlh mn~;kstd ds lk{kkRdkj dk 'kCnkadu dhft, A [8]

4. fdUgha ik°p ij fVIif.k;k° fyf[k, % [20]

(V) eqÊ.k{ks= dh vR;/kqfud rduhdh

(B) baV™ks

(M) fdUgha nks lax.kd iz.kkfy;ksa dk ifjp;

(<) jsfM;ks rFkk nwjn'kZu ds lafgrk&ys[ku dk varj

(r) lQy fuosnd dh fo'ks"krk,°

(Fk) lk{kkRdkj ds rRo

(n) lk{kkRdkj ds izdkj

(/k) jsfM;ks Qhpj ys[ku A

5. (v) fuEufyf[kr esa ls fdUgha pkj 'kCnks a ds fy, fganh ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) Cabinet Secretariat,

(ii) Announcer,

(iii) Annuity,

(iv) Commuted Leave,

(v) Bye-law.



[4001]-386 4

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, vaxzsth ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) dsaÊh; lrdZrk vk;ksx]

(ii) f'k{kq ;kaf=d]

(iii) vfxze]

(iv) fpfdRlk NqV~Vh]

(v) vk'oklu A

(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) I am directed to ........... .

(ii) The matter is under consideration.

(iii) Please acknowledge receipt.

(iv) Relevant papers be put up.
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T.Y. B.A. EXAMINATION, 2011

GANDHIAN THOUGHT (Gen.)

(Relevance of Gandhian Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Briefly discuss the anti-imperialist movement laid by Martin

Luther King.

(2) Explain the nature of Ganga Bachao Andolan.

(3) Bring out the importance of Vinoba’s idea of Gramdana.

(4) Explain the impact of Gandhian thought on Acharya Dada

Dharmadhikari.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Chipko Andolan.

(2) Anti-racist Movement in South Africa.

(3) Vinoba’s idea of Sthitapradnya Darshan.
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(4) Dada Dharmadhikari’s conception of Sarvodaya.

(5) Movement for New Society (U.S.A.).

(6) N.G. Gore’s Atheism.

3. Answer any three of the following in 200 to 250 words each : [30]

(1) Explain Jayprakash Narayan’s views on Total Revolution.

(2) Explain the impact of Gandhiji on Martin Luther King.

(3) Illustrate the conception of Sarvadharmasambhava according to

Acharya Dada Dharmadhikari.

(4) Explain the impact of Gandhian thought on Environmental

Movements in 20th Century.

(5) State and evaluate the need of Women Empowerment

Movement.

4. Answer any one of the following in 500 words : [20]

(1) Explain and evaluate Gandhian methods and techniques for

solving various socio-political problems.

(2) Explain and bring out the success and limitations of Bhoodan

Movement of Vinoba Bhave.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk % [10]

(1) ekVhZu Y;wFkj fdax ;kauh lkezkT;ðkkgh fojks/kh ds«sY;k pˇoˇhlaca/kh FkksMD;kr

ppkZ djk-
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(2) xaxk cpkvks vkanks«ukps Lo:i Li"V djk-

(3) fouksckaP;k xzkenku ;k ladYiusps egRo foðkn djk-

(4) vkpk;Z nknk /kekZf/kdkjhaojh« xka/khfopkjkapk izHkko Li"V djk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(1) fpidks vkanks«u-

(2) nf{k.k vkf›dsrh« oaðkfojks/kh pˇoˇ-

(3) fouksckaph fLFkrizK nðkZu gh dYiuk-

(4) nknk /kekZf/kdkjhaph loksZn;kph ladYiuk-

(5) uolekt laca/kh pˇoˇ (;w- ,l- ,-)-

(6) uk- x- xksjs ;kapk fujh‹ojokn-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) t;izdkðk ukjk;.k ;kapk ^lexz ÿkarhfo"k;hpk n`"Vhdksu Li"V djk-

(2) ekVhZu Y;wFkj fdax ;kaP;kojh« xka/khfopkjkapk izHkko Li"V djk-

(3) vkpk;Z nknk /kekZf/kdkjhaph loZ/keZleHkko ;k ladYiusps foospu djk-

(4) folkO;k ðkrdkrh« i;kZoj.kfo"k;d pˇoˇhaojh« xka/khfopkjkapk izHkko Li"V

djk-

(5) efg«kaP;k lc«hdj.k pˇoˇh lkaxwu R;kaps ewY;ekiu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(1) fofo/k lkekftd vkf.k jktdh; leL;k lksMfo.;klkBh xka/khthaph iºr vkf.k

ra=s Li"V d:u R;kaps ewY;ekiu djk-

(2) fouksck HkkosP;k Hkwnku pˇoˇhps ;ðk vkf.k e;kZnk nðkZowu R;kaps Li"Vhdj.k

djk-
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